V.PLD
REBIIA

mlig; FZ nnjté

LIANGGONG CNC
PRODUCT COLLECTION

420 RIS

Good turning tool, liang gong made!




S=ILEEFmAEER

Lianggong CNC Product Catalog

LA TV - LA L

WS Pt WS PR
1 HIREBET] 1 [ER-$ERAE
2 EENEEE]] 2 [EiR-EE
3 BN 3 FOHET- RIS
4 EIERNZET] 4 RIOHET- R
5 SHENZET] 5 L8225
6 SRE N FLImETE ] 6 LRz -CE
7 SR EE N B [MimE I ) 7 RIS
8 e E LN 8 BoiHiemels
9 YIRETIMR. YITETIRE g TR SR
10 HEREEECOET] 10 fEJJiR -
11 R B EMImEE)] 11 MeigsL
12 HEIR B mETE ] 12 [ERIZZ2
13 INZRITIE 13 TFEURTF
14 UsERTIE 14 IEEURTF-5RE
15 BRETE 15 AAV=EEES
16 BFEIE 16 TR H
17 EINaZET]
18 ENBEDR
19 SfEEEERET
20 \BiEET]




I EIEFmAE

LiangGong CNC Product Collection

F7JEcHRE

€2 <P

"~
Aeﬂ
P» <2

1.[EtR-EEREE6

2.[EiR-EB6

3. FRiMEET- e

173

S
e

N0

5.0 k1RLe - i E

6.3kiRLe-RE

8.EiHEmeE%®

- & @
ig l
h 59 £ _} "y > 4 1
9.{E IR -EIRAE 10187018« -R6E 11457818 12. EtRiRL
e | =] ] e/
e l | l | l \
13.4F8URF 14 HBURF 15. 7 ARF 16.7J5R%& R




1488 %E7] 2.5EMBET] 3.584MZETD 4. 5iENET]
5. HENET] 6. PP FLIREIET] 7 RN ERIRETIET] 8. PNt EIREIE ]
T
o.iIiE MR, tIFETIEE 104820 EVNET] 11 {ERA e ERIREET] 12 {EfR A eEEiEmEET

-

Ji

13 MEEDNE 14.UhERNE 15.5EDE 16.BENE
¢ f'.‘ I
| L S @ ‘E >
il AL o8
: - '&“" b o~
A S S e?

<

17.2NEET 18.EMBENDNR 19.5BELRHIE] 204245 7]




V.PLD

RENA

aNETHETNESRAST | Q SITEREER: | \, 0576-8666-1111
TAIZHOU LIANGGONG CNC TOOL CO,LTD. dnITE7IB3Z5H0 0576-8666-2222
it HRTERISTHRF EHTIWRSS CIX0504, 0410, 0408 0576-8666-3333



20230101

VPLD

SNA

RES:

—
-

7
SINCR NS

DN

|

* [ == =
NEIM L %HEHM"’ HEES .

AMNSTHRENEERAT | Q SITERHESSH: | ( 0576-8666-111
TAIZHOU LIANGGONG CNC TOOL CO, LTD. MRITE7J83SH0 0576-8666-2222
ot HIERKRHRFEHTIWKSS CIX0504, 0410, 0408 0576-8666-3333



V.PLD

RENZA

WET RTiS

Good turning tool, liang gong made!

ENEIHEETEERATIMIIT2001E, BB EREXFRNESEWVZ—, BEIMINIHE
HIRRTT AR ENEE, STREEE EAMIEEEUEEI I, )R, RieepRAERSHRIN I
HE=T IR RS m. STASKHIERFRHEZENmEWAIRS, FASlFEiERRAD EmE N,
FET), =TiE!

BNEIHETNESRATE
Taizhou Lianggong CNC Tool Co., Ltd. was established in 2001 and is one of the leading global enterprises in CNC tools and related products.

It is also a knowledge-based manufacturer providing solutions in mechanical processing.

Lianggong provides over 10000 types of precision CNC lathe tool bars and blades, as well as a series of CNC tool products covering special
machining applications.

Lianggong provides precision products and professional services for global manufacturing systems, and has advantages in reducing costs for
partners.

Good turning tool, liang gong made!

Taizhou Lianggong CNC Tool Co., Ltd

CNC turning tool
precision manufacturing factory

SEETIRRETET

MCL 95°

MCF 81°

MDJ 83°

MDP 62.5°

MSB 75°

MTB 75°

MTE 60°

MTT 60°

MTF 81°

MTG 91°

MTQ 105°

MVQ 117.5°




MWW 50°

SCA80° SCB 75°

SCL 85°

SCF 91°

sDJ a3°

SCM 50

SCK 75° SCM-100 40°

SDA 90°

SDN 62.5°

sDQ107.5° SDU 95°

SOF 81°

SVJ 83°

Svu 85"

SWV 72.5° sVQ 117.57

SS8S 45°

55K 75°

SSB 75"

SSD 457 STW 60°

5TG 91°

SRD

SWL 857

MCK 75°

MCW 50°

MCL 85°

MDW 62.5°

MDQ 107.5%

MDU 95°

MWW 50°

MWO0B.08 95

MTQ 105°

MTW 60"

MTJ 93°

MSS 45°

MSK 75°

MVX 96"

MWW 72.5°



MVZ 93"

Mva 117.5°

MvU 95°

SCL-A 857

SCL-H 95°

SCZ 93°

SCwW 50°

SCK 75°

SDQ 107.5°

SDU 95°

sDJ 93°

SDX 96°

sDZ 93°

SDW 82.5°

STF91°

5TU 957

5TQ 105°

STW B0

STU-A 85"

STW-AB0°

STFN 81°

SVX 96°

SVW 72.587

SV 93°

SVZ 93°

sva 1M7.5°

SVU 95°

SWL 95°

SWuU 95°

$5545°

SSK 75°

MGEH MGEHII{

SGE

KTG CTGFS [

KTGFS

MGIV

SGIV

SGB SIG

SNG

MGHH

MGFY

MFHO



e PLD

125

>o RFLE IR S HRE5HEA
*RILETEST ) ov) Hl 70 K
COMPOSITE INTERAL TURNING TOOL ' 57] Fr IR T
T A
* RFLETIBET : A —
SCREW TYPE INTERAL TURNING TOOL - :
: s
'; )
: | _ I
’. - KR i
3T KB c L C ! %
L(mm) . B \r P

_ K
— M | 150 D
\ﬁ_ Q | 180 c  _ L
: , .
R | 200 .
1) S | 250 \ r
T | 300 A P i !
CHEfii & & U 350 -—
D3 A W w
Hish V| 400 N \r ‘
SEEMN X | 4% o 0° —

-
N
w
N
(&)
o
N
o
©
-
o

27JM H AR 4k %K 75 YPS 2 D 81 HI 77 1] 10 3& i 8 #AU85

/G
A F QZE .
v o

D= ik & f+1.0mm
E=fn K & f+2.0mm
X=15 4

S

k

R AT s 55

b Fﬁlﬁ
L= !

060




® ®
K PLD (@M%%ﬁ?l?T%ﬁlﬁElNG TOOL COMPOSIT@N%ER%‘IE%C?OEOF K PLD

Dmin ;
_'\;.vﬁ _l;,'_
-]
\
CDd—/
N ) L N
. B A0 | RE | ER (YCMRE RF : TR | | hOE | RFE | ER (SRR RF
= R | 7] ) = < : .
ESModel ISR () Blade | Shim |Center Pin Wrench| Platen | Rouble \yrench ESModel RS () Blade | Shim (Center Pin Wrench Platen | Rouble |\yrench
AT Left A7JRight  pmin|®d| L [ Li|H | f |« L 7] Left AJIRight  pmin|®d| L [ Li|H | f |« (.
S20R-MCKNL12 | S20R-MCKNR12 | 23 |20 [200]| 45 [18.6| 12 | 15° S16Q-MCLNL12 | S16Q-MCLNR12 |19.5| 16 |180| 40 (14.8/10.5 16° HL1511 | ML0520 L2.5
X CTM613 L3 HL1810 | ML0620 L3
S25S-MCKNL12 | S25S-MCKNR12 | 28 |25 |250| 45 | 23 [14.5 12° S20R-MCLNL12 | S20R-MCLNR12 | 23 |20 |200| 45 |18.6| 12 | 15° X CTM613 L3
CNOIC) HL1810 | ML0620 L3
S32T-MCKNL12 | S32T-MCKNR12 | 35 |32 |300| 50 |30 |18 | 15° | {5040 0] $25S-MCLNL12 | S25S-MCLNR12 | 28 |25 |250| 45|23 |14.5/ 12° NI
S40T-MCKNL12 | S40T-MCKNR12 | 48 |40 [300| 50 | 37 | 27 | 15° MC1204| CTM617 L3 HL1813 | ML0625 L3 S32T-MCLNL12 | S32T-MCLNR12 | 35 |32 (300| 50 |30 | 18 | 16° | 12041001
S50V-MCKNL12 | S50V-MCKNR12 | 58 |50 [400| 60 | 47 |32 |12° S40T-MCLNL12 | S40T-MCLNR12 | 47 |40 |300| 55|37 | 26 | 15° MC1204 | CTM617 L3 HL1813 | ML0625 L3
S50V-MCLNL12 | S50V-MCLNR12 | 58 |50 |400| 60 | 47 | 32 | 12°
S32T-MCLNL16 | S32T-MCLNR16 | 39 |32 {300| 50|30 | 22 | 16°
S40T-MCLNL16 | S40T-MCLNR16 | 47 |40 |300| 55|37 | 26 | 15° fgoggm MC1604 | CTM0822 L3 HL2217 | ML0830 L4
S50V-MCLNL16 | S50V-MCLNR16 | 58 |50 |400| 60 | 47 | 32 | 12°
S32T-MCLNL19 | S32T-MCLNR19 | 39 |32 {300| 50|30 | 22 | 16°
S40T-MCLNL19 | S40T-MCLNR19 | 47 |40 |300| 55|37 | 26 | 15° (IZSOESD MC1904 | CTM1022 L4 HL2217 | ML0830 L4
S50V-MCLNL19 | S50V-MCLNR19 | 58 |50 |400| 60 | 47 | 32 | 12°

W061 062



A
FL
%
7]

HWO063

V.PLD

RAETEST

COMPOSITE INTERAL TURNING TOOL

RALETDNEST

COMPOSITE INTERAL TURNING TOOL

COOCWNR/L

Dmin

COIDUNR/L

V.PLD

T
S —
-
L
- e TE | D | 8 | RFE | ER(SSRE| g
ESModel RS ) Blade | Shim |Center Pin| Wrench | Platen %‘ék‘é’vlve Wrench
, ® - ) =
T]Left A7JRight  pmin|®d| L [ Li|H | f |« \
S20R-MCWNL12 | S20R-MCWNR12 | 27 | 20 [200| 45 |18.6| 16 | 15°
CNOO X CTM613 L3 HL1810 | ML0620 L3
S25S-MCWNL12 | S25S-MCWNR12 | 32 | 25 |250| 45 | 23 |18.5] 15°
120401
S32T-MCWNL12 | S32T-MCWNR12 | 39 | 32 |300| 50| 30 |22 | 15° MC1204| CTM617 L3 HL1813 | ML0625 L3

[LIDQNR/L

-
95Y _/ o
L &d
-
L
- y
= i VA)as A EF"U%. IRE | FiR | SRR R
ESModel R Size (mm) Blade | Shim |Center Pin| Wrench| Platen DScc)Egvlve Wrench
: ® . -
J]Left AJIRight  |pmin|®d| L | Li| H | f |« Q
$16Q-MDUNL11 | S16Q-MDUNR11 | 22 | 16 [180] 35 |14.8]12.5| 12° HL1511 | ML0520 | L2.5
DN
11040000 X CTM510 L2
S20R-MDUNL11 S20R-MDUNR11 | 25 | 20 {200 40 |18.6] 13 | 15° 0 HL1810 | ML0620 L3
S20R-MDUNL15 S20R-MDUNR15 | 27 | 20200 40 |18.6] 15 | 15°
X CTM613 L3 HL1810 | ML0620 L3
$25S-MDUNL15 | S25S-MDUNR15 | 31 |25 250| 45| 23 [16.5| 14°
S32T-MDUNL15 S32T-MDUNR15 | 38.5 32{300] 50| 30 [22.5| 16°| DNLILJ
15040000
S40T-MDUNL15 S40T-MDUNR15 | 48 | 40 |300| 60 | 37 | 26 | 15° MD1504| CTM617 L3 HL2113 | ML0625 L3
S50V-MDUNL15 | S50V-MDUNR15 | 58 | 50 (400| 60 | 47 |31 | 12°

-
-
)= i TR | 718 POE | RF | FR SUEKIRE | iR
ESModel RN ) Blade | Shim |Center Pin|Wrench| Platen %‘é‘r‘e%e Wrench
ZET)Left #7IRight  |pmin/®d| L | Li| H| f | a Q
» | DNLIC
S20R-MDQNL11 | S20R-MDQNR1L | 25 |20 (200| 35 |18.6) 13 | 15° | 11047]| X | CTM510 | L2  |HL1810 | ML0620 | L3
S20R-MDQNL15 | S20R-MDQNR15 | 25 |20 [200| 35 |18.6(13.5| 15°
X CTM613 L3 | HL2113 | MLO625 | L3
S$25S-MDQNL15 | S25S-MDQNR15 | 30 |25 |250| 45|23 |16 | 12°
S32T-MDQNL15 | S32T-MDQNR15 | 40 |32 (300| 50 |30 |22 | 17° | DNLI[C]
150400J
S50V-MDQNL15 | S50V-MDQNR15 | 59 |50 |400| 65 | 47 | 32 | 12°

SN

064




A
FL
%
7]

W065

V.PLD

RAETEST

COMPOSITE INTERAL TURNING TOOL

RAETEST

COMPOSITE INTERAL TURNING TOOL

V.PLD

LIDWNR/L

L
N\ & N
I i TR | 7% | hog | RFE | EIR SRR
ESModel RfSize (mm) Blade | Shim [Center Pin| Wrench| Platen Ds?:lrjgvlve Wrench
. ® 5 =
fET]Left B7IRight  pmin|®d| L | Li| H | f | @ Q

S25S-MDWNL15 | S25S-MDWNR15 | 32 | 25 |250| 45| 23 |18 | 12° X CTM613 L3 HL1810 | ML0620 L3
S32T-MDWNL15 | S32T-MDWNR15 | 41 |32 (300 50 | 30 |23 |16° | pN(I[]
S40T-MDWNL15 S40T-MDWNR15 | 49 |40 [300| 55|37 |27 | 16° 1504000 MD1504 | CTM617 L3 HL1813 | MLO625 L3
S50V-MDWNL15 | S50V-MDWNR15 | 59 |50 |400| 65 | 47 |32 |12°

LIDZNR/L

" N
U= <FSi TR | 78| hoE | RF | R SRR
ESModel RSize (mm) Blade | Shim |Center Pin/Wrench| Platen %%?gvlve Wrench

) ) i <
#=T]Left #7IRight  [pmin/®d| L | Li| H | f | @ Q

S20RMDZNLLL | S20R-MDZNRIL | 27 | 20 200 40 [18.6155 15° | hboatqj| X | CTMs10 | L2 | HL1810| MLO620 | L3

S25S-MDZNL15 S25S-MDZNR15 | 34 | 25 |250| 45|23 |20 | 15° X CTM613 L3 HL1810| ML0620 L3

S32T-MDZNL15 | S32T-MDZNR15 | 40 |32 {300| 50 |30 |23 |17° | DNOICJ

15040000 | Mp1504 | CTM617 L3 | HL1813| MLO625 | L3

S40T-MDZNL15 | S40T-MDZNR15 | 50 |40 [300| 55|37 |27 | 15°

CISKNR/L

[ pr—
-

-
-
L
ESModel R¥size (mm) lejajje ijjm%n Cef’élg\ri%in W{}'jefch PJI:T;En X%S?}ﬁ? W;z?ch
FeTLeft SIS « BEelR. SIANE Sh. STAN
S16Q-MSKNL12 | S16Q-MSKNR12 | 20 |16 180 40 [14.8[10.5 17° HL1511 | ML0520 | L2.5
S20R-MSKNL12 | S20R-MSKNR12 | 25 |20 |200| 40 [18.6 13 | 15° X CTMe13 L3
HL1813 | MLO0625 L3
$255-MSKNL12 | S25S-MSKNR12 | 31 |25|250| 4523 |16.5 12° | ¢\
S32T-MSKNL12 | S32T-MSKNR12 | 40 |32 (300 50 | 30 | 22 | 17° | 1204000
S40T-MSKNL12 | S40T-MSKNR12 | 48 |40 (300| 55|37 |26 | 12° MS1204 | CTM617 L3 | HL1813 | MLO625 L3
S50V-MSKNL12 | S50V-MSKNR12 | 59 |50 [400| 65 | 47 | 32 | 12°
S40T-MSKNL15 | S40T-MSKNR15 | 48 |40 (300 55 |37 | 26 | 12° EQOQED MS1504 | CTM0822 L3 | HL2217 | MLO830 L4

St

H 066




RAETEST

COMPOSITE INTERAL TURNING TOOL

RAETEAT

® ®
Kl LD COMPOSITE INTERAL TURNING TOOL Kl LD

Dmin L a Dmin
- ﬁﬁ.”m = ’ LI\
| -
@ ® > —
| | oz (Dd_/
L1
-
N L N
L
?EL, I ?EIJ
7] 7]
N e N N e N
= e TR | D& | P08 | RFE | ER (SRR RF V= e TR D& POE | RF | ER WeLighe | g
ESModel Rsize (mm) Blade | Shim |Center Pin|Wrench| Platen %%Ee%e Wrench ESModel Rsize (mm) Blade | Shim |Center Pin| Wrench| Platen %%Ee%e Wrench
. @ o Y —— : ® 5 4 -
ET)Left A7JRight  pmin|®d| L [ Li|H | f |« Q ZEJ)Left A7Right  pmin|®d| L [ Li|H | f |« L
S16Q-MSSNL12 | S16Q-MSSNR12 | 22 |16 |180| 35 (14.8/ 12 | 17° HL1511| ML0520 | L2.5 S16Q-MTINL16 | S16Q-MTUNRL6 | 21 |16 |180| 35 |14.8/10.5| 15° X CTM510 L2 |HL1511 | ML0520 | L2.5
S20R-MSSNL12 | S20R-MSSNR12 | 28 |20 |200| 35 (18.6/ 16 | 15° | g\ X CTM613 S20R-MTINL16 | S20R-MTUNR16 | 24 |20 200 35 |18.6] 12 | 15°
12040000 L3 | HLI8IO | ML0620 TNOO X CTM510 | L2  |HL1810 | ML0620 | L3
$25S-MSSNL12 | S25S-MSSNR12 | 32 |25 (250 40 | 23 |18 | 12° L3 S25S-MTUNL16 | S25S-MTINR16 | 29 |25 250 40 | 23 |14.5/ 12° | .00
S32T-MSSNL12 | S32T-MSSNR12 | 40 |32 |300| 40|30 |22 | 17° MS1204| CTM617 HL1813 | MLO0625 S32T-MTUNL16 | S32T-MTIJNR16 | 36 |32 (300| 45 |30 | 18 | 12°
MT1603| CTM513 L2 |HL1813 | MLO625 | L3
S40T-MTINL16 | S40T-MTIJNR16 | 47 |40 [300| 60 | 37 | 25 | 12°
/ T
R
- e, —
o , R
.
< S =y 957 _/ -
| L &d
L -
L
; TR | 713 | PO | RFE | ER | FCHRER pF
ESModel R Size (mm) : . Double N
Blade | Shim |Center PinWrench|Platen | 22 'Wrench T RfSize (mm) TR | | 0% RFE | ER g&%m;l@ e
@ - - = Blade | Shim |Center Pin| Wrench Platen | Rouble \\yrench
fT]Left AJJRight  pmin/®d| L | Li| H | f | o n q \ ’\\ ﬁ \ ’\ o i -
ET]Left H7IRight  pmin/®d| L || H | f | @ A \ f\ ﬁ \ P\
S16Q-MTFNL16 | S16Q-MTFNR16 | 20 |16 |180| 40 |14.8/10.5] 17° X CTM510 L2 |HL1511| ML0520 | L2.5 »‘Q
S20R-MTFNL16 S20R-MTFNR16 | 24 |20 |200| 40 18.6| 12 | 15° S16Q-MTLNL16 S16Q-MTLNR16 | 21 | 16 |180| 35 |14.8|11.5| 15° X CTM510 L2 HL1511 | ML0520 L2.5
S25S-MTFNL16 | S25S-MTFNR16 | 29 |25 |250| 45|23 |14.5 15° X CTM510 L2 |HLIB10| MLOG20 -3 S20R-MTLNL16 | S20R-MTLNR16 | 25 |20 |200) 35 18.6| 13 | 15°
TNUU CTNOO X CTMS510 L2 |HL1810 | MLO620 | L3
S32T-MTFNL16 S32T-MTFNR16 | 36 |32 (300| 54 | 30 | 18 | 15° | 1604[][] S$25S-MTLNL16 S255-MTLNR16 | 31 | 25|250| 40 | 23 |16.5| 12 16040007
S40T-MTFNL16 | S40T-MTFNR16 | 48 |40 |300| 60 | 37 | 26 | 15° MT1603| CTM513 L2 |HL1813| MLO0625 L3 S32T-MTLNL16 | S32T-MTLNR16 | 38 |32 300| 45|30 | 22| 12°
S50T-MTFNL16 | S50T-MTFNR16 | 59 |50 [400| 60 | 47 | 32 | 12° S40T-MTLNL16 | S40T-MTLNR16 | 47 |40 |300) 60| 37 | 26 | 12° MT1603 | CTMS13 L2 |AL1S13 ) MLOGZS | L3
W067 068



RALETEST

COMPOSITE INTERAL TURNING TOOL

® ®
V(PLD G55 V(PLD

= P
j .
- - |
NS =
e *i 957 . =
L CDd—/
- -
A ) N
7] 7]
1= ‘ R | 8| ROE | RF [ER | WEKIBRE | iRF = . TR 708 | POE | RF [EfR | BEKIBtE | RF
ESModel R size (mm) Blade | Shim |Center Pin Wrench| Platen | Rouble |\yrench ESModel RS ) Blade | Shim |Center Pin Wrench| Platen | Rouble |\yrench
i @ . " = . ® . '- -
mmer | aRoht pmmod L bH e AT O Ny (PN A N TN et | amRighe pmnod L uln| 0w | A DO Ny DN AN (DN
S16Q-MTQNL16 | S16Q-MTQNR16 |19.5| 16 |180| 40 |14.8/10.5 17° X CTM510 L2 |HL1511 | ML0520 | L2.5 S16Q-MTUNL16 | S16Q-MTUNR16 | 21 |16 |180| 40 |14.8/10.5 17° X CTM510 L2 | HL1511 | ML0O520 | L2.5
S18Q-MTQNL16 | S18Q-MTQNR16 | 22 | 18 |180| 40 |16.6| 12 | 15° S20R-MTUNL16 | S20R-MTUNR16 | 24 |20 |200| 40 |18.6 12 | 15°
. X CTM510 L2 | HL1810 | ML0620 L3
S20R-MTQNL16 | S20R-MTQNR16 | 24 |20 200 45 [18.6| 13 | 15°| 1\ X CTM510 L2 |HL1810 | ML0620 | L3 S25S-MTUNL1E | $255-MTUNRIS | 29 | 25 |250| 45 | 23 l14.5] 15° | TNOIOO
S255-MTQNL16 | S255-MTQNR16 | 29.5| 25 |250| 45|23 | 16 | 15°| 1604010 16040101
S32T-MTUNL16 | S32T-MTUNR16 | 36 |32 |300| 54|30 | 18 | 15°
S32T-MTQNL16 | S32T-MTQNR16 | 38 |32 |300| 54|30 | 21 | 15°
MT1603| CTM513 L |His13 | Mios2s | L3 S40T-MTUNL16 | S40T-MTUNR16 | 48 |40 (300 60 | 37 | 26 | 15° MT1603 | CTM513
S40T-MTQNL16 | S40T-MTQNR16 | 47 |40 |300| 60 |37 | 26 | 15° L2 | HL1813 | ML0625 L3
S50V-MTUNL16 | S50V-MTUNRL6 | 59 |50 |400| 60 | 47 | 32 | 12°
S25S-MTUNL22 | S25S-MTUNR22 | 31 |25 |250| 45| 23 | 17 | 15° | 1 X CTM613
2204710 L3 |HL2217 | ML0830 L4
S32T-MTUNL22 | S32T-MTUNR22 | 40 |32 |300| 54|30 |22 | 17° MT2204 | CTM617
W069 070



N
fl
3
7]

mo71

V.PLD

CITWNR/L

RAETEAT

COMPOSITE INTERAL TURNING TOOL

COVUNR/L

RALETEST

COMPOSITE INTERAL TURNING TOOL

Dmin

V.PLD

L N
I }EL,
7]
: - b | IRE | ER SRR iRF
= . VAL A L
ESModel RS (i) Blade | Shim (Center Pin\Wrench| Platen | Rouble \yrench
o o -
A J]Left A7JRight  |pmin/®d| L | Li|H | f | a a 0 \ ’\ ﬁ \ ’\
S20R-MVUNL16 S20R-MVUNR16 | 31 |20 |200| 40 |18.6| 19 | 12°
X CTM510 L2 HL1810 | ML0620 L3
S25S-MVUNL16 S25S-MVUNR16 | 33 |25 |250| 45|23 | 19| 12° | yNOO
160410]
S32T-MVUNL16 S32T-MVUNR16 | 39 |32 |300| 50 | 30 | 23 | 17°
MV1603 | CTM513 L2 HL1813 | MLO0625 L3
S40T-MVUNL16 S40T-MVUNR16 | 49 |40 |300| 55 | 37 | 27 | 15°

N Lrls N
e e e | nm | how | mE | ER | WLER| RE
ESModel RJsize (mm) Blade | Shim Center Pin\Wrench Platen | RoUble |\yrench
. @ o 4 -
EJ]Left fA7JRight  |pmin|®d| L | Li| H | f |« ﬁ
S16Q-MTWNL16 | S16Q-MTWNRIL6 | 22 | 16 |180| 40 |14.8| 12 | 17° X | CTM510 | L2 |HLISL1| MLO520 | L2.5
S20R-MTWNL16 | S20R-MTWNRIL6 | 26 | 20 |200| 40 [18.6| 14 | 15°
™D X | CTM510 | L2 |HL1810 | ML0620 | L3
S255-MTWNL16 | S25S-MTWNRL6 | 31 |25 |250| 45| 23 |165 12° | 1e0a )
S32T-MTWNL16 | S32T-MTWNR16 | 38 | 32 300/ 54 | 30 [20.5 15°
MT1603| CTM513 | L2 |HL1813 | MLO625 | L3
S40T-MTWNL16 | S4OT-MTWNRIL6 | 26 | 40 [300| 60 | 37 [24.5 15°
Dmin

LIVQNR/L

OOVWNR/L

Y <l N i
o | 1175 -
y/:/‘117.5° ® d—/
-~ L1
L
g A | N8| b | RE | FR O SCHRE RFE
1) = )
ESModel R¥Size (mm) Blade | Shim [Center Pin|Wrench| Platen Dscc"r"g’v've Wrench
o o -
ETLeft BTIRight  pmin®d| L | L1 H | f | o | <O <O \ ~N ﬁ \ ™~
S20R-MVQNL16 S20R-MVQNR16 | 26 |20 [200| 40 |18.6|14.5| 15°
X CTM510 L2 |HL2113 | ML0620 L3
S255-MVQNL16 S25S-MVQNR16 | 34 | 25 |250]| 45 | 23 |16.5| 12° VNI
1604000
S32T-MVQNL16 S32T-MVQNR16 | 40 |32 |300| 50 | 30 | 22 | 17°
MV1603 | CTM513 L2 HL2113 | ML0625 L3
S40T-MVQNL16 S40T-MVQNR16 | 47 |40 |300| 55 | 37 | 25 | 15°

=l 125 72.5°
;- d)d—/
L1
L
|
= i TR | 708 | B | RFE | FR WEkigie | i
== RJSize (mm) Blade | Shim Center Pin|Wrench| Platen | Rouble yyrench
: ® | <O ‘ =
ET]Left A7JRight  pmin|®d| L | Li|H | f | a ’\ ﬁ \ ’\
S20R-MVWNL16 | S20R-MVWNR16 | 43 |20 |200| 40 18.621.5] 12°
VNOO X CTM510 L2 |HL1810 | ML0620 | L3
S255-MVWNL16 | S25S-MVWNR16 | 36 | 25 (250 45|23 | 22 | 12°
160401
S32T-MVWNL16 | S32T-MVWNR16 | 41 |32 {300 50|30 | 25 | 17° MV1603| CTM513 L2 |HL1813 | MLO625 | L3

Wo72



RAETNEESI

COMPOSITE INTERAL TURNING TOOL

RAETEAT

® ®
Kl LD COMPOSITE INTERAL TURNING TOOL Kl LD

Dmin
/ g Y /
| -
A I m
/] “_-1— | N |
W % od S/
-
7] 7]
. w | how | mE | ER WU 5E #® | e iR | RO
e . VAL L = . AR | 7 &) w"E | E M| IRFE
ESModel il Blade | Shim Center Pin\Wrench| Platen | Bouble |\yrench ESModel RS () Blade | Shim (Center Pin|\Wrench| Platen | Bouble |wrench
. J 0 - . o o ) -
A 7]Left AJ7JRight  pmijn|®d| L | Li|H | f  «a - <> \ \ ﬁ \ f\ A T]Left ATIRight  |pmin|®d| L | Li|H | f | | A% Q \ ’\\ ﬁ \ ’\\
S20R-MVXNL16 S20R-MVXNR16 | 24 | 20 |200| 40 |18.6/12.5| 12° S16Q-MWLNLO6 | S16Q-MWLNRO6 |20.5| 16 [180| 35 |14.8(10.5| 16° HL1511 | MLO520 L2.5
VNOID X CTM510 L2 HL2413 | ML0620 L3 WNIO]
S25S-MVXNL16 S255-MVXNR16 | 30 | 25|250| 45| 23 |15.5| 12° S20R-MWLNLO6 S20R-MWLNRO6 | 24 | 20 |200| 40 |18.6| 12 | 15° | o4l ][] X CTM510 L2
1604101 HL1810 | ML0620 L3
S32T-MVXNL16 S32T-MVXNR16 38 | 32(300| 50|30 |20 |15° MV1603 | CTM513 L2 HL2413 | ML0625 L3 S25S-MWLNLO6 S255-MWLNRO6 |30.5 | 25 |{250| 45| 23 | 16 | 12°
S16Q-MWLNLO8 | S16Q-MWLNRO8 |20.5| 16 [180| 35 |14.8(10.5| 17° HL1511 | ML0520 L2.5
Dmin
B S18Q-MWLNLO8 | S18Q-MWLNRO8 | 23 | 18 (200 40 |16.8| 12 | 16°
X CTM613 L3
DVZN R/L ; S20R-MWLNLO8 S20R-MWLNRO8 | 25 | 20 |200| 36 |18.6| 13 | 15° HL1810 | ML0620 L3
1 WNOIO
e T— S25S-MWLNLO8 | S25S-MWLNRO8 | 31 |25 |250| 50 | 23 |16.5| 12° | 0804](]
S32T-MWLNLO8 S32T-MWLNRO8 | 39 | 32 |300| 60 | 30 | 21 | 15°
H S40T-MWLNLO8 S40T-MWLNRO8 | 47 | 40 |300| 60 | 37 | 25 | 12° MW0804| CTM617 L3 HL1813 | ML0625 L3
— | ————— .
% S50V-MWLNLO8 S50V-MWLNRO8 | 57 | 50 |400| 60 | 47 | 30 | 12
(Dd—/
L1
L
\ | £l N
= ; DR | D& | hOE | RF | ER WELIZte | 4pE
ESModel RJsize (mm) Blade | Shim (Center Pin\Wrench  Platen | Rouble |\yrench
® . =
ZE7]Left FTIRight  pmin/®d| L | L[ H | f | o | <O <t \ ’\\\ ﬁ \ f\
S20R-MVZNL16 S20R-MVZNR16 | 32 |20 |200| 40 |18.6/ 20 | 11°
VNOIOI X CTM510 L2 HL1810 | ML0620 L3
S25S-MVZNL16 S25S-MVZNR16 | 34 |25 |250| 45|23 |20 |13°
1604010
S32T-MVZNL16 S32T-MVZNR16 | 41 |32 300| 50 |30 |23 | 15° MV1603 | CTM513 L2 HL1813 | ML0625 L3
m073 W 074



®
V(PLD D755

NFLZETIIRETI0

SCREW TYPE INTERAL TURNING TOOL

V.PLD

7] 7]
g TR | D O | RFE | Bk BCKMRR) pEF = .
=] < . il 24
#EModel R~fSize (mm) Blade | Shim |Center PinlWrench| Platen %%Ee%e Wrench HIEModel R~fSize (mm) 715 Blade 222 Screw | #xFWrench
. @ ) y - . ® . N
£T]Left B7IRight  lpmin@d| L | Li| H | f | « ﬁ § \ f\ ﬁ \ f\ 7] Left %77 Right o> Jod| L|u K| f]a ~ —-—=~E——
S20R-MWWNLO08 | S20R-MWWNRO08 | 26 | 20 [200| 30 |18.6| 14 | 15° S10K-SCFCLO6 S10K-SCFCR06 13 10 | 125 | 12 9 5.6 | 12°
WNCIE X CTM613 L3 | HL1810 | ML0620 | L3 cciitios0200 M2.5%6 8
S25S-MWWNL08 | S25S-MWWNRO08 |31.5 | 25 [250| 50 | 23 | 17 | 12° 0804017 S12M-SCFCL06 S12M-SCFCR06 14 12 | 150 | 18 11 7 10°
S32T-MWWNLO8 | S32T-MWWNRO08 | 40 | 32 [300| 60 | 30 |22 | 15° MWO0804| CTM617 L3 HL1813 | ML0625 L3 S10K-SCFCL09 S10K-SCFCR0O9 13 10 | 125 | 14 9 7 15°
S12M-SCFCL09 S12M-SCFCR09 14 | 12 | 150 | 16 | 11 | 7 | 12° M4x8 T15
CCI09T3M
S16Q-SCFCL09 S16Q-SCFCR09 18 16 | 180 | 16 | 148 | 9 8°
OMWO0S MWOSZ-R/L S20R-SCFCL09 S20R-SCFCR09 23 20 | 200 | 19 | 186|115 | 6° M4 X 10 T15
S /i “—
o : TR | D& Pl | RFE | ER SEKIRHE | RF
ESModel RJsize (mm) Blade | Shim [Center PinWrench| Platen = Rouble f\yrench
. ® . pe =
A 7]Left AJJRight  pmin/®d| L [Li| H | f | i ;
S25R-MWOB.MWOSZ-LLS5 | S25R-MWOBMWOSZRL5 | 34 | 25 |200| 30 [21.4]16.5(12.51 X CTM613 L3 | HL1511 | ML0520 L2.5
.| WNCIO
S32SHMWOSMNOSZLLS | S325-MWOSMWOSZRLS | 39 | 32 250| 35 |28.4) 19 | 12° | Jo0 o
MW0804| CTM617 L3 | HL1813 | ML0625 L3
SA0S-MWOSMWOSZ-LLS | SA0S-MWOSMWOSZ-RLS | 46 | 40 |250| 40 |36.4|22.5] 15°
WOo75

WO076




A
FL
%
7

mo77

V.PLD

RFLZETIRETIU

SCREW TYPE INTERAL TURNING TOOL

NFLZETI2ETI

SCREW TYPE INTERAL TURNING TOOL

V.PLD

N e (@n

1=

S e
@ R | “ 7507 W _/ .
NN dd
- L1
L
FlEModel R~Size (mm) JJ5 Blade 1842 Screw | #xFWrench
7277 Left 77 Right ® log| L |t | K| f|e -y —
Dmin
SO07K-SCKCL06 SO07K-SCKCR06 10 7 125 | 25 6 4,5 | 15°
S08K-SCKCL06 S08K-SCKCR06 11 8 125 | 25 7 46 | 12°
S10K-SCKCL06 S10K-SCKCRO06 13 10 | 125 | 27 9 5.6 | 12°
| ccomoe02000) M2.5%6 T8
S12M-SCKCL06 S12M-SCKCRO06 15 12 | 150 | 30 11 7 10
S14N-SCKCL06 S14N-SCKCR06 17 14 | 160 | 35 13 8 10°
S16Q-SCKCL06 S16Q-SCKCR06 19 16 | 180 | 35 [148 | 9 10°
S20R-SCKCL06 S20R-SCKCRO06 24 20 | 200 | 40 |18.6 |115| 8&°
S12M-SCKCL09 S12M-SCKCR09 15 12 | 150 | 30 11 7 12°
S14N-SCKCL09 S14N-SCKCR09 17 14 | 160 | 35 13 8 10°
M4 X8
S16Q-SCKCL09 S16Q-SCKCR09 20 16 | 180 | 35 |14.8| 9.5 8°
S18Q-SCKCL09 S18Q-SCKCR09 21 18 | 180 | 35 |16.6 | 10 8°
ccIooT3d T15
S20R-SCKCL09 S20R-SCKCRO09 24 20 (200 | 40 |18.6 |11.5| 6°
S25S-SCKCL09 S25S-SCKCR09 29 25 | 250 | 42 23 |145] 6°
M4 X 10
S32T-SCKCL09 S32T-SCKCR09 38 32 | 300 | 45 30 20 4°
S40T-SCKCL09 S40T-SCKCR09 46 40 | 300 | 50 37 24 4°
S20R-SCKCL12 S20R-SCKCR12 24 20 | 200 | 40 |[186 | 12 6° M5X10
$255-SCKCL12 $255-SCKCR12 29 | 25 [ 250 | 42 | 23 |145| 6° | ccOyM12040000 120
M5 X 12
S32T-SCKCL12 S32T-SCKCR12 38 32 | 300 | 45 30 20 4°

SCLCO

\ ;%El

[P

EIEModel R<Size (mm) 71k Blade 1222 Screw | #xFWrench
#7] Left ARght | @ lod| L | L |H|f|a -« —
S06K-SCLCLO6 S06K-SCLCRO6 9 | 6 12512 | 5 |45 | 15°
SO7K-SCLCLO6 SO07K-SCLCRO6 9 | 7 |125| 14 | 6 |45 | 15°
S08K-SCLCLO6 S08K-SCLCRO6 10 | 8 [125]14 | 7 |46 12°
S10K-SCLCLO6 S10K-SCLCRO6 12 | 10 |125| 14 | 9 |56 | 12| oo o5 T
$12M-SCLCLOG S$12M-SCLCRO6 14 | 1215016 |11 | 7 | 10°
S14N-SCLCLO6 S14N-SCLCR06 16 | 14 160 | 18 | 13 | 8 | 10°
$16Q-SCLCLO6 $16Q-SCLCRO06 18 | 16 | 180 | 32 |148| 9 | &
S20R-SCLCLO6 S20R-SCLCRO6 23 | 20 | 200 | 35 [18.6|115| 6°
S08K-SCLCLOY S08K-SCLCRO9 13 | 8 12516 | 7 |75 15°
M4X6
S10K-SCLCLOY S10K-SCLCRO9 13 |10 125020 9 | 7 |15
S12M-SCLCLO9 $12M-SCLCR09 14 | 1215025 |11 | 7 | 12°
S14N-SCLCLO9 S14N-SCLCR09 17 | 14 | 160 | 25 | 13 | 82 | 10°
$16Q-SCLCLO9 $16Q-SCLCR09 18 | 16 | 180 | 32 |148| 9 | & Maxe
ccOmooT300 T15
$18Q-SCLCLO9 $18Q-SCLCR09 20 | 18 | 180 | 35 [166| 10 | 6°
S20R-SCLCLO9 S20R-SCLCRO9 23 | 20 | 200 | 35 186|115 6°
$255-SCLCLOY $255-SCLCRO9 28 | 25 | 250 | 45 | 23 |145| 6°
$32T-SCLCLO9 $32T-SCLCRO9 38 | 32300 45 | 30 | 20 | 4° M4X10
S40T-SCLCLO9 S40T-SCLCRO9 46 | 40 |300| 55 | 37 | 24 | 4°
S20R-SCLCLI12 S20R-SCLCR12 24 | 20 | 200 | 30 |186| 12 | 10° M5X 10
$255-SCLCL12 $255-SCLCR12 29 | 25 | 250 | 38 | 23 |145| 6°
$32T-SCLCL12 $32T-SCLCR12 38 | 32 300 45 | 30 | 20 | 4° | cermi2040000 20
S40T-SCLCL12 S40T-SCLCR12 46 | 40 | 300 | 45 | 37 | 24 | & Max12
S50V-SCLCL12 S50V-SCLCR12 57 | 50 | 400 | 60 | 47 | 30 | 2°

SN

m078




N
fl
T
7]

Wo79

V.PLD

RFLZETIESTT

SCREW TYPE INTERAL TURNING TOOL

NFLZETIRETIU

SCREW TYPE INTERAL TURNING TOOL

V.PLD

SCLO-A

SCLO-H

@) @)% 2
Y— i =
| 95°
| o [N
D — L1 ch
L
F1EModel R~FSize (mm) JJ5 Blade 1842 Screw | #xFWrench
7] Left 7] Right ® lod| L |L|H|f]| ~@ ~ —e-«g'u
Dmin =
S06K-SCLCLO6-AL2 | S06K-SCLCRO6-A12 8 | 12 |125|20 | 11 | 45| 15
M2.5X5
SO7K-SCLCLO6-A12 | SO7K-SCLCR06-A12 85 | 12 |125| 20 | 11 | 45 | 15
S08K-SCLCLO6-AL2 | SO8K-SCLCRO6-A12 9 | 12 |125|20 | 11 |46 | 12
M2.5X6
S10K-SCLCLO6-A12 | S10K-SCLCRO6-A12 11 | 12 | 125 25 | 11 |56 | 12 T8
SO6K-SCLCLO6-A16 | SO06K-SCLCRO6-A16 8 | 16 |125| 20 |14.8| 45 | 15 | CCOICI0602000]
M2.5X5
SO7K-SCLCLO6-AL6 | SO7K-SCLCRO6-A16 85 | 16 | 125| 20 |14.8| 45 | 15
S08K-SCLCLO6-AL6 | SO8K-SCLCRO6-A16 9 | 16 |125| 24 |148| 46 | 12
S10K-SCLCLO6-A16 S10K-SCLCR06-A16 11 | 16 | 125| 25 |14.8| 5.6 | 12 M2.5X6
S12M-SCLCLO6-A16 | S12M-SCLCRO6-A16 | 135 | 16 | 150 | 32 |14.8| 7 | 10
S12M-SCLCL09-A16 | S12M-SCLCRO9-A16 | 135 | 16 | 150 | 32 |14.8| 7 | 12 | CCOIO9T3IC] M4X8 T15

-
7]
R~ Size (mm) JJ5 Blade 1844 Screw | 3#RFWrench
#lE5Model
® lod | L | L | H| f ~ -
Dmin
S20R-SCLCRO9H 23 20 200 30 18.6 11
CCII09T3 M4X10 T15
S25S-SCLCRO9H 29 25 200 35 23 14
Dmin i
0° ﬁ-_——— = — ——i A
........... T
-
o ]
Y— 500'/' _/
od
L1
L
FlEModel R~fSize (mm) 7] Blade 1842 Screw | #RFWrench
i [0} ® -
257 Left 7] Right o2 Jed| L L H|f]a @«
S08K-SCWCL06 S08K-SCWCR06 14 8 | 125 | 14 7 7.5 | 15°
CCI0602[10] M2.5X6 T8
S10K-SCWCLO06 S10K-SCWCR06 16 10 | 125 | 14 9 8.5 | 12°
S12M-SCWCL09 S12M-SCWCR09 18 12 | 150 | 16 11 | 95 | 12° M4 X8 T15
S16Q-SCWCL09 S16Q-SCWCR09 22 16 | 180 | 18 [14.8 |11.5| 10° | CCLICIO9T3I]
M4 X 10 T15
S20R-SCWCL09 S20R-SCWCR09 26 20 | 200 | 25 |18.6|13.5| 8&°
080




N
fl
=3
7]

W081

V.PLD

RFLETIESTT

SCREW TYPE INTERAL TURNING TOOL

NFLZETII2ETIU

SCREW TYPE INTERAL TURNING TOOL

V.PLD

sbJcO

Dmin

-
L
A5 Model R~fSize (mm) JJF Blade 18244 Screw | 3#xFWrench
7] Left 7] Right D;’in od| L | Lt | H | f | ~ ——‘Tﬁ
S06K-SCZCL04 S06K-SCZCR04 11 6 | 125 | 25 5 6.2 | 12° | ccOOo4T1 M2 X4 T6
SO07K-SCZCL06 S07K-SCZCRO6 12 7 |125| 25 6 6 12°
S08K-SCZCL06 S08K-SCZCRO6 13 8 | 125 | 25 7 6.5 | 12°
CCIJo602[10] M2.5X6 T8

S10K-SCZCL06 S10K-SCZCRO6 16 10 | 125 | 27 9 8.5 | 12°
S12M-SCZCL06 S12M-SCZCRO6 18 12 | 150 | 30 | 11 10 | 10°
S16Q-SCZCL09 S16Q-SCZCR09 23 16 | 175 | 35 [14.8| 13 | 10° M4 X8
S20R-SCZCL09 S20R-SCZCR0O9 27 20 | 190 | 40 |18.6| 15 8° | CCI09T3[I] T15
S25S-SCZCL09 S25S-SCZCR0O9 32 25 (240 | 42 | 23 |17.5| 6° M0

R
L
#lEModel R~fSize (mm) JJ5 Blade 1842 Screw | #RFWrench
7E7] Left 7] Right o2 led| L LK |f] e @ ~ —f-
S08K-SDJCLOT S08K-SDJCRO7 11 8 125120 | 7 | 5 | 14°
S10K-SDJCLO7 S10K-SDJCRO7 13 10 | 125 | 25 | 10 6 10°
S12M-SDJCLO7 S12M-SDJCRO7 15 | 12 |150| 30 | 11 | 7 | &
DCLI[]070200[] M2.5X6 T8

S14N-SDJCLO7 S14N-SDJCRO7 17 14 | 160 | 30 | 13 8 8°
S16Q-SDJCLO7 S16Q-SDJCRO7 19 16 | 180 | 30 |148| 9 8°
S20R-SDJCLOT S20R-SDJCRO7 24 20 (200 | 30 |18.6|115| 8
$16Q-SDJCL11 $16Q-SDJCR11 19 | 16 | 180 | 40 |148| 9 | & M4 X8 T15
S20R-SDJCL11 S20R-SDJCR11 24 20 | 200 | 40 |18.6 |11.5| 6°
$255-SDJCL11 $255-SDJCR11 29 | 25 | 250 | 45 | 23 | 14 | 6° | pcOM11T3000]
S32T-SDJCL11 S32T-SDJCR11 38 32 | 300| 50 | 30 | 20 6° Max10 ™
S40T-SDJCL11 S40T-SDJCR11 46 | 40 | 300 | 50 | 37 |24 | #°

S

082




A
FL
%
7]

083

V.PLD

RFLZETIRETI

SCREW TYPE INTERAL TURNING TOOL

e REnETS L P

SDQCL

Dmin

sbucO

Dmin

mm!

e — e

e

-
L
#l5Model R~ Size (mm) JJ5 Blade 1842 Screw | ¥#xFWrench
7] Left 47] Right D::in od| L | Lt | H| f | @ ~ —":~E-
S08K-SDQCLO7 S08K-SDQCRO7 12 8 | 125 | 20 7 7 15°
S10K-SDQCLO7 S10K-SDQCRO7 13 10 | 125 | 23 9 7 10°
S12M-SDQCLO7 S12M-SDQCRO7 14.5 12 | 150 | 30 | 11 | 7.5 | 10°
S14N-SDQCLO7 S14N-SDQCRO7 17.5 14 | 160 | 30 | 13 | 95 | &° DCO07020000 M2.5X6 T8
S16Q-SDQCLO7 S16Q-SDQCRO7 19 16 | 180 | 35 |14.8| 10 6°
S18Q-SDQCLO7 S18Q-SDQCRO7 21 18 | 180 | 35 |16.8| 11 6°
S20R-SDQCLO7 S20R-SDQCRO7 23 20 | 200 | 40 |18.6 | 12 6°
S$25S-SDQCLO7 S25S-SDQCRO7 28 25 (250 | 40 | 23 |145]| 6°
S14N-SDQCL11 S14N-SDQCR11 18 14 | 160 | 30 | 13 10 8°
S16Q-SDQCL11 S16Q-SDQCR11 20 16 | 180 | 35 |14.8| 11 8°
S18Q-SDQCL11 S18Q-SDQCR11 22 18 | 180 | 35 |16.8| 12 6°
S20R-SDQCL11 S20R-SDQCR11 24 20 | 200 | 40 |18.6| 13 6° | DCO11T3I0] M4X10 T15
S$25S5-SDQCL11 S25S-SDQCR11 295 | 25 | 250 | 40 | 23 16 6°
S32T-SDQCL11 S32T-SDQCR11 37 32 | 300| 43 | 30 | 20 4°
S40T-SDQCL11 S40T-SDQCR11 46 40 | 300 | 50 | 37 | 25 4°

A= Model R<JSize (mm) 715 Blade 122 Screw | #RFWrench
7D Left #7] Right Dgin od| L | L |H|f|e @ ~ -
S08K-SDUCLOT S08K-SDUCRO7 13 | 8 125020 | 7 | 8 |12°
S10K-SDUCLOT S10K-SDUCRO7 132 | 10 |125| 25 | 9 | 72| 10°
$12M-SDUCLOT $12M-SDUCRO7 16 | 12150 |28 | 11 | 9 | 10°
S14N-SDUCLO7 S14N-SDUCRO7 18 | 14 [ 160 | 30 | 13 | 10 | 8&°
DCOOo70200) | M2.5x6 8
$16Q-SDUCLO7 $16Q-SDUCRO7 205 | 16 | 180 | 35 |14.8|115]| 8°
$18Q-SDUCLO7 $18Q-SDUCRO7 22 | 18 | 180 | 35 [168| 12 | 6°
S$20R-SDUCLO7 S$20R-SDUCRO7 24 | 20 | 200 | 40 [184| 13 | 6
$255-SDUCLOT $255-SDUCRO7 29 | 25 | 250 | 40 | 23 |155| 4°
S14N-SDUCL11 S14N-SDUCR11 19 | 14 [160| 30 | 13 | 11 | 8°
$16Q-SDUCL11 S16Q-SDUCRI11 22 | 16 | 180 | 30 |14.8| 13 | & Max8
$18Q-SDUCL11 $18Q-SDUCRI11 235 | 18 | 180 | 35 |16.8|135| 6°
pcOO11T300 T15
S20R-SDUCL11 S20R-SDUCR11 25 | 20 | 200 | 40 [186| 14 | 6
$255-SDUCL11 $255-SDUCR11 31 | 25 | 250 | 40 | 23 |175| 4°
S32T-SDUCL11 S32T-SDUCR11 38 | 32 30045 | 30 | 21 | 4° M4x10
S40T-SDUCL1L S40T-SDUCR11 46 | 40 | 300| 50 | 37 | 25 | 4°

i)

084




SIS

085

V.PLD

RFLZETIESTT

SCREW TYPE INTERAL TURNING TOOL

RFLETIEET

SCREW TYPE INTERAL TURNING TOOL

Dmin

SDXCO

V.PLD

Dmin

625 a
L dd
-
L
= Model R Size (mm) J15 Blade ¥22% Screw | #RFWrench
7] Left A7] Right qur?in od| L | L | H| f | @ ~ —ﬁﬁ
S08K-SDWCLO7 S08K-SDWCRO7 16 | 8 [125)28 | 7 | 10 |12°
S10K-SDWCLO7 S10K-SDWCRO7 16 | 1012530 | 9 | 10 |12°
S12M-SDWCLO7 S12M-SDWCRO7 19 | 12 |150| 30 | 11 | 105 10°
DCOII0702000] | M2.5X6 T8
S14N-SDWCLO7 S14N-SDWCRO7 20 | 14| 160 | 30 | 13 |105]| &
$16Q-SDWCLO7 $16Q-SDWCRO7 23 | 16 | 180 | 40 |14.8|125| &
S20R-SDWCLO7 S20R-SDWCRO7 27 | 20 | 200 | 40 |186 145 &
$16Q-SDWCL11 S16Q-SDWCR11 25 | 16 | 180 | 40 |14.8|145| 8 Max8 T15
S20R-SDWCL11 S20R-SDWCR11 27 | 20 | 200 | 40 |186 145 &
$255-SDWCL11 $255-SDWCR11 33 | 25250 | 45 | 23 | 18 | 4° | pcOiC11T3CIC]
S32T-SDWCL11 S32T-SDWCR11 41 | 3230050 | 30 | 23| 4 M4x10 15
S40T-SDWCL11 S40T-SDWCR11 49 | 40 | 300 | 50 | 37 | 27 | 4

fo6° od /!
- L1
L
A= Model R~JSize (mm) JJF Blade 1822 Screw | #xFWrench
7] Left A7] Right Dﬁin od| L | Lt | H | f | e @ ~ —ﬁﬁ

S08K-SDXCLO7 S08K-SDXCRO7 12 8 125 | 20 7 55 | 14°
S10K-SDXCLO7 S10K-SDXCRO7 14 10 | 125 | 25 10 | 6.5 | 10°
S12M-SDXCLO7 S12M-SDXCRO7 16 12 | 150 | 30 11 | 75| 8

DCICI]0702000] M2.5X6 T8
S14N-SDXCLO7 S14N-SDXCRO7 18 14 | 160 | 30 13 | 85 | 8&°
S16Q-SDXCLO7 S16Q-SDXCRO7 20 16 | 180 | 30 |14.8| 9.5 | 8&°
S20R-SDXCLO7 S20R-SDXCRO7 24 20 | 200 | 30 |18.6| 12 8°
S16Q-SDXCL11 S16Q-SDXCR11 20 16 | 180 | 40 |148| 9.5 | 8&° M4X 8 T15
S20R-SDXCL11 S20R-SDXCR11 24 20 | 200 | 40 |18.6| 12 8°
$255-SDXCL11 $255-SDXCR11 29 | 25 | 250 | 45 | 23 |145| 6° | pc11T3O0] M4x 10 T15
S32T-SDXCL11 S32T-SDXCR11 38 32 | 300| 50 | 30 20 6°
S40T-SDXCL11 S40T-SDXCR11 46 40 | 300 | 50 | 37 24 4°

S




NFLZETIEEETT

SCREW TYPE INTERAL TURNING TOOL

® ®
WKPLD 5357080 KPLD

Dmin
0° iy P — —, —— N
............ v i —
H ”
Pz =
@ k e e e o ?
- - 7- o I
q>d—/
-
= Model R~FSize (mm) JJB Blade #2842 Screw | #RFWrench FE=Model R~JSize (mm) JJF Blade 1822 Screw | #{xFWrench
770 Lef Righ ® O w.@ .. 277 Lef Righ ® Eg 4
eft ight ° & 2 —i——— eft ight 3 i
7 #7] Rig oo led| L H|f]|a @ _ 73 A7 Rig o2 Jed| L|u|H|f|a ~ _
S08K-SDZCLO7 S08K-SDZCRO7 14 8 125 | 28 7 8.2 | 10° S12M-SSKCR09 S12M-SSKCL09 16 12 | 150 | 30 11 | 8.2 12
S10K-SDZCLO7 S10K-SDZCRO7 15 10 | 125 | 30 9 8 10° S14N-SSKCR09 S14N-SSKCL09 18 14 | 160 | 35 13 9 10 M4 X8
S12M-SDZCLO7 S12M-SDZCRO7 18 | 12 [150| 30 | 11 | 9.5 | 10° S16Q-SSKCR09 S16Q-SSKCLO9 21 | 16 | 180 | 35 |14.8|105| 8 | SCCICJ09T3CIC] T15
DCI[J0702] M2.5X6 T8
S14N-SDZCLO7 S14N-SDZCRO7 20 14 | 160 | 30 13 |10.5] 10° S20R-SSKCR09 S20R-SSKCL09 25 20 | 200 | 40 |18.6 |12.5 8
M4 10
S$16Q-SDZCL07 S16Q-SDZCRO7 22 16 | 180 | 40 |14.8 |115| 8° S$25S-SSKCR09 S25S-SSKCL09 29 25 | 250 | 40 23 [ 145 6
S20R-SDZCLO7 S20R-SDZCRO7 26 20 | 200 | 40 |18.6| 14 8°
$16Q-SDzCL11 S16Q-SDZCR11 22 16 | 180 | 40 |14.8 | 12 8°
S20R-SDZCL11 S20R-SDZCR11 27 20 | 200 | 40 |18.6|145| 8°
S$25S-SDZCL11 S$25S-SDZCR11 32 25 | 250 | 45 23 |175| 6°
DCOI11T30O M4X10 T15
S32T-SDZCL11 S32T-SDZCR11 40 | 32 300 50 | 30 215/ 6°
S40T-SDZCL11 S40T-SDZCR11 48 | 40 | 300| 50 | 37 |255] 6°
S50V-SDZCL11 S50V-SDZCR11 59 | 50 | 400 | 50 | 47 | 32 | 6°
W087 [l 088



RFLZETIEESTT

SCREW TYPE INTERAL TURNING TOOL

® ®
VKPLD 5037080 V(PLD

0° 5 -
A= Ty - y |y -
;' Lo 2 T E—
) | a5 & -
% <Dd—/
- L1 -
A ) A
?EL | ;L
. . w | R | s IRE
= < A 1= < DH- ﬂg_ REL
FlEModel R~Size (mm) JJh& Blade 184 Screw | #RFWrench FlEModel R~Size (mm) Biade | Screw | Blade | Screw .
7] Left A7] Right ® lod| L || H f a @ ~ i 7] Left 47] Right P lod!l Ll bl K| f a A A —all
Dmin (= Dmin co | pe [+
$12M-SSSCR09 S12M-SSSCLO9 17 | 12 |150] 30 |11 9 | 12 SO8K-STFCIL09 SO8K-STFLIROS | 10 | 7 |125| 23| 7 | 5 | 12°| 10° M2.5X5 M2.5X5
TCOO
S14N-SSSCR09 S14N-SSSCLO9 20 | 14 | 160 | 35 | 13 |105/| 8 M4X 8 S10K-STFCILO9 SI0K-STFLIR09 | 12 | 10 [125| 24| 9 | 6 | 10°| 6 | 9op2)0] -
T8
S16Q-SSSCRO9 $16Q-SSSCLO9 22 | 16 | 180 35 |14.8|115| 8 S12M-STFILO9 S12M-STFCIR09 | 14 | 12 |150| 24 | 11| 7 | 8 | ¢° M2.5X6 | 0902001 M2.5x6
SCO09T300] T15
S20R-SSSCR09 S20R-SSSCLO9 26 | 20 | 200 | 40 |186|135/| 8 S14N-STFIL09 S14N-STFCIRO9 | 16 | 14 | 160| 27 | 13| 8 | 4° | 4°
$255-SSSCR09 $255-SSSCLOY 32 | 25 | 250 40 | 23 | 17 | 8 M4X 10 S10K-STF(IL11 SIO0K-STFOIR11 | 12 | 10 | 125| 24 | 7 | 6 | 10°| 10°
S$32T-SSSCRO9 $32T-SSSCL09 40 | 32 |300| 45 | 30 [215| 4 S12M-STFCIL11 SI2M-STFCR11 | 14 | 12 |125| 24 | 11 | 7 | 10°] &°
$255-SSSCR12 $255-SSSCL12 32 | 25 | 250 40 | 23 | 17 | 8 S14N-STFLIL11 S14N-STFCIR11 | 16 | 14 | 150| 27 | 13| 8 | 6° | 4° M3X6
scO0120400 M5X 12 T20
$32T-SSSCR12 $32T-SSSCL12 40 | 32 | 300 45 | 30 [215| 4 S16Q-STFOIL11 S16Q-STFCIR11 | 19 | 16 | 160| 30 |14.8| 95| 6° | 4°
S18Q-STF(IL11 S18Q-STFLIR1L | 21 | 18 | 125| 30 |16.610.5 4° | 4° | TCOO | o oo o | TPODI T8
1102001 : 110301071
S20R-STFCIL11 S20R-STFCIR11 | 23 | 20 | 125/| 35 |18.6|11.5| 4° | 4°
$25S5-STFOIL11 S25S-STFLIR1L | 28 | 25 | 150| 40 | 23 | 14 | 4° | 2°
M3X8
S32T-STFOL11 S32T-STFCIR11 | 35 | 32 | 160| 40 | 30 | 18 | 2° | 2°
S40T-STFOL11 S40T-STFLIR1L | 45 | 40 | 300| 45 | 37 | 24 | 2°| 2°
$16Q-STFCL16 S16Q-STFCR16 | 19 | 16 | 180| 30 |14.8| 9.5| €°
M4X 8
518Q-STFCL16 S18Q-STFCR16 | 21 | 18 | 180| 30 |16.6|10.5| €°
S20R-STFCL16 S20R-STFCR16 | 23 | 20 | 200| 35 |18.6|11.5| 6°
TCOO « % 15
$25S5-STFCL16 S25S-STFCR16 | 28 | 25 | 250| 40 | 23 | 14 | 4° 1673000
S32T-STFCL16 S32T-STFCR16 37 | 32 [300] 40 | 30 | 20 | 4° M4x10
S40T-STFCL16 S40T-STFCR16 | 45 | 40 | 300| 45 | 37 | 24 | 2°
W089 W 090




NFLZET]I2ETI0

SCREW TYPE INTERAL TURNING TOOL

® ®
V(PLD 5337080 KPLD

Dmin
0° [ . -
.............. P~ L ;—ﬁ
L = -
H
. . — i
— “—y 95° : ' e ) —
Z N d>d—/
L1
- -
W L L W
7] 7]
HIEModel R~JSize (mm) J1F Blade 1222 Screw | #®FWrench A= Model R~fSize (mm) 71K Blade 1822 Screw | #®RFWrench
Left Right 0] o e ~— _— g i 0} o A — ;[
7] A7) Rig bmin | ®d | L [ L | H | f |« ==, ‘ﬂ 7] Left A7J] Right omin | ®d| L | L H | f|a ~§;
S16Q-STFNL16 S16Q-STFNR16 19 | 16 (180 | 31 |148| 9 |17° S0805K-STUBLOG S0805K-STUBRO6 7 8 |125] 18 | 7 |32 15°
S20R-STFNL16 S20R-STFNR16 22.5 20 | 200 | 30 |18.6 |11.5| 15 TNCIC11604000) M3.5% 13.5T 15 S0806K-STUBLOG S0806K-STUBROG 3 3 125 | 20 7 35 | 12°
$25S-STFNL16 $255-STFNR16 29 | 25 (250 | 30 | 23 | 14 | 15°
S1006K-STUBLO6 S1006K-STUBRO6 8 10 [125| 20 | 9 | 35| 12°
S32T-STFNL16 S32T-STFNR16 37 32 | 300 | 30 30 18 | 15°
S1206K-STUBLO6 S1206K-STUBR06 8 12 | 125| 20 | 11 | 35 | 12°| TBGT060102 M2X4 T6
S1207K-STUBLO6 S1207K-STUBRO6 9 12 |125| 20 | 11 | 4 | 12°
Dmin
S1606K-STUBLO6 S1606K-STUBR06 8 16 | 125| 20 |14.8 | 3.5 | 12°
STFDD ; S1607K-STUBLO6 S1607K-STUBRO6 9 16 | 125| 20 | 148 | 4 | 12°
________ 0 | A— —*
H
e .
" A LA _/ -
A L1 od
-
L
. 74 RF
15Model ~J'Size (mm Blade iR
2S RY (i) 2 Screw Wrench
aO
Left Right o A ~ -
)| #7] Rig i ©d | L[| H A T =
S08K-STFCL09-A16 S08K-STFCR09-A16 10 16 | 125 | 23 |148| 5 91° | 14° TCcO0902000 M2.5X5
S10K-STFCL11-A16 S10K-STFCR11-Al6 12 16 | 125 | 25 |(148| 6 91° | 12°
TCOO1102000 | M2.5%6 T8
S12M-STFCL11-Al16 | S12M-STFCR11-Al6 | 14 | 16 | 150 | 32 [14.8 | 7 |91° | 10°
S08K-STUPL09-A16 S08K-STUPR09-A16 10 16 | 125 | 25 |(148| 5 95° 10° | TPIJ[J0902[1] M2.5X5
091 [l 092



A
fL
%
7]

WO093

V.PLD

RFLETIESTT

SCREW TYPE INTERAL TURNING TOOL

NFLETIEEETT

SCREW TYPE INTERAL TURNING TOOL

V.PLD

STUCO

0°

#lEModel R~fSize (mm) 71k Blade 18222 Screw | I®RFWrench
Lef Righ o . e~ — .
7] Left 7] Right o2 led| L H|f|a p— -0
$16Q-STUNL16 S16Q-STUNR16 19 | 16 | 180 | 31 |14.8| 9 |17
S20R-STUNL16 S20R-STUNR16 215 20 | 200 | 30 |18.6| 12 | 15°
TNO[J16040000 | M3.5X13.5T T15
S25S-STUNL16 S25S-STUNR16 29 25 | 250 | 30 23 14 | 15°
S32T-STUNL16 S32T-STUNR16 38 32 | 300 | 30 30 20 | 15°

. TR 1242 R 1297 RF
= < REL
ESModel RJSize (mm) Blade Screw | Blade | Screw | Wrench
a®
7E7] Left 7] Right ® lod| L b | H|f A ~ A ~ —f-
Dmin C P .
S08K-STULILO9 S08K-STULIR09 108 |125(23 | 7| 5 | 12°] 10° M2.5X5 M2.5X5
S10K-STULILO9 S10K-STULIR09 12 (10 [125(24 | 9 | 6 | 10°| 6° | Tcr0] TPOO
09020101 090200 T8
S12M-STULJL09 S12M-STULJR09 14 |12 [150| 24 | 11| 7 | 8 | 6° M2.5%6 M2.5X 6
S14N-STULILO9 S14N-STULIR09 16 |14 |160 |27 | 13| 8 | 4°| 4°
S10K-STULIL11 S10K-STULIR11 12 |10 |125]24 | 7| 6 | 10°] 10°
S12M-STULJL11 S12M-STULIR11 14 |12 |125|24 | 11| 7 | 10°| &
S14N-STUCIL1L S14N-STUCIR1L 16 |14 |150 |27 | 13| 8 | 6° | 4° M3.0x6
S16Q-STULIL1L S16Q-STULIR11 19 |16 |160 | 30 |14.8 95| 6° | 4°
S18Q-STULIL1L S18Q-STULIR11 21 |18 |125|30 |16.6/10.5| 4° | 4° | TCOO | masxe | TPOD T8
11020007 11030107
S20R-STULIL1L S20R-STULIR11 23 |20 [125| 35 |18.6/11.5| 4° | 4°
$25S-STULIL1L $25S5-STULIR11 28 |25 |150 | 40 | 23| 14 | 4° | 2°
M3.0X8
S32T-STULIL11 S32T-STULIR1L 35 |32 [160 | 40 | 30| 18 | 2° | 2°
S40T-STUCIL11 S40T-STULIR11L 45 |40 [300 |45 | 37| 24 | 2°| 2°
S16Q-STULIL16 S16Q-STULIR16 19 |16 |180| 30 |14.8 95| 6° M4 X8
S18Q-STULIL16 S18Q-STULIR16 21 |18 |180 | 30 |16.6/10.5| 6°
S20R-STULIL16 S20R-STULIR16 23 |20 [200 | 35 |18.6/11.5| 6°
TCOO X X T15
$25S-STUCIL16 $25S-STULJR16 28 |25 |250 | 40 | 23| 14 | 4° 16730000 | max10
S32T-STULIL16 S32T-STULIR16 37 |32 [300|40 | 30| 20 | 4°
S40T-STULIL16 S40T-STULIR16 45 |40 300 | 45 | 37| 24 | 2°

4

094



NFLZETIEESTT

SCREW TYPE INTERAL TURNING TOOL

® ®
V(PLD 5037080 KPLD

WO095

Dmin B
Ry
7]
FlEModel R~}Size (mm) JJ5 Blade 1842 Screw | #RFWrench #EModel R~ Size (mm) JJ5 Blade 1842 Screw | 3#xFWrench
i @ o ~ —_ - Left Right M A ~ —_ -
7] Left 4A7] Right omn | @4 L[ L H | f |« A 'g 7] A7] Rig bmin | @4 L | L[ H|f e = 'g
S10K-STQCL11 S10K-STQCR11 14 | 10 |125) 23 | 9 | 7 | 12° S08K-STWCLO09 S08K-STWCR09 13 | 8 |125] 23| 7 |65 12°
S12M-STQCL11 S12M-STQCR11 16 | 12 | 150 | 24 | 11 | 8 | 10° S10K-STWCLO09 S10K-STWCR09 15 | 10 | 125| 24 | 9 | 75| 10°
TCO1102000 M2.5X6 T8 TCI[10902010] M2.5X5 T8
S14N-STQCL11 S14N-STQCR11 18 | 14 | 160 | 24 | 13 | 9 | 6° S12M-STWCL09 S12M-STWCR09 17 | 12 |150| 24 | 11 | 85| 6°
S16Q-STQCL11 S16Q-STQCR11 20 | 16 | 180 | 27 |148| 10 | 6° S14N-STWCLO09 S14N-STWCR09 19 | 14 | 160| 27 | 13 | 95| 6°
S16Q-STWCL16 S16Q-STWCR16 22 | 16 | 125| 35 |186] 12 | 6°
Dmin : S20R-STWCL16 S20R-STWCR16 26 | 20 | 150 | 40 | 23 | 14 | 6° TcOb1eT3In M4x10 T15
STQN ] N $25S5-STWCL16 $255-STWCR16 32 | 25 |160| 40 | 30 | 17 | 4°
6 )
- i . : S10K-STWLIR1L S10K-STWLIL1L 15 | 10 |125| 24 | 7 | 8 |12°| &
| — S12M-STWLIR11 S12M-STWCIL11 17 | 12 |125| 24 | 11| 9 | 8 | &
- L || TCOD10200 | M2.5%6 T8
" S14N-STWLIR11 S14N-STWCIL11 19 | 14 [ 150| 27 | 13 | 10 | 6° | 4 | Tpy1103000) M3X6
— — i S16Q-STWLIR1L S16Q-STWLIL11 21 | 16 | 160| 30 |14.8| 11 | 6° | 2°
| " mnq
o - ~] 105" 7, — S20R-STWLIR11 S20R-STWLIL11 25 | 20 | 125| 30 |16.6| 13 | 4° | 2°
\\, ./ 105 od _/
L1
L
FlEModel R~FSize (mm) 71K Blade w822 Screw | #xFWrench
7] Left A7] Right Drﬁin od| L | Lt | H | f | A WE:&E - “!; '
S16Q-STQNL16 S16Q-STQNR16 20 | 16 | 180 | 26 |14.8 |10.5| 17°
S18Q-STQNL16 S18Q-STQNR16 22 | 18 | 180 | 28 |16.6| 12 | 15° | TNOJJ16040J0] | M3.5X13.5T T15
S20R-STQNL16 S20R-STQNR16 24 | 20 | 200| 28 186 13 | 15°

096



N
fL
%
7]

W097

V.PLD

RFLETIESTI

SCREW TYPE INTERAL TURNING TOOL

NFLETIEEST

SCREW TYPE INTERAL TURNING TOOL

V.PLD

STWOLOI-A

Dmin

— -

L -
L
1

A= Model R~JSize (mm) JJ5 Blade 1842 Screw | IRFWrench
7] Left 47] Right D::in od| L | L1 | H f a© A %B —=~EL-—
$16Q-STLNL16 $16Q-STLNR16 21 16 | 180 | 26 |14.8|11.5]| 15°
S18Q-STLNL16 S18Q-STLNR16 23 18 | 180 | 28 |16.6 | 12.5| 15° | TNJ[J16041[] M3.5X13.5T T15
S20R-STLNL16 S20R-STLNR16 25 20 | 200 | 28 |18.6|13.5| 15°

STWNO

E
S “! 60°

S Model R~FSize (mm) J1F Blade 1222 Screw | #{xFWrench
7] Left A7 Right ® lod| L |wu | H|f|cfep A ~ —g-gx—
Dmin
SO08K-STWCL09-A16 | SO8K-STWCR09-A16 | 12 | 16 | 125 | 23 |14.8| 6.5 | 13° TCOI0902000]
M2.5X5
S08K-STWPL09-A20 | SO8K-STWPR09-A20 12 20 | 125 | 21 |18.6 | 6.5 12° | TPI09020
S10K-STWCL11-Al6 | SIOK-STWCR11-Al6 14 16 [ 125 | 30 |148| 8 12° T8
S10K-STWCL11-A20 | SI0K-STWCR11-A20 | 14 | 20 | 125 | 30 |186| 8 | 12° TCOO1102000 M2.5X6
S12M-STWCL11-Al16 | S12M-STWCR11-Al6 17 16 | 150 | 35 [14.8 | 10 10°
Dmin

A5 Model R~} Size (mm) JJ5 Blade 1842 Screw | #{RFEWrench
: ) . - _._ﬁ-.gp
7] Left A7] Right bmin | ®d| L | L | H | f la A %a
S16Q-STWNL16 S16Q-STWNR16 22 | 16 | 180 | 31 |148| 12 |17°
S20R-STWNL16 S20R-STWNR16 26 20 | 200 | 30 |18.6 | 14 | 15° | TN[J[J1604L1(] | M3.5X13.5T T15
$255-STWNL16 $25S-STWNR16 31 | 25 |250| 30 | 23 | 17 | 12°

i)

098




NFLZETEESTT

SCREW TYPE INTERAL TURNING TOOL

® ®
V(PLD 557805 V(PLD

7 A -
-
-
7] 7]
Fl5Model R~ Size (mm) JJ5 Blade 1842 Screw | #xFWrench #l5Model R~ Size (mm) JJ5 Blade 1842 Screw | #xFWrench
£7] Left #7] Right o - - f h o « '
g omin | @4 L | L | H | f B‘C ~ . 7] Left A7 Right omin | @] L | L | f T ~ ~7ﬁ
S08K-SVJOIL11 S08K-SVJIR11 11 | 8 [125| 20| 7 | 5 | 14° $16Q-SVQIIL11 S16Q-SVQIIR11 22 | 16 | 180 | 34 |14.8 |115| 8
S10K-SVJOILLL S10K-SVJCIR11 13 | 10|15 25] 9 |6 |12 S20R-SVQIILLL S20R-SVQLIR11 26 | 20 |200| 38 |186| 14 | 6° xgggﬂgggg M2.5X6 T8
S12M-SVJ[IL11 S12M-SVJ[IR11 15 | 12 150 | 28 | 11 | 7 | 10° S$25S-SVQLIL11 S25S-SVQLIR11 31 | 25 /25| 50 | 23 | 16 | 4°
e, e 17 |12 l0l 35| 13|38l e PR S20R-SVQLIL16 S20R-SVQLIR16 26 | 20 | 200| 50 |186| 14 | 8
M2.5X6 T8 $255-SVQUIL16 $255-SVQLIR16 32 | 25 250 | 50 | 23 | 17 | 6°
$16Q-SVJCIL11 $16Q-SVJLIR11 19 | 16 | 180 | 40 |148| 9 | e | VBLLI1103LL ve160400] MAX 10 15
S32T-SVQLIL16 S32T-SVQLIR16 39 32 300 50 | 30 | 21 | 4° | VBOIJ1604C1C]
S18Q-SVJOIL1L S18Q-SVJIR11 215 | 18 | 180 | 40 |16.6|105| 6°
S40T-SVQLIL16 S40T-SVQIR16 48 | 40 | 300| 60 | 37 | 26 | 4°
S20R-SVJOIL11 S20R-SVJJR11 235 | 20 | 200 | 45 |18.6|11.5| 6°
$255-SVJOIL11 $25S-SVJOIR11 285 | 25 | 250 | 50 | 23 | 14 | 4°
$16Q-SVJOIL16 S16Q-SVJCIR16 195 | 16 | 180 | 40 |14.8| 95 | 6° M3.5X9
S20R-SVJIL16 S20R-SVJ[IR16 235 | 20 | 200 | 50 |18.6|11.5| 6°
$255-SVJCIL16 $255-SVJIR16 29 | 25 |250| 50 | 23 |14.5| 4° | vcOO1604000] s
VB[J1604010] M4 X 10
S$32T-SVJOIL16 S32T-SVJCIR16 38 | 32(300| 60 | 30 | 20 | 2°
S40T-SVJOIL16 S40T-SVJCIR16 46 | 40 | 300| 60 | 37 | 24 | 2°
W099 100



V.PLD

RFLZETIESTT

SCREW TYPE INTERAL TURNING TOOL

NFLZETIIRETIU

SCREW TYPE INTERAL TURNING TOOL

V.PLD

Dmin B
0° l S .
= -
b ] —— —
: ] pom——— —_—
Y 950/7 - _/-
:21 L1 &d
-
7] 7]
#IEModel R~fSize (mm) 71K Blade 18222 Screw | I®RFWrench Fl5Model R~fSize (mm) J1H Blade 1822 Screw | #xFWrench

Left Right ® * | — el Lef Righ ® T A —_— -
7 A7] Rig omin | @4 L | L | H | f FG ﬁ-i 7] Left A7] Right omin | @4 L | L | H | f T ﬁ-%
S16Q-SVULIL11 S16Q-SVULIR11 24 | 16 | 180 | 34 |148| 14 | 8 S16Q-SVWLIL11 S16Q-SVWLIR11 24 | 16 | 180 | 21 |148| 14 | 8&°

veOo110300
$18Q-SVULIL11 S18Q-SVULIR11 25 | 18 | 180 | 38 |166| 14 | 6° 0 S20R-SVWLIL11 S20R-SVWLIR11 28 | 20 (200 38 |186| 16 | 8 | yROI1103000) M2.5X6 T8
VELIII03LIE) | s 5 8
S20R-SVU[IL11 S20R-SVULIR11 26 | 20 | 200 | 50 |18.6| 14 | e° | VBOILI11030I0] $25S-SVWCIL11 $255-SVWLIR11 35 | 25 | 250 33 | 23 | 20 | 6°
$25S5-SVUJL11 $25S-SVULIR11 32 | 25 | 250 | 50 | 23 | 17 | 6° S20R-SVWLIL16 S20R-SVWLIR16 33 | 20 | 200 33 |186| 21 | 8&°
$16Q-SVUCIL16 S16Q-SVULIR16 31 | 16 | 180 | 35 |14.8| 21 | 8&° $25S-SVWLIL16 $255-SVWLIR16 37 | 25 | 250 38 | 23 | 22 | 6 xgg%ggzgg M4X 10 T15
S20R-SVU[IL16 S20R-SVULIR16 31 | 20 | 200| 50 |186| 19 | 8° S32T-SVWLIL16 S32T-SVWLIR16 43 | 32 |300| 41 | 30 [245]| 4°
$255-SVULIL16 $25S-SVULIR16 35 | 25 | 250 | 50 | 23 | 20 | 6°
CDSOD | w0 | s
S32T-SVULIL16 S32T-SVULIR16 38 | 25 [ 300 50 | 30 | 23 | 4°
S40T-SVULIL16 S40T-SVULIR16 48 | 40 | 300 | 55 | 37 | 26 | 4°
S50V-SVU[IL16 S50V-SVULIR16 59 | 50 | 400 | 65 | 47 | 32 | 2°
W01 102




NFLZETII2ETI0

SCREW TYPE INTERAL TURNING TOOL

RFLETIESTI

SCREW TYPE INTERAL TURNING TOOL

V.PLD V.PLD

h : > Dmm / E
0° M N B ?_ﬁ-# aﬁ
_ y |
I mnq
Y— e - ——  —— —
AN 4
L dd
-
L
ﬁ L ﬁ
7] 7]
A= Model R~FSize (mm) JJH Blade 1844 Screw | #RFEWrench #EModel R Size (mm) JJ5 Blade 1222 Screw | #iRFWrench
Lef Righ ® T O R Left Right > . @«
7] Left A7] Right omin | @4 L | L | H | f FlE ﬁ“ﬁ' 7] 7] Rig omin | @4 L | L | H | f T ﬂ-ﬁ-
SO8K-SVXCIL11 S08K-SVXIR11 115 | 8 |125| 22 | 7 |55 14° S16Q-SVZOIL11 $16Q-SVZLIR11 24 | 16 | 180 | 34 |148| 14 | 8 | yerr1103000] P -
5%
S10K-SVX[IL11 S10K-SVX[IR11 135 | 10 [ 125| 25 | 9 | 65 | 12° S20R-SVZ[LIL11 S20R-SVZLIR11 26 | 20 [200] 38 |186| 14 | e | VBLIHLI03LLI
S12M-SVXCILLL S12M-SVXCIR11 15 |12 (150 28 | 11| 7 | g $255-SVZIL16 $255-SVZIR16 35 | 25250 | 50 | 23 | 20 | 6°
vcojoiiio3tin $32T-SVZ[IL16 $32T-SVZLIR16 39 | 25 |300| 50 | 30 | 24 | 4 | V160400 M4 %10 T15
S14N-SVX[IL11 S14N-SVXIR11 175 | 14 | 160 | 40 | 13 | 85 | 6° | vBOO110300 | M25%6 i VBLII1604010)
S40T-SVZ[L16 S40T-SVZ[JR16 42 | 25 /300 60 | 37 | 27 | &°
S16Q-SVX[L11 S16Q-SVXIR11 195 | 16 | 180 | 40 |14.8| 95 | 6°
S20R-SVX[IL11 S20R-SVX[IR11 24 | 20 | 200 | 45 |186| 12 | 6°
Dmin it
$255-SVXIL11 $255-SVXIR11 29 | 25 | 250 | 45 | 23 |[145| 4° SWLNLI N
S16Q-SVX[IL16 S16Q-SVXIR16 195 | 16 | 180 | 40 |14.8| 95 | 6° M3.5%9 % i /""‘ i
S20R-SVX[IL16 S20R-SVXIR16 24 | 20 | 200 40 |186| 12 | 6 v
. | veOOd1604000)
$255-SVX[IL16 $255-SVXIR16 29 | 25250 | 45 | 23 |145| 4 | \gr1e04r)0) T15
X
S32T-SVX[CIL16 S32T-SVX[IR16 38 | 32 /300] 50 | 30|20 | 2 M4 10 _
S40T-SVXCIL16 S40T-SVXCIR16 46 | 40 | 300 | 55 | 37 | 24 | 2° E s
: 95°
#lEModel R~}Size (mm) JJ5 Blade 18244 Screw | #{RFWrench
. [0} o -— —_ -
=77 Left 7] Right omin | @4 L | L | H | f|a & We::mg *ﬁ-
S16Q-SWLNLOG6 $16Q-SWLNRO6 195 | 16 | 180 | 25 |14.8 |10.5| 16°
WNIJ06040007 | M3.5X13.5T T15
S20R-SWLNLO06 S20R-SWLNR06 23 | 20 | 200 | 28 |186| 12 | 15°
S16Q-SWLNLOS S16Q-SWLNRO8 20 | 16 | 180 | 31 |14.8 105/ 17°
S20R-SWLNLOS S20R-SWLNRO8 25 | 20 | 200 | 30 |18.6| 12 | 15° | WNLCICJ0804LIC] | M4.5X 14W T20
$25S-SWLNLOS $25S-SWLNRO8 29 | 25250 | 30 | 23 |145] 12°
l103 W04




A
FL
%
7]

105

V.PLD

RFLETIEST

SCREW TYPE INTERAL TURNING TOOL

NFLZETIIRETIU

SCREW TYPE INTERAL TURNING TOOL

V.PLD

SWLCO

SWUBL]

Dmin

il
7
-
L
A5 Model R~FSize (mm) J1H Blade 8% Screw | 3#RFWrench
7] Left 7] Right Dﬁin od| L | L |H|f | A ~ — 'T%
SO8K-SWLCL04 S08K-SWLCR04 11 8 |125| 25 | 7 | 5 | 12°
S10K-SWLCL04 S10K-SWLCRO04 13 | 10 [125/30 | 9 | 6 | 10°
wcJ0402000] M2.5X 6
S12M-SWLCLO4 S12M-SWLCR04 15 | 12 |150| 37 |11 | 7 | 8°
S16Q-SWLCLO4 S16Q-SWLCRO04 19 | 16 [180| 40 [148| 9 | 6° T8
S10K-SWLCLO5 S10K-SWLCRO5 13 | 10 125/ 30| 9 | 6 | 12° M3X6
S12M-SWLCLO5 S12M-SWLCR05 15 | 12 (150 | 37 | 11 | 7 | 8° | WCLILI0503[]L] vax
S16Q-SWLCLO5 S16Q-SWLCRO5 19 | 16 [ 180| 40 |148| 9 | 6°
S16Q-SWLCLO6 S16Q-SWLCRO06 20 | 16 | 180 | 40 |14.8|105| 9°
S20R-SWLCLO6 S20R-SWLCRO06 23 | 20 | 200 | 40 |18.6|115 | 6° | WCCIJ06T3IC] M3.5X9
$25S-SWLCLO6 S$25S-SWLCRO06 29 | 25 (250 | 40 | 23 | 14 | &° T
$255-SWLCLO8 $25S-SWLCRO8 31 | 25 (250 | 40 | 23 | 16 | 4° | wcOosoaIO M4X 10

00 ‘; — _I‘:Y_
____________ A ﬁ
- U=
H
‘ —_— | T o __ﬁmu
7 od /!
L1
-
A5 Model R~FSize (mm) J1H Blade B4 Screw | 3#RFWrench
; o . — .
7] Left 7] Right o2 lod| L L H|f|a ﬁ ~ &
S0805K-SWUBLO06 S0805K-SWUBRO6 7 8 | 125 | 16 7 3 17°
S0806K-SWUBL06 S0806K-SWUBRO6 8 8 | 125 | 20 7 3.5 | 15°
S1005K-SWUBLO6 S1005K-SWUBRO6 7 10 | 125 | 16 9 3 17°
S1006K-SWUBL06 S1006K-SWUBRO6 8 10 | 125 | 20 9 3.5 | 15°
S1205K-SWUBLO6 S1205K-SWUBRO6 7 12 | 125 | 16 11 3 17°
WBGT060102 M2 X4 T6
S1206K-SWUBLO6 S1206K-SWUBRO6 8 12 | 125 | 20 11 | 35 | 15°
S1207K-SWUBLO6 S1207K-SWUBRO6 9 12 | 125 | 20 11 4 15°
S1605K-SWUBLO6 S1605K-SWUBRO6 7 16 | 125 | 18 | 148 | 3 17°
S1606K-SWUBLO6 S1606K-SWUBRO6 8 16 | 125 | 20 |14.8| 3.5 | 15°
S1607K-SWUBLO6 S1607K-SWUBRO6 9 16 | 125 | 20 | 148 | 4 15°

4

106



£

R e T

o
=

IMNEIZET)

EXTERNAL TURNING TOOLS

V.PLD

M L R||25||25|| M| |12
L 3 5 6 7 8 9
1 B3 271 K gk JTHIE RS E s
g \ C A B C 90° | D E
80°
\ 9o¢’tlj 7% 45"\/@ GOX/Q
P o | G 75°
CHM R 3k FA™N H J K [N
910\ % gsﬁ\
99; R 107° 30’
Q - \950 M N O _s7ra| P
\ 50\ 63\ \ \
ME & B S 95 62° 30
Q_ a0 | R S T U \“
107° 30
i T \ 75&& 45&/@ 60\@
i/ j60°
PALHT & %2 v w [ | x Nzo"
\Y .
. 72° 3% 8] HK &
ED RrRE KE
E 70
" F 80
SEFTHE o ZLES TS IR H | 100
< @] |o M 150
I I P 170
ﬁbﬁ‘??ﬂ;fﬁ%ﬁ( . .y . Q 180
] : h=8mm Fr K08 5 : b=8mm. b7 }08
4J] 5 S5 5 7 R 200
S 250
B | & R T 300
C 7° -
CUIEIPIES
D 15° L
C 3 D R
| || [E[ e
N 0° N — T i
S T -l v w
e [T e s e

PES AP

S HE

002



S EDE

WO003

V.PLD

MCBNL]

PMRENEST

COMPOSITE EXTERNAL TURNING TOOL

IRETNEST

COMPOSITE EXTERNAL TURNING TOOL

V.PLD

i 5 i | IRE | OER | DSk iR

= S alay VAL:2 '

ESModel RSP ) Blade | Shim |Center Pin Wrench| Platen| R24ble | \wrench
%) Left wnrgnt nibinirlL B O |y DN A N DN

MCFNL2020K12 | MCFNR2020K12 |20 |20 | 20|25 | 125

MCFNL2525M12 | MCFNR2525M12 |25 |25 |25 (32 | 150 | cNOO MC1204 | CTM617 L3 |HL1813 | MLO625 L3

12040000

MCFNL3232P12 | MCFNR3232P12 |32 | 323240 | 170

MCFNL3232P16 | MCFNR3232P16 |32 |32 |32 (40| 170 SNGS | mcieos | cTmos22 13 | HL2217 | ML0830 L4

MCFNL3232P19 MCFNR3232P19 |32 [32|32 40| 170 %‘O%ED MC1904 | CTM1022 L4 |HL2217 | MLO830 L4

e
L
N\ A S
ESModel RS (i) I37Ija)je 5731%1 Cef’él;\r%%in W*chh PEEn %ﬁ’ﬁ? W*zfch
%7] Left wnrgnt | nibonir L BY | O e DN A BN NN
MCBNL1616H12 | MCBNR1616H12 | 16| 16| 16 |13.5 100
MCBNL2020K12 | MCBNR2020K12 | 20| 20| 20| 17 | 125
MCBNL2525M12 | MCBNR2525M12 | 25| 25| 25| 22 | 150 gﬁgm MC1204 | CTM617 L3 |HL1813 | ML0625 L3
MCBNL3232P12 | MCBNR3232P12 |32 32|32 29 | 170
MCBNL4040R12 | MCBNR4040R12 | 40| 40| 40 | 37 | 200
MCBNL2525M16 | MCBNR2525M16 | 25| 25| 25| 22 | 150
MCBNL3232P16 | MCBNR3232P16 |32 32|32 29 | 170 %“OESD MC1604 | CTM0822 | L3  |HL2217 | MLO830 L4
MCBNL4040R16 | MCBNR4040R16 |40 | 40| 40 | 37 | 200
MCBNL3232P19 | MCBNR3232P19 |32 32| 32| 28 |170| _
MCBNL4OAORIS | MCBNRA040RIS |40 | 40| 40| 36 | 200| 19060001 | MC190% | CTMI022 L | MLos0 H
RSize (mm) yalay PRk TIEAZET [EAR [EARIZET RF
Blade Shim Shim Screw | Platen |Platen Screw | Wrench
FlEModel .
h|ib|L|L|H|F u @ , ’ / I'\\
DCBNR/L2020K12 2020|125 |32|20 17
DCBNR/L2525M12 2525150 |32|25(22| CNOO120400 | MC1204 D6X 10 D5260 DM5X21 L3
DCBNR/L3232P12 3232|170 32|32 27

S EE

W 004



IRENEST

COMPOSITE EXTERNAL TURNING TOOL

® ®
V(PLD 25055 PLD

S RIS

MCGNLCI MCKNCO
F o -
.- Fl o B
Eo (i 7,:,/7
e
L L
S
7]
\ & S e N
ESModel INSISTS () I;I?a\,j-e 5731%1 Cecrﬁl’;:\f%in W?‘ie?jch PEIgn X%S?}’ﬁt% Wizih ESModel IRSI7S (i) leja)c:ill-e S]EI%Y‘I Ceq:é%\f%in W*E:azch P’I:Ta:'?gn X%séﬁ? Wizfch
FE70 Left wnright |hibH FlL| B | O s DN A \ ~. %70 Left B7Right | h|b H| F| L ﬂ ol SIaSE. \ (NN
MCGNL1616H12 MCGNR1616H12 |16 |16 | 16 | 20 | 100 MCKNL1616H12 MCKNR1616H12 |16 | 16 | 16 | 20 | 100
MCGNL2020K12 MCGNR2020K12 |20 |20 |20 |25 | 125 MCKNL2020K12 MCKNR2020K12 |20 |20 | 20 |25 | 125
MCGNL2525M12 MCGNR2525M12 |25 |25 | 25 |32 | 150 S‘OESD MC1204 | CTM617 MLO625 13 MCKNL2525M12 MCKNR2525M12 |25 |25 | 25 |32 | 150 %\IOESD MC1204 | CTM617 L3 | HL1813 | ML0625 L3
MCGNL3232P12 MCGNR3232P12 |32 32|32 |40 | 170 MCKNL3232P12 MCKNR3232P12 |32 |32 |32 |40 | 170
MCGNL4040R12 MCGNR4040R12 |40 |40 | 40 | 50 | 200 MCKNL4040R12 MCKNR4040R12 |40 | 40 | 40 | 50 | 200
MCGNL2525M16 MCGNR2525M16 |25 | 25 | 25 |32 | 150 MCKNL2525M16 MCKNR2525M16 |25 |25 | 25 |32 | 150
MCGNL3232P16 MCGNR3232P16 |32 |32 |32 |40 | 170 f?oggg MC1604 | CTM0822 MLO830 L4 MCKNL3232P16 MCKNR3232P16 |32 |32 |32 |40 | 170 ggoESD MC1604 | CTM0822 L3 | HL2217 | ML0830 L4
MCGNL4040R16 MCGNR4040R16 |40 |40 | 40 | 50 | 200 MCKNL4040R16 MCKNR4040R16 |40 | 40 | 40 | 50 | 200
MCGNL2525M19 MCGNR2525M19 |25 |25 | 25 |32 | 150 MCKNL3232P19 MCKNR3232P19 |32 |32 |32 |40 | 170 | ~\i0
MC1904 | CTM1022 L4 | HL2217 | MLO830 L4
MCGNL3232P19 MCGNR3232P19 (32 |32 |32 (40 | 170 %ESD MC1904 | CTM1022 L4 | HL2217 | ML0830 L4 MCKNL4040R19 MCKNR4040R1S |40 |40 | 40 |50 | 200 | 190650
MCGNL4040R19 MCGNR4040R19 |40 |40 | 40 | 50 | 200
R~fSize (mm) YAl pAL:S TIBUZET EHR [EARAZET RF
Blade Shim Shim Screw | Platen | Platen Screw| Wrench
FEModel :
i L|unlr] B @} ’ ' P I N
DCKNR/L2020K12 2020|125 |32 (2025
DCKNR/L2525M12 25 125|150 | 3225 (32| CNIJ12040107 MC1204 D6X 10 D5260 DM5x%21 L3
DCKNR/L3232P12 32(32(170 323240

WO005 006



S EDE

007

V.PLD

PIRETNEST

COMPOSITE EXTERNAL TURNING TOOL

PIRETNEST

COMPOSITE EXTERNAL TURNING TOOL

MCLNO

V.PLD

- i
. F
e
=
NG N
Bt RS ) le?:re 5731%1 Cefé:\r%in V\l?zfch PEIfn X%;g‘ﬁi% W;zih
7] Left HARght | h|b|H|F|L ﬂ Cﬁ \ ™~ ﬁ \ N
MCLNL1616H12 MCLNR1616H12 16 | 16 | 16 | 20 | 100
MCLNL2020K12 MCLNR2020K12 20116 |20|25|125
MCLNL2525M12 MCLNR2525M12 | 25|16 |25 |32 | 150 g\IOE‘SD MC1204 CTM617 L3 HL1813 | ML0625 L3
MCLNL3232P12 MCLNR3232P12 32116|32|40 170
MCLNL4040R12 MCLNR4040R12 40 | 40 | 40 | 50 | 200
MCLNL2525M16 MCLNR2525M16 | 25|25 |25 |32 150
MCLNL3232P16 MCLNR3232P16 |32 |32 |32 |40 | 170 ngoESg MC1604 | CTMO0822 L3 HL2217 | ML0830 L4
MCLNL4040R16 MCLNR4040R16 40 | 40 | 40 | 50 | 200
MCLNL2525M19 MCLNR2525M19 | 25|25 |25 |32 |150
MCLNL3232P19 MCLNR3232P19 32132|32|40 170 %IOESD MC1904 CTM1022 L4 HL2217 | MLO0830 L4
MCLNL4040R19 MCLNR4040R19 40 | 40 | 40 | 50 | 200
RsfSize (mm) BJIJFT PAL:S TIBRET EHR [EHRIZET RF
ade Shim Shim Screw | Platen |Platen Screw| Wrench
BEModel .
hib| L |L|H|F u ) ‘ P ,. (N
DCLNR/L1616H12 16 |16 | 100 | 32 |100| 20
DCLNR/L2020K12 20 |20 |125 |32 |125| 25
CN[IJ12040000 MC1204 D6X10 D5260 DM5X21 L3
DCLNR/L2525M12 25 |25 |150 | 32 150| 32
DCLNR/L3232P12 3225|170 | 32 |170| 40

MCMNN o
L
RfSize mm) | JH | DE | o | RE | ER (TR g
Blade Shim |Center Pin| Wrench| Platen | <ren | Wrench
#l5Model .
JCCIISN - BEe N SIaNE. B SEAN
MCMNN1616H12 1616 |16 | 8 |100
MCMNN2020K12 20(20 (20 |10 |125
MCMNN2525M12 25|25 |25 |12.5 150 szOESD MC1204 | CTM617 L3 HL1813 | ML0625 L3
MCMNN3232P12 32(32(32|16 |170
MCMNN4040R12 40| 40 | 40 | 20 | 200
MCMNN2525M16 25|25 | 25 |12.5]150
MCMNN3232P16 321323216 |170 gyoggm MC1604 | CTM0822 L3 HL2217 | MLO0830 L4
MCMNNA4040R16 40 | 40 | 40 | 20 | 200
MCMNN3232P19 32(32(32|16 |170
CNOD MC1904 | CTM1022 L4 HL2217 | ML0830 L4
MCMNN4040R19 40| 40 | 40 | 20 200 | 19060JL]
RFSize (mm) VAl UAE:] TIBMZET EHR FEARSRET RF
Blade Shim Shim Screw | Platen |Platen Screw| Wrench
S Model
hib|L|[L|H|F u CJ ’ ' / M~
DCMNN2020K12-100 | 20| 20 |125 | 32| 20 | 10
DCMNN2525M12-100 | 25| 25 [150 | 32| 25 |12.5| CNJJ12040]C] MC1204 D6X 10 D5260 DM5X 21 L3
DCMNN3232P12-100 | 3232|170 | 32|32 | 16

S EDE

008



SR ESE

WO009

V.PLD

PMRENEST

COMPOSITE EXTERNAL TURNING TOOL

IEETNEST

COMPOSITE EXTERNAL TURNING TOOL

V.PLD

6°]
; 0
F ,
450
F &
L
= - TR R el | RFE | EiR | SCKRE | pF
y < : .
ESModel Rfsize (mm) Blade Shim |Center Pin|Wrench| Platen Dsféfg’vlve Wrench
#7] Left znrght  (hibiulrlL| B | O & O A \r\
MCSNL2020K12 MCSNR2020K12 |20 |20 |20 |25 | 125| cnrir]
T0al]0] | MC1204 | CTM617 L3 |HL1813 | ML0625 L3
MCSNL2525M12 MCSNR2525M12 25 [25|25|32 | 150

L) °
40°
L
|
RefSize mm) | JH | DER | g | RFE | ER (R R
Blade Shim | Center Pin|Wrench | Platen | <€ | Wrench
#l5Model -
h|ib|H|F|L n ol YIaSE \ ™~
MCMNN2020K12-100 20(20]20| 10 | 125
MCMNN2525M12-100 25| 25| 25| 125 | 150 CNOIO)
12040000 MC1204 | CTM617 L3 HL1813 | ML0625 L3
MCMNN3232P12-100 32(32(32] 16 | 170
MCMNN4040R12-100 40 | 40 | 40 | 20 | 200
MCMNN2525M16-100 25| 25|25 | 125 | 150
MCMNN3232P16-100 3213232 16 | 170 g_:f'i\lOESD MC1604 | CTM0822 L3 HL2217 | MLO830 L4
MCMNN4040R16-100 40 | 40 | 40 | 20 | 200
MCMNN3232P19-100 3232|132 16 | 170 CNOIO
ToosLIC] | MC1904 | CTM1022 L4 HL2217 | ML0830 L4
MCMNN4040R19-100 40 | 40 | 40 | 20 | 200
RfSize (mm) TR PAE: JIEigsET EHR EARIRET RF
Blade Shim Shim Screw | Platen |Platen Screw| Wrench
FSModel
IR - | C & L A NN
DCMNN2020K12-100 |20 |20 |125|32 (20| 10
DCMNN2525M12-100 | 25| 25| 150 |32 |25 |12.5 CNO[O1204000 MC1204 D6X10 D5260 DM5X21 L3
DCMNN3232P12-100 |32 (321703232 | 16

St

010



S EDSE

mon

V.PLD

PMRENEST

COMPOSITE EXTERNAL TURNING TOOL

IRETNEST

COMPOSITE EXTERNAL TURNING TOOL

MDPNN

V.PLD

7 o
0
’ F
£
93°
L
N gl N
= . TR | 2| R0 | RFE | ER | TCMER gpF
ESModel RISt Blade | Shim |Center Pin Wrench Platen| RoUPle |wrench
77 Left B7Rght | h|b H| F| L o Q \ "~ ﬁ \ ™~
MDJNL1616H11 MDJNR1616H11 |16 |16 | 16|20 | 100
DNOI[
MDJNL2020K11 MDJNR2020K11 |20 |20 |20 |25 | 125 | 119407 | MD1103 | CTM513 L2 | HLI813 | MLO625 L3
MDJNL2525M11 MDJNR2525M11 |25 |25 | 25|32 | 150
MDJNL2020K15 MDJNR2020K15 |20 |20 | 20|25 | 125
DN
MDJNL2525M15 MDJNR2525M15 |25 |25 25|32 | 150 | 15040000 | MDp1506
CTM619 L3 HL2113 | MLO625 L3
MDJNL3232P15 MDJNR3232P15 |32 |32 |32 (40 | 170 | DNOIOJ MD1504
1506010J
MDJNL4040R15 MDJNR4040R15 |40 |40 | 40 | 50 | 200
R<tSize (mm) Valay JIE TIBUZET FER EARIZET i ES
Blade Shim Shim Screw | Platen |Platen Screw| Wrench
A5 Model
npjcjupls @ QL B 2 A DN
DDJNR/L1616K11 16 |16 /100 | 32|16 | 20
DDJNR/L2020K11 20 |20 {125 |32 (20|25 | DNOD11040000 MD1103 D5X9 D3230 M5X 21 L3
DDJNR/L2525M11 2525|150 | 32|25 |32
DDJNR/L2020K15 20 |20 (125 | 32|20 |25
DNOI[J150401(] MD1506
DDJNR/L2525M15 2525|150 | 35|25 |32 D6X 10 D5260 M5X 21 L3
DNI[J150601[] MD1504
DDJNR/L3232P15 3232|170 | 35|32 |40

L
R<fSize (mm) Valay 7332& FRiNE RF EHR WD%%*% RF
Blade Shim |Center Pin| Wrench | Platen | <3 | Wrench
#EModel -
INEEDE 25 YN JEaNE 1ha YIS
MDPNN1616H11 16|16 |16 | 8 |100
MDPNN2020K11 20(20|20| 10 |125 E{\'(ESD MD1103 | CTM513 L2 HL1813 | ML0625 L3
MDPNN2525M11 25| 25|25 |12.5 150
MDPNN2020K15 2012020 | 10 [125| [\
MDPNN2525M15 2525 |25 |12.5| 150 | P04 | coe
CTM619 L3 HL2113 | ML0625 L3
MDPNN3232P15 3232|3216 |170 | DNOIOJ MD1504
1506010]
MDPNN4040R15 40|40 | 40 | 20 | 200
R Size (mm) yala PAE:] Dﬂﬂ?’ﬂ EHR EHRIRET RF
Blade Shim Shim Screw | Platen |Platen Screw | Wrench
#IEModel
hib L L H|F o QA * ﬂ / ™~
DDPNN1616K11 16| 16100 | 32| 16 | 8
DDPNN2020K11 2020|125 32|20 | 10 | DNOJOJ1104000J MD1103 D5X9 D3230 M5X21 L3
DDPNN2525M11 25| 25|150 | 32| 25 |12.5
DDPNN2020K15 20| 20(125 35|20 | 10
DNCIJ1504000] MD1506
DDPNN2525M15 25| 25|150 | 35| 25 |12.5 D6X 10 D5260 M5X 21 L3
DNJJ1506000] MD1504
DDPNN3232P15 3232|170 (35|32 | 16

SHHEE

012



S EIE

|_[UK

V.PLD

PIRETNEST

COMPOSITE EXTERNAL TURNING TOOL

PMRENESH

COMPOSITE EXTERNAL TURNING TOOL

V.PLD

\ £l N
= . R | DR RO | RFE | OER MR pF
ESModel RSP (f) Blade | Shim |Center Pin|Wrench| Platen | R2UPle | wrench
%7] Left E7Rigt | h|blH|F|L o QA = ™ ﬁ \ ™~
MDUNL1616H11 | MDUNRL616H11 |16 |16 | 16|20 | 100
DNCIC
MDUNL2020K11 | MDUNR2020K11 |20 |20 |20 |25 | 125 | 11940 | MP1103 | CTMS13 L2 HL1813 | MLO625 L3
MDUNL2525M11 | MDUNR2525M1l |25 |25 |25 |32 | 150
MDUNL2020K15 | MDUNR2020K15 |20 |20 |20 |25 | 125 DN 1 Mp1sos
ONCC CTM619 L3 | HL2113 | MLO625 L3
MDUNL2525M15 | MDUNR2525M15 |25 |25 |25 (32 | 150 | 15057 | “P1504

N e N
= - AR | DR ROE | RFE | ER | TCMRER pF
ESModel RIS ([ Blade | Shim |Center Pin Wrench | Platen | RouPle |wrench
%71 Left #7Right | h b H|F|L 0 Q. - N ﬁ S ™
MDQNL1616H11 MDQNR1616H11 |16 | 16 | 16 |20 | 100
MDQNL2020K11 MDQNR2020K11 |20 |20 |20 |25 | 125 ?{“OEDDD MD1103 | CTM513 L2 |HL1813 | MLO0625 L3
MDQNL2525M11 MDQNR2525M11 |25 |25 | 25|32 | 150
MDQNL2020K15 MDQNR2020K15 |20 |20 {20 |25 | 125| [\
MDQNL2525M15 MDQNR2525M15 |25 |25 | 25|32 | 150 15040001 | MD1506 CTM619 L3 HL2113 | ML0625 L3
DN MD1504
MDQNL3232P15 MDQNR3232P15 (32 |32 32|40 | 170 | 150611
. ks PAk: JIERABET EHR [EARERET wF
RJSize (mm) Blade Shim Shim Screw | Platen | Platen Screw | Wrench
FEModel
hib|L |L|H|F 0 ‘“Q ‘ ' / ™~
DDQNR/L2020K15 2020|125 3220 |25
DNLI[CI1504000C] MD1506
DDQNR/L2525M15 2525|150 1322532 D6X10 D5260 DM5X21 L3
DNJ[J1506000C] MD1504
DDQNR/L3232P15 3232|170 |32 (32|40

SHHESE

W04



S HEE

mo15

V.PLD

PIRENEST

COMPOSITE EXTERNAL TURNING TOOL

IEETNEST

COMPOSITE EXTERNAL TURNING TOOL

V.PLD

L
N gl N
i . AR | DR hog | RFE | ER (TR pF
ESModel RJSize (mm) Blade Shim |Center Pin| Wrench | Platen Ds%‘r‘eb‘,LE Wrench
%70 Left ENRight | h|b W F|L| Bl O |~y ™ ﬁ \ N
MSBNL1616H12 | MSBNR1616H12 | 16|16 | 16 |13.5/ 100
MSBNL2020K12 MSBNR2020K12 |20 |20 |20 | 17 | 125
MSBNL2525M12 | MSBNR2525M12 | 25|25 |25 |22 | 150 iIZ\IOESD MS1204 | CTM617 L3 | HL1813| ML0625 L3
MSBNL3232P12 MSBNR3232P12 |32 |32 |32 | 25170
MSBNL4040R12 MSBNR4040R12 | 40 | 40 | 40 | 37 | 200
MSBNL2020K15 MSBNR2020K15 |20 | 20 |20 | 17 | 125
MSBNL2525M15 |  MSBNR2525M15 |25 |25 25|22 150 | (\
hogLc) | MS1504 | CTM0822 | 13 | HL2217| MLO830 L4
MSBNL3232P15 MSBNR3232P15 |32 |32 |32 |29 170
MSBNL4040R15 MSBNR4040R15 | 40 | 40 | 40 | 37 | 200
MSBNL3232P19 MSBNR3232P19 |32 32 (3228|170 | (
o06Lc) | MS1004 | CTM1022 | L4 | HL2217| MLO830 L4
MSBNL4040R19 MSBNR4040R19 | 40 | 40 | 40 | 36 | 200
. TR UAE:] JIHRET EHR EHRIRET RF
RgSize (mm) Blade Shim Shim Screw| Platen | Platen Screw | Wrench
BlEModel -
ERECEN - B RV I LN
DSBNR/L2020K12 20 |20 1253220 | 17
DSBNR/L2525M12 2525|150 (3225 | 22| SNOD12040000 |  MS1204 D6X 10 D5260 M5X21 3
DSBNR/L3232P12 32 (32 (1703232 | 27

RfSize mm) | JH | PR bo# | RE | OER (MR pE
Blade | Shim |Center Pin| Wrench| Platen | 2rey® | Wrench
Fl=Model -
INEEEE R Ih JaNE Th SN
MSDNN1616H12 16|16 |16 | 8 |100
MSDNN2020K12 20|20 (20| 10 |125 SNCIC)
12040001 MS1204 CTMe617 L3 HL1813 | ML0625 L3
MSDNN2525M12 252525 (125|150
MSDNN3232P12 3232|3216 |170
MSDNN2525M15 25|25 25125150 |\
15060107 MS1504 | CTM0822 L3 HL2217 | ML0830 L4
MSDNN3232P15 3232|3216 |170
MSDNN3232P19 3232|3216 |170 SNOIC
19060101 MS1904 | CTM1022 L4 HL2217 | ML0830 L4
MSDNN4040R19 40 (40 | 40 | 20 |200
RFSize (mm) Ly PAL:S TIRZET | EIR EHRIRET wF
Blade Shim Shim Screw | Platen | Platen Screw | Wrench
ESModel :
h|b|L|L|H|F n Q ‘ ) / ™~
DSDNN1616H12 16| 16 |100 | 34 | 16 | 8
DSDNN2020K12 20|20 |125 |34 |20 | 10
SNOJH120400] MS1204 D6X10 D5260 M5X21 L3
DSDNN2525M12 2525|150 | 34 | 25 |12.5
DSDNN3232P12 3232|170 | 34| 32 | 16

S EIE

M 016



S EE

W07

V.PLD

IRETNEST

COMPOSITE EXTERNAL TURNING TOOL

IRETNEST

COMPOSITE EXTERNAL TURNING TOOL

V.PLD

L
: R DB RO RFE | OER MR pE
= S : )
ESModel AR ) Blade | Shim |Center Pin|Wrench  Platen | RoUPle fwrench
7] Left 7] Right hib HIF | L n ﬂ \ F‘\ ‘ \ '\
MSRNL2020K12 MSRNR2020K12 |20 |20 | 20 |21.5]125
MSRNL2525M12 | MSRNR2525M12 |25 |25 |25 |28.5/150) Sopay | MS1204 | CTMEI7 | L3 |HLISI3 | MLOG2S | L3
MSRNL3232P12 MSRNR3232P12 |32 |32 |30 |36.5170

L
. : N | IRF | ER | SSKRR | pF
= . TR | DB BlE
ESModel RfSize (mm) Blade Shim |Center Pin| Wrench | Platen %‘gk‘eb\’,!,e Wrench
%7] Left anrone | hibH L B | O . SIRNF R SN
MSKNL1616H12 MSKNR1616H12 |16 |16 |16 | 20 | 100
MSKNL2020K12 MSKNR2020K12 |20 | 20 |20 | 25 | 125 .
SN
MS1204 | CTM617 L3 HL1813 | MLO0625 L3
MSKNL2525M12 MSKNR2525M12 | 25 | 25|25 |32 | 150 | 120400J
MSKNL3232P12 MSKNR3232P12 |32 (32|32 |40 | 170
MSKNL2525M15 MSKNR2525M15 | 25 | 25 | 25 | 32 | 150
SNUID MS1504 | CTM0822 L3 HL2217 | MLO830 L4
MSKNL3232P15 MSKNR3232P15 |32 (32 32|40 |170| 15060101
MSKNL3232P19 MSKNR3232P19 |32 |32 32 |40 170
?&%ED MS1904 | CTM1022 L4 HL2217 | MLO0830 L4
MSKNL4040R19 MSKNR4040R19 | 40 | 40 | 40 | 50 | 200
. & AL JIEUBET | JERR EARIBET RE
Rdsize (mm) Blade Shim Shim Screw | Platen |Platen Screw | Wrench
A= Model
hlb| L [L|H|F n Q ‘ p / ™~
DSKNR/L2020K12 2020|125 |26 |20 | 25
DSKNR/L2525M12 25125150 | 26|25 |32| SNO1204000 MS1204 D6X10 D5260 M5x%21 L3
DSKNR/L3232P12 32(32(170 26|32 40

S EE

Wo18



V.PLD

PIRENEST

COMPOSITE EXTERNAL TURNING TOOL

IMEETNEST

COMPOSITE EXTERNAL TURNING TOOL

V.PLD

MTENN

N

R<Fsize (mm) TR D& | o | RE | ER DOGRE pE
Blade Shim | Center Pin|Wrench| Platen | <o | Wrench
#l5Model - -
IO - Y-V IaSE Th SIS
MTENN1616H16 16 |16 | 16 8 100
MTENN2020K16 20|20 [ 20| 10 | 125 INCIC)
16040007 MT1603 CTM513 L2 HL1813 ML0625 L3
MTENN2525M16 25125 | 25 |12.5| 150
MTENN3232P16 32|32 (32| 16 | 170
MTENN2525M22 25125 | 25 |12.5| 150 INCIC)
2204000 | MT2204 | CTM617 L3 | HL1917 | MLO830 L4
MTENN3232P22 32|32 (32| 16 | 170

. X » e}
] [
L
=
7]
WELiZe | fpE
= ; ya)ay PAE:S POHE | IRF ER
ESModel RSize (mm) Blade | Shim |Center Pin| Wrench| Platen | RoUPle | wrench
7] Left £7] Right h b/ H F|L n Q \ f\ ﬁ \ f\
MSSNL1616H12 MSSNR1616H12 | 16|16 |16 | 20 | 100
MSSNL2020K12 MSSNR2020K12 | 20|20 | 20 | 25 | 125
MSSNL2525M12 MSSNR2525M12 | 25| 25 | 25 | 32 | 150 i\loagu MS1204 | CTM617 L3  |HL1813 | MLO0625 L3
MSSNL3232P12 MSSNR3232P12 | 32|32 |32 |40 | 170
MSSNL4040R12 MSSNR4040R12 | 40 | 40 | 40 | 50 | 200
MSSNL2525M15 MSSNR2525M15 | 25| 25 | 25 | 32 | 150
MSSNL3232P15 | MSSNR3232P15 |32 |32 |32 |40 170 ngESD MS1504 | CTM0822 | L3  |HL2217 | MLO830 L4
MSSNL4040R15 MSSNR4040R15 | 40 | 40 | 40 | 50 | 200
MSSNL3232P19 MSSNR3232P19 | 3232 |32 |40 | 170 | ¢\
10060)C] | MS1904 | CTM1022 L4  |HL2217 | MLO830 L4
MSSNL4040R19 MSSNR4040R19 | 40 | 40 | 40 | 50 | 200
RFSize (mm) Valay pAE:] TIB2ET R [EARIRET RF
Blade Shim Shim Screw | Platen | Platen Screw | Wrench
S Model :
hib| L [L|H|F ‘: ég 1‘. jP ‘f. ™~
DSSNR/L2020K12 20|20 |125 |26 |20 |25
DSSNR/L2525M12 25125150 |26 |25(32| SN[11204000 MS1204 D6X 10 D5260 M5x%21 L3
DSSNR/L3232P12 32132170 |26 |32 | 40

mo19

S EIE

020



S

Wo021

V.PLD

IMEETNEST

COMPOSITE EXTERNAL TURNING TOOL

IEETNEST

COMPOSITE EXTERNAL TURNING TOOL

V.PLD

MTFNO . Jﬁl/;/
H ]E:.:
} 2 | == "N y.
® F -
L
: TR | DB g RF | ER TR gpE
1= S . .
ESModel RN () Blade | Shim |Center Pin| Wrench| Platen | RouPle | wrench
7D Left HTIRight | h|b|H| F| L A O \ ™. Ay \ ™~
MTFNL1616H16 MTFNR1616H16 | 16 | 16| 16 | 20 | 100
MTFNL2020K16 MTFNR2020K16 20 | 20|20 |25 125 INOD)
160aL10] | MT1603 | CTM513 L2 |HL1813| ML0625 L3
MTFNL2525M16 MTFNR2525M16 | 25 | 25 | 25 | 32 | 150
MTFNL3232P16 MTFNR3232P16 32 /32|32 (40| 170
. VAl Ak TIENZET | ER EARIRET RF
AR () Blade Shim Shim Screw | Platen | Platen Screw | Wrench
ESModel
hib| L |Li|H|F A O\ ‘ ’ / M~
DTFNR/L1616H16 16 |16 |100 | 28| 16 | 20
DTFNR/L2020K16 20 |20 (125282025
TNCICI16040001 | MT1603 D5X9 D3230 M5X21 L3
DTFNR/L2525M16 2525|150 | 28|25 32
DTFNR/L3232P16 32(32|170|28|32] 40

MTGND . —T e
i = !
H l WTGHRZOZOKTE ST ' < -
B
S0 | T
e | - -
L
: R D& i | RFE | OER MR pE
= < : )
ESModel RS He ) Blade | Shim |Center Pin Wrench | Platen | RoUPle \yrench
7270 Left BIIRight | h|b|H| F|L A 0 ‘F\% Ay \ ™~
MTGNL1616H16 | MTGNR1616H16 | 16|16 | 16 |20 | 100
MTGNL2020K16 | MTGNR2020K16 |20 |20 |20 |25 125 | 1\
leoal]r] | MT1603| CTMs13 | L2 HL1813 | MLO625 L3
MTGNL2525M16 | MTGNR2525M16 |25 | 25|25 | 32| 150
MTGNL3232P16 | MTGNR3232P16 |32 |32 |32 |40 | 170
. i T TIEWEET EHR [EHRIZET wF
RSize (mm) Blade Shim Shim Screw | Platen |Platen Screw | Wrench
EEModel
hib| L |LilH|F A o ‘ ’ / (NG
DTGNR/L1616H16 16 |16 |100 | 28] 16 | 20
DTGNR/L2020K16 2020|125 |28 | 20| 25
TNO1604010] MT1603 D5X9 D3230 M5 %21 L3
DTGNR/L2525M16 2525|150 | 28 | 25| 32
DTGNR/L3232P16 3232170 |28 |32 | 40

S EIE

022



S EE

WO023

V.PLD

PRENEST

COMPOSITE EXTERNAL TURNING TOOL

IEETNEST

COMPOSITE EXTERNAL TURNING TOOL

V.PLD

s o
,/‘93"
L
, TR | PE | i | RFE | ER (SRR R
= S B 0
BSModel RSize (mm) Blade | Shim [Center Pin| Wrench | Platen %‘é‘r’é’vlve Wrench
7] Left B7Right | h | b|H|F| L A ﬁ \f\ a \ ~~
MTINL1616H16 MTJNR1616H16 |16 | 16 | 16 | 20 | 100
MTJNL2020K16 MTJNR2020K16 202020 |25 |125
MTJNL2525M16 MTJNR2525M16 251252532150 IIG\IOESD MT1603 CTM513 L2 HL1813 | ML0625 L3
MTJNL3232P16 MTJNR3232P16 3232|3240 (170
MTJNL4040R16 MTJNR4040R16 | 40 | 40 | 40 | 50 | 200
MTJNL2020K22 MTJNR2020K22 20|20 |20 |25 |125
MTJINL2525M22 MTINR2525M22 | 25| 25| 25|32 | 150 |
22040007 MT2204 CTM617 L3 HL1917 | MLO0830 L4
MTJINL3232P22 MTJNR3232P22 3232|3240 (170
MTJNL4040R22 MTJNR4040R22 | 40 | 40 | 40 | 50 | 200

0
Flios /&
[~
4/‘105o
L
: TE | I® | s | RFE | EiR (DB | pF
= < : .
ESModel RS () Blade | Shim |Center Pin| Wrench | Platen | ROUPle \yrench
%] Left #7] Right hib/H| F|L Aﬂ \’\a \F\
MTQNL1616H16 MTQNR1616H16 16|16 |16 |20 | 100
MTQNL2020K16 MTQNR2020K16 | 20 | 20 |20 | 25 | 125 | Tn(I0] wrieos | cTusLs L uisis | wiosss L
160417
MTQNL2525M16 MTQNR2525M16 | 25|25 |25 |30 | 150
MTQNL3232P16 MTQNR3232P16 32132(32|40 (170
H
i F
L
, TR | PE | 0 | RFE | OER (SRR | pF
= S : .
BSModel RfSize (mm) Blade | Shim |Center Pin| Wrench | Platen %‘g;‘eﬂe Wrench
727 Left B7Rght | h|b|H F|L Aﬁ \'\a \l\
MTWNL1616H16 MTWNR1616H16 |16 | 16 | 16 | 20 | 100
MTWNL2020K16 MTWNR2020K16 |20 |20 |20 |25 | 125 IQOE\SD MT1603 CTM513 L2 HL1813 | ML0625 L3
MTWNL2525M16 MTWNR2525M16 | 25 | 25 | 25 | 32 | 150

S EDE

024



SHHEE

W025

V.PLD

PIRETNEST

COMPOSITE EXTERNAL TURNING TOOL

IRENNEST

COMPOSITE EXTERNAL TURNING TOOL

V.PLD

, N | | k0w | RFE | ER ERET) g
= <
ESModel RJSize (mm) | glage | Shim |Center Pin|Wrench | Platen Rlaten  |\Wrench
277 Left £7Right | h|b H| F|L A VoS h. TRSE IE "IN
WTQNL2020K16 | WTQNR2020K16 | 20 | 20 | 20 | 20 | 125 | 1y
16040107 MT1603 | CTM515-T L2.5 HLT-16 | M5X25 L4
WTQNL2525M16 WTQNR2525M16 25 [ 25| 25| 25 | 150
WTQNL2525M22 | WTQNR2525M22 | 25 | 25 | 25 | 25 | 150 | 3h0aii]|MT2204 | CTM618-W | L3 | HLT-22 | M6x28 | L5

MVINLCI

RtSize (mm) al | g | RF | ER | EREET) g
Blade Shim | Center Pin| Wrench| Platen | SGew |Wrench
FS5Model .
e FlL A O ey DN B s | DN
WTENN1616H16 16 |16 | 16 | 8 |100
VEEDZEE 20120 120 | 10 1125 | N[IJ1604000] | MT1603 | CTM515-T | L25 HLT-16 | M5x25 | L4
WTENN2525M16 25 |25 | 25 |12.5|150
WTENN2525M22 25 |25 | 25 [12.5(150 | TNCJ(12204000) | MT2204 | CTMelg-W | L3 HLT-22 | M6x28 | L5
F
0
./‘93"
L
] EARIZET) 4
)m , TR | DB | s | RFE | ER R
S el RS ) Blade | Shim |Center Pin|Wrench Platen | B3N \wrench
7] Left BARight | h | b|H|F|L A L\ o ’\‘%mgﬁ\
WTINL1616H16 | WTINRI616H16 |16 | 16 | 16 | 20 | 100
WTINL2020K16 | WTJINR2020K16 |20 | 20 | 20 | 25 |125 | TN[I(]
160aT)C) | MT1603 | CTMSIST | 125 | HLT-16 | M5X25 | L4
WTINL2525M16 | WTJINR2525M16 |25 | 25 | 25 | 32 | 150
WTINL3232P16 | WTINR3232P16 |32 | 32 | 32 | 40 |170
WTINL2525M22 |  WTJINR2525M22 |25 | 25 | 25 | 32 |150 | TN
0a00) | MT2204 | CTMEI8W | L3 | HLT-22 | M6X28 | L5
WTINL3232P22 | WTUNR3232P22 |32 | 32| 32| 40 |170

l‘,‘:, ﬁ ir o e o
93°
| L
N XkiZie
= . la a:] I RFE | EiR RF
ESModel R () Blade Shim  |Center Pin | Wrench |Platen| R0Ue Iwrench
ENleft | EDRght | hib K| F| L | e O Wy (TN N T

MVJINL1616K16 MVJINR1616K16 16 | 16 | 16 | 20 | 125
MVJNL2020K16 MVJNR2020K16 | 20| 20|20 | 25| 125
MVNL2525M16 | MVINR2S25M6 | 25|25 |25 32| 150 | WO | yigos | crwsis | L2 |Wiza1s| muosas | L3
MVJNL3232P16 MVJNR3232P16 |32|32|32|40| 170
MVJINL4040R16 MVJNR4040R16 | 40| 40| 40 | 50 | 200

S EDSE

026



SHEE

mo27

V.PLD

PIRETNEST

COMPOSITE EXTERNAL TURNING TOOL

PMRENEST

COMPOSITE EXTERNAL TURNING TOOL

V.PLD

'e

WYONR2O20KIE &

T

e

e

[ !

A et
"

: T | iy | RFE | ER (SRR e
.= <
ESModel ez () Blade Shim | Center Pin | Wrench | Platen | R2UPe \yrench
7] Left BDRight |h|b|H| F| L < O \ ™~ ﬁ \ ™S~
MVQNL1616K16 | MVQNR1616K16 |16 |16 |16 |22 |125
HL2113
MVQNL2020K16 | MVQNR2020K16 |20 |20 |20 |25 |125 | |\
MV1603 | CTM513 L2 MLO625 | L3
MVQNL2525M16 | MVQNR2525M16 |25 |25 |25 |32 |150 | 16040000
HL2413
MVQNL3232P16 | MVQNR3232P16 |32 |32 |32 |40 |170

MVVNN

Rfsize (mm) TR M| hbgs | RF | ER | REER) gz
Blade Shim | Center Pin | Wrench | Platen | Screw | Wrench
FSModel :
hib v F L | e O \ ™S~ ﬁ \ ™~
MVVNN2020K16 20 120 |20 | 10 | 125
MVVNN2525M16 25| 25|25 |12.5| 150
MVVNN3232P16 323232 | 16 | 170 |YNOOI16040JC1 | MV1603 CTM513 L2 HL2413 | MLO0625 L3
MVVNN4040R16 40 | 40 | 40 | 20 | 200

T
4 Ne
F
95° |
L
: TR B | ROy | RFE | ER| MR g
= " .
ESModel i o) Blade Shim | Center Pin|Wrench | Platen | RUPle |\yrench
770 Left ENRght | h b H F| L | < O \ ~ | & \ ™S~
MVUNL1616K16 | MVUNR1616K16 |16 |16 |16 |29 | 125
MVUNL2020K16 | MVUNR2020K16 |20 |20 {20{30 | 125 |
MV1603 | CTM513 L2 HL1813 | MLO0625 L3
MVUNL2525M16 | MVUNR2525M16 |25 |25 | 25|34 | 150 | 1604010
MVUNL3232P16 | MVUNR3232P16 |32 |32 |32 |40 | 170

S EIE

mo028



S EDE

W029

V.PLD

PIRENEST

COMPOSITE EXTERNAL TURNING TOOL

IRETDEST

COMPOSITE EXTERNAL TURNING TOOL

V.PLD

\ £ 3]
ESModel IS izel{mm) I37Ija)je S?a%n Cefé:\f%in w;zfch PE’?En %@ﬁ? w*ﬁih
7277 Left HIRight | h|b | H|F|L ﬁ @\I\\i \I\\
MWLNL1616H06 | MWLNR1616H06 |16 | 16|16 |20 | 100
MWLNL2020K06 | MWLNR2020K06 |20 | 20 | 20 | 25 | 125 &%?DDD MWO0603 | CTM513 | L2 | HL1813 | ML0625 L3
MWLNL2525M06 | MWLNR2525M06 | 25 | 25 | 25 | 32 | 150
MWLNL1616H08 | MWLNR1616H08 |16 |16 |16 |20 | 100
MWLNL2020K08 | MWLNR2020K08 |20 | 20 | 20 | 25 | 125
MWLNL2525M08 | MWLNR2525M08 | 25 | 25 | 25 |32 | 150 &%?SD Mwo804 | CTM617 | L3 | HL1813 | MLO625 L3
MWLNL3232P08 | MWLNR3232P08 |32 323240 |170
MWLNL4040R08 | MWLNR4040R08 | 40 | 40 | 40 | 50 | 200

- . E | Nm | ki | RFE | R OCMRR ) g
ESModel RSize (mm) Blade Shim Center PinWrench | Platen | R2UP'e |\wrench
70 Left BIRght | h|b H| F| L & ﬁ\ﬁ\i \F\
MWWNL2020K08 | MWWNR2020K08 |20 |20 | 20|32 | 125
WNOO MW0804 | CTM617 | L3 HL1813 | MLO0625 L3
MWWNL2525M08 | MWWNR2525M08 |25 |25 | 25|36 | 150 | 08040101
WWLNO ©
=
0
Fl g5
95°
L
N EARIZET
- . | NB | s | R/E OERE RF
ESModel Rsize (mm) Blade Shim (Center PinWrench | Platen | 22%" | Wrench
%] Left Z7Rght | hlb H F| L ﬁ ﬁ \ ™~ @ p—
WWLNL1616H08 | WWLNR1616H08 |16 |16 | 16 |20 | 100
WWLNL2020K08 | WWLNR2020K08 |20 |20 | 20|25 | 125 | |\
WWLNL2525M08 WWLNR2525M08 |25 |25 | 25|32 | 150 | 0804LIL] MW0804 | CTMB18-W B HLW-08 | M523 H
WWLNL3232P08 | WWLNR3232P08 |32 |32 |32 |40 | 170

L
s Tk | iy RE | ER CMER g
R¥Size (mm) Blade Shim |Center Pin Wrench | Platen | R2Ule | \yrench
#I5Model
hlb|H| F|L ﬁ ﬁ \ ™~ ﬁ \ [
MWMNN2020K08 20|20 20 | 10 | 125
MWMNN2525M08 25 | 25 | 25 |12.5 | 150 &%?DDD MWO0804 | CTM617 | L3 HL1813 | MLO625 | L3
MWMNN3232P08 320323216 |170

S EDSE

030



S E

HWO031

V.PLD

IMNEIZETIRRET T,

SCREW TYPE EXTERNAL TURNING TOOL

IMNEIZETIRRET T

SCREW TYPE EXTERNAL TURNING TOOL

V.PLD

SCAC |:| 0° 0° \ _
=i i_‘
H SCAGR1G16H0D % rs T waxeo ,
Y
==
o
L
AlEModel R~fSize (mm) JJF Blade 1822 Screw | #{kRFWrench
P o
7] Left %77 Right h b H F L O ~ —_
SCACL1010HO06 SCACR1010HO06 10 10 10 10 100
CCI0602[0] M2.5X6 T8
SCACL1212H06 SCACR1212H06 12 12 12 12 100
SCACL1212H09 SCACR1212H09 12 12 12 12 100
SCACL1616H09 SCACR1616H09 16 16 16 16 100 | ccomoot3an | Max10 T15
SCACL2020K09 SCACR2020K09 20 20 20 20 125
SCACL2020K12 SCACR2020K12 20 20 20 20 125 ccd120400 M5X12 T20

SCBCO - o
| ==
H SCBGRZOZOKDR % v 0 ke < ‘
& @ -
L
FlEModel R~fSize (mm) JJ5 Blade 1824 Screw | #{RFWrench
/f- > Ta;
7] Left 7] Right h b H F L O ~ —
SCBCL1212H09 SCBCR1212H09 12 12 12 10 100
SCBCL1616H09 SCBCR1616H09 16 16 16 14 100
X
SCBCL2020K09 SCBCR2020K09 20 20 20 18 15 | CCHL09TLL M4 10 15
SCBCL2525M09 SCBCR2525M09 25 25 25 23 150
SCBCL2020K12 SCBCR2020K12 20 20 20 17 125
ccOiz040 M5X12 T20
SCBCL2525M12 SCBCR2525M12 25 25 25 22 150

S EE

032



S

WO033

V.PLD

SMNRIZTIHRET T,

SCREW TYPE EXTERNAL TURNING TOOL

INEIZETIRRET T

SCREW TYPE EXTERNAL TURNING TOOL

V.PLD

SCFCO

‘|

SCGCO

L Y

| 1 Ty
H SCECR2DZ0K0D * 5in % mase
-
\ F
L
FlEModel R~fSize (mm) JJF Blade w822 Screw | # RFWrench
77D Left 7] Right h | b | H | F | L O @y —
SCFCL1212H06 SCFCR1212H06 12 12 12 16 100
CC06021 M2.5X6 T8
SCFCL1616H06 SCFCR1616H06 16 16 16 20 100
SCFCL1212H09 SCFCR1212H09 12 12 12 16 100
SCFCL1616H09 SCFCR1616H09 16 16 16 20 100
CcC09T3] M4 X 10 T15
SCFCL2020K09 SCFCR2020K09 20 20 20 25 125
SCFCL2525M09 SCFCR2525M09 25 25 25 32 150
SCFCL2020K12 SCFCR2020K12 20 20 20 25 125
ccOd120400 M5X 12 T20
SCFCL2525M12 SCFCR2525M12 25 25 25 32 150

&= F _a I
‘/91'J
L
#lEModel R~FSize (mm) J1K Blade 1824 Screw | 3RFWrench
) /,.:- § &
27] Left 7] Right h | b | H | F | L O @« —
SCGCL1212H06 SCGCR1212H06 12 12 12 16 100
CCIJ0602[10] M2.5X6 T8
SCGCL1616H06 SCGCR1616H06 16 16 16 20 100
SCGCL1212H09 SCGCR1212H09 12 12 12 16 100
SCGCL1616H09 SCGCR1616H09 16 16 16 20 100
CCIJ09T31] M4X10 T15
SCGCL2020K09 SCGCR2020K09 20 20 20 25 125
SCGCL2525M09 SCGCR2525M09 25 25 25 32 150
SCGCL2020K12 SCGCR2020K12 20 20 20 25 125
Cc120401] M5X12 T20
SCGCL2525M12 SCGCR2525M12 25 25 25 32 150

S EIE

034



SR EF

WO035

V.PLD

FMNEIZETIHBET T

SCREW TYPE EXTERNAL TURNING TOOL

INEIZETIRRET T

SCREW TYPE EXTERNAL TURNING TOOL

V.PLD

SCKCO . \
| T
H SCKGRZ020K09 % 1 msia ‘
®)
F
750
| @\
L
FlEModel R~FSize (mm) J1k Blade 1824 Screw | 3RFWrench
) /f" \ e
7] Left 7] Right h b H F L .@ " __J¥
SCKCL1212H09 SCKCR1212H09 12 12 12 16 100
SCKCL1616H09 SCKCR1616H09 16 16 16 20 100
CCOO09T300] M4 X 10 T15
SCKCL2020K09 SCKCR2020K09 20 20 20 25 125
SCKCL2525M09 SCKCR2525M09 25 25 25 32 150
SCKCL2020K12 SCKCR2020K12 20 20 20 25 125
CC12040 M5X12 T20
SCKCL2525M12 SCKCR2525M12 25 25 25 32 150

0°
e R —
H | SCLOR1212H06 Twesntm <

& . : -

=

i 0

L
FIEModel R~fSize (mm) 715 Blade 1824 Screw | #kRFWrench
7] Left #7] Right h b H F L L ~ —_ -
SCLCL0808HO6 SCLCR0808H06 8 8 8 10 100
SCLCL1010H06 SCLCR1010H06 10 10 10 12 100
cCO00602000] M2.5X6 T8
SCLCL1212H06 SCLCR1212H06 12 12 12 16 100
SCLCL1616H06 SCLCR1616H06 16 16 16 20 100
SCLCL1212H09 SCLCR1212H09 12 12 12 16 100
SCLCL1616H09 SCLCR1616H09 16 16 16 20 100
ccOimo9T3nn M4 10 T15

SCLCL2020K09 SCLCR2020K09 20 20 20 25 125
SCLCL2525M09 SCLCR2525M09 25 25 25 32 150
SCLCL2020K12 SCLCR2020K12 20 20 20 25 125
SCLCL2525M12 SCLCR2525M12 25 25 25 32 150 | CcOit120400] M5Xx12 T20
SCLCL3232P12 SCLCR3232P12 32 32 32 40 170

S EIE

036



S HE

037

V.PLD

IMNEIZE TIHBFT L

SCREW TYPE EXTERNAL TURNING TOOL

INEIZETIRBET T

SCREW TYPE EXTERNAL TURNING TOOL

V.PLD

SCMCN

SCMCN © _
| Tes !‘l;
H SCHCNZDZ0K0T  * reo T wasso ‘
@, Fl &
v @>
4/:30"
R~fSize (mm) 71k Blade 1844 Screw | #®RFWrench
HEModel ~
h | b | H | F | L For -y —

SCMCNO0808H06 8 8 8 4 80

SCMCN1010H06 10 10 10 5 100 CCO106020 M2.5X6 T8
SCMCN1212H06 12 12 12 6 100
SCMCN1212H09 12 12 12 6 100
SCMCN1616H09 16 16 16 8 100

ccooT3td M4X10 T15
SCMCN2020K09 20 20 20 10 125
SCMCN2525M09 25 25 25 12.5 150
SCMCN2020K12 20 20 20 10 125

ccodiz20400 M5X 12 T20
SCMCN2525M12 25 25 25 12.5 150

0° 0°
g e
H SOMCH2020K09=100 & vee ¥ warra < ‘
. Ne]
L
R~FSize (mm) JJH Blade 1222 Screw | #RFWrench
FEModel -
/‘-‘ Y -
h | b | H | F | L L @y —-

SCMCN1010H06-100 10 10 10 5 100

cCO0602010] M2.5X6 T8
SCMCN1212H06-100 12 12 12 6 100
SCMCN1212H09-100 12 12 12 6 100
SCMCN1616H09-100 16 16 16 8 100

CCIJ09T3I M4 X 10 T15
SCMCN2020K09-100 20 20 20 10 125
SCMCN2525M09-100 25 25 25 12.5 150
SCMCN2020K12-100 20 20 20 10 125

cciz0400 M5X12 T20
SCMCN2525M12-100 25 25 25 12.5 150

S EIE

038



V.PLD

IMNEIZE TIHBET L

SCREW TYPE EXTERNAL TURNING TOOL

IMEIZE TIHRET T

SCREW TYPE EXTERNAL TURNING TOOL

V.PLD

sbJc

ks F : o
- F . =
7
4/‘93"
HIEModel R~JSize (mm) JJF Blade 1844 Screw | #{xFWrench
#E7] Left 7] Right h | b | H| F | L @ -« —
SDJCLO808HO7 SDJCR0808HO7 8 8 8 10 100
SDJCL1010HO7 SDJCR1010HO7 10 10 10 12 100
SDJCL1212H07 SDJCR1212H07 12 12 12 16 100 DCIJ07020][] M2.5X6 T8
SDJCL1616HO7 SDJCR1616HO07 16 16 16 20 100
SDJCL2020K07 SDJCR2020K07 20 20 20 25 125
SDJCL1010H11 SDJCR1010H11 10 10 10 12 100
SDJCL1212H11 SDJCR1212H11 12 12 12 16 100
SDJCL1616H11 SDJCR1616H11 16 16 16 20 100
SDJCL2020K11 SDJCR2020K11 20 20 20 25 125 peHLITSHL Max10 T
SDJCL2525M11 SDJCR2525M11 25 25 25 32 150
SDJCL3232P11 SDJCR3232P11 32 32 32 40 170

SDACO - Ao
L TR -
H SDACR2020K11 % sis S uaso
o ey ey b, i --_—_' d
F
'
N
=
7]
FlEModel R~Size (mm) JJ5 Blade 1844 Screw | #RFWrench
7] Left 7] Right h b H F L @ ~ _+
SDACL0808HO7 SDACR0808H07 3 8 8 8 100
SDACL1010HO7 SDACR1010H07 10 10 10 10 100 | pcririo7020000 M2.5X6 T8
SDACL1212H07 SDACR1212H07 12 12 12 12 100
SDACL1212H11 SDACR1212H11 12 12 12 12 100
SDACL1616H11 SDACR1616H11 16 16 16 16 100
SDACL2020K11 SDACR2020K11 20 20 20 20 125 | bcOO11T300) M4 10 T15
SDACL2525M11 SDACR2525M11 25 25 25 25 150
SDFCO 0° \
1 _
F| 91°
vl )
FlEModel R~FSize (mm) 71K Blade 1844 Screw | #RFWrench
7] Left #7] Right h b H F L Q ~ _+
SDFCL1616H11 SDFCR1616H11 16 16 16 20 100
DCOO11T3OO M4 X 10 T15
SDFCL2020K11 SDFCR2020K11 20 20 20 25 125

039

SHHEE

040



S HE

W04

V.PLD

IMNEIZE TIERET T,

SCREW TYPE EXTERNAL TURNING TOOL

INEIZETIRBET T

SCREW TYPE EXTERNAL TURNING TOOL

V.PLD

0°

5

_ -
H SONCNZ0Z0K07 % us Budma ‘
@;’ <\62.5"
JEP
62.5°
L
R~Size (mm) JJ5 Blade 1844 Screw | #RFWrench
A5 Model —
h b H F L ~ —
SDNCN0808H07 8 8 8 4 100
SDNCN1010H07 10 10 10 5 100
DCIJ07020 M2.5X6 T8
SDNCN1212H07 12 12 12 6 100
SDNCN1616H07 16 16 16 8 100
SDNCN1212H11 12 12 12 6 100
SDNCN1616H11 16 16 16 8 100
DCLIOI11T3I] M4 X 10 T15
SDNCN2020K11 20 20 20 10 125
SDNCN2525M11 25 25 25 12.5 150

SDQCC o 0 \
H SDOCRZ020KTT %vws s < ‘
l|
o
Q0
F | 10750 -
e
‘/A 107.5°
L
FlEModel R~}Size (mm) 715 Blade 1222 Screw | #{RFWrench
127 Left A7 Right h | b | H | F | L @« —
SDQCL1212H07 SDQCR1212H07 12 12 12 16 100
SDQCL1616H07 SDQCR1616H07 16 16 16 20 100 DCLIJ0702[1] M2.5X6 T8
SDQCL2020K07 SDQCR2020K07 20 20 20 25 125
SDQCL1212H11 SDQCR1212H11 12 12 12 16 100
SDQCL1616H11 SDQCR1616H11 16 16 16 20 100
pCOO11T300 M4 X 10 T15
SDQCL2020K11 SDQCR2020K11 20 20 20 25 125
SDQCL2525M11 SDQCR2525M11 25 25 25 32 150

S HES

042



S

W043

V.PLD

IMNEIZETIEBET T

SCREW TYPE EXTERNAL TURNING TOOL

IMNEIZETIEET T

SCREW TYPE EXTERNAL TURNING TOOL

V.PLD

0°

H SSECR2020K09 % iruw s

Ssbucd @ 0° \
H SOUGRZOZOKTT ™ ron W <
AN |
0
| F| o95°
#SModel R~}Size (mm) JJ5 Blade 1822 Screw | #kFWrench
727 Left A7 Right h | b | H | F | L @y —
SDUCL1212H07 SDUCR1212H07 12 12 12 16 100
SDUCL1616H07 SDUCR1616H07 16 16 16 20 100 | pcrir107020000 M2.5X6 T8
SDUCL2020K07 SDUCR2020K07 20 20 20 25 125
SDUCL1212H11 SDUCR1212H11 12 12 12 16 100
SDUCL1616H11 SDUCR1616H11 16 16 16 20 100
DCOII11T30 M4 X 10 T15
SDUCL2020K11 SDUCR2020K11 20 20 20 25 125
SDUCL2525M11 SDUCR2525M11 25 25 25 32 150

F g o
!
o
L
IS Model R~fSize (mm) J1H Blade 1824 Screw | #{RFWrench
7] Left 7] Right h b H F L }ﬁ! ~ —
SSBCL1212H09 SSBCR1212H09 12 12 12 10 100
SSBCL1616H09 SSBCR1616H09 16 16 16 14 100
SC09T300 M4 X 10 T15
SSBCL2020K09 SSBCR2020K09 20 20 20 18 125
SSBCL2525M09 SSBCR2525M09 25 25 25 23 150
SSBCL1616H12 SSBCR1616H12 16 16 16 13 100
SSBCL2020K12 SSBCR2020K12 20 20 20 17 125 | SCOIOJ1204000] M5X12 T20
SSBCL2525M12 SSBCR2525M12 25 25 25 22 150

B TR

044



S EE

W045

V.PLD

IMNEIZE TIE2FT T

SCREW TYPE EXTERNAL TURNING TOOL

IMNEIZETIHRET T

SCREW TYPE EXTERNAL TURNING TOOL

V.PLD

SSDCN

0°

.l

SSSCO o , o \
LI
H SESCRI0Z0KOT % vea T wisin <
0
F -,
45°
L
FlEModel R~ Size (mm) JJ5 Blade 1844 Screw | #RFWrench
| =
7] Left 7] Right h b H F L E -
SSSCL1212H09 SSSCR1212H09 12 12 12 16 100
SSSCL1616H09 SSSCR1616H09 16 16 16 20 100
scOm09T300 M4 X% 10 T15
SSSCL2020K09 SSSCR2020K09 20 20 20 25 125
SSSCL2525M09 SSSCR2525M09 25 25 25 32 150
SSSCL2020K12 SSSCR2020K12 20 20 20 25 125
scO01204000] M5X 12 T20
SSSCL2525M12 SSSCR2525M12 25 25 25 32 150

H SSOCNZ020K08 % rin Tuane
i
L
R~FSize (mm) JJF Blade 1822 Screw | #xFWrench
#lS5Model -

1

h | b | H | F | L @ ; @y —
SSDCN1212H09 12 12 12 6 100
SSDCN1616H09 16 16 16 8 100

SCOO09T300 M4 X 10 T15
SSDCN2020K09 20 20 20 10 125
SSDCN2525M09 25 25 25 12.5 150
SSDCN2020K12 20 20 20 10 125

scOdi120400 M5X 12 T20
SSDCN2525M12 25 25 25 12.5 150
0° 0° l
SSKCO [ =
H SSKCRZDZ0OKNT S vis Bouiken \
F| 75 ﬂ
L
IS Model R~fSize (mm) J1H Blade 1824 Screw | #IRFWrench

70 Left 7 Right h | b | H | F L }ﬁ' -y —
SSKCL1616H09 SSKCR1616H09 16 16 16 20 100

SSKCL2020K09 SSKCR2020K09 20 20 20 25 125 SCOI09T3] M4X 10 T15
SSKCL2525M09 SSKCR2525M09 25 25 25 32 150

S

046



S EDSE

W047

V.PLD

IMNEIZE TIEBET T

SCREW TYPE EXTERNAL TURNING TOOL

INEIZETIRBET T

SCREW TYPE EXTERNAL TURNING TOOL

V.PLD

STFCO 0° 0° J
1 | i
H | STFOR2020K16 3 vis e
F 91°
L
AIEModel R~fSize (mm) 715 Blade 1822 Screw | #{RFWrench
7570 Left 7] Right h | b | H | F | L A -y —
STFCL1010H11 STFCR1010H11 10 10 10 12 100
STFCL1212H11 STFCR1212H11 12 12 12 16 100
TCOO11020000 M2.5X6 T8
STFCL1616H11 STFCR1616H11 16 16 16 20 100
STFCL2020K11 STFCR2020K11 20 20 20 25 125
STFCL1616H16 STFCR1616H16 16 16 16 20 100
STFCL2020K16 STFCR2020K16 20 20 20 25 125 TCOO16eT3] M4X10 T15
STFCL2525M16 STFCR2525M16 25 25 25 32 150

== T
H STGCR20Z0K1E 5 von fuane <
s,
@®>
b= °
L
FlEModel R~FSize (mm) J1K Blade 1844 Screw | #RFWrench
7] Left A7 Right h b H F L A ~ ———
STGCL1010H11 STGCR1010H11 10 10 10 12 100
STGCL1212H11 STGCR1212H11 12 12 12 16 100
TcOO110200 M2.5X6 T8
STGCL1616H11 STGCR1616H11 16 16 16 20 100
STGCL2020K11 STGCR2020K11 20 20 20 25 125
STGCL1616H16 STGCR1616H16 16 16 16 20 100
STGCL2020K16 STGCR2020K16 20 20 20 25 125 | TCOO1eT300 M4x10 T15
STGCL2525M16 STGCR2525M16 25 25 25 32 150

S EISE

048



S

W049

V.PLD

IMNEZT]HRET T

SCREW TYPE EXTERNAL TURNING TOOL

IMNEZTIHRFT

SCREW TYPE EXTERNAL TURNING TOOL

V.PLD

SVJC/BO

SvQC/BO S o \
H ‘
Flizs
117.5°
L
FlEModel R~} Size (mm) JJH Blade 1242 Screw | #RFEWrench
770 Left ENRight | h | b | H | F | L  <dOB g — -
SVQLIL1212H11 SVQLIR1212H11 12 12 12 16 100
SVQLIL1616H11 SVQLIR1616H11 16 16 16 20 100 VelI11103010] _— .
SVQ[JL2020K11 SVQ[JR2020K11 20 20 20 25 125 | vBUJOJ11030] ’
SVQLIL2525M11 SVQLIR2525M11 25 25 25 32 150
SVQLIL2020K16 SVQLJR2020K16 20 20 20 25 125 | \yerr16040000
VBOIJ1604010) M4x10 T15
SVQLIL2525M16 SVQLIR2525M16 25 25 25 32 150

#lSModel R~FSize (mm) JJ5 Blade 1842 Screw | #xFWrench
7] Left #7] Right h H L | < | g | —f-
SVJCILO808H1L SVJLIR0808H11 8 8 10 100
SVJCIL1010H11 SVJCIR1010H11 10 10 10 12 100
SVJOIL1212H11 SVJCIR1212H11 12 12 12 16 100 | \erir10300]
VBOI11103010) M2.5%6 i
SVJOIL1616H11 SVJCIR1616H11 16 16 16 20 100
SVJCIL2020K11 SVJCIR2020K11 20 20 20 25 125
SVJCIL2525M11 SVJTIR2525M11 25 25 25 32 150
SVJOIL1212H16 SVJCIR1212H16 12 12 12 16 100
SVJOIL1616H16 SVJCIR1616H16 16 16 16 20 100
SVJCIL2020K16 SVJIIR2020K16 20 20 20 25 125 | VCODI1604010]
VBOI11604010) M4x10 15
SVJIL2525M16 SVJCIR2525M16 25 25 25 32 150
SVJOIL3232P16 SVJCIR3232P16 32 32 32 40 170

S EDE

050



® _ ®
K PLD ?CtT%E%E;[?SRNING TOOL SCREW TYPE%[;N%?UJRE%C?-%L%F K PLD

S EE

SVUC/BO 0° ) 0°\ . SVVC/BN —_0- 0 l
H _ g H SVVCNZO20K16 % s Bainio <
];—;;_._ i 72.5°
F & o 1 a
[
95° e D S
| 4 ‘/72.5°
L L 9"
53
7]
ElEModel R<Size (mm) J1F Blade 1242 Screw | #RFWrench R~ Size (mm) J15 Blade 1242 Screw | #RFWrench
; S Model _
%70 Left #7] Right h | b | H | F| L | @0 S —- h | b | H L | @0 | @ |—-
SVU[JL1010H11 SVU[JR1010H11 10 10 10 16 100 SVVLIN1010H11 10 10 10 100
L1212H11 \/ R1212H11 12 1 100
SV Svu] 1 12 8 VC110301 e y SWIIN1212H11 12 12 12 100
VBOIDI1103000) : VCOIr11103000]
SVU[JL1616H11 SVU[JR1616H11 16 16 16 20 100 SVVLIN1616H11 16 16 16 100 VBLI11103010] M2.5X6 T8
SVU[JL2020K11 SVU[JR2020K11 20 20 20 25 125 SVVLIN2020K11 20 20 20 125
SVU[JL2020K16 SVU[JR2020K16 20 30 125
O O 20 20 VCO16040000 MaX10 s SVV[IN2525M11 25 25 25 150
SVULIL2525M16 SVULCIR2525M16 25 25 25 35 150 | VBHILI1604000] SVWIIN1616H16 16 16 16 100
SVVLIN2020K16 20 20 20 125 VeOIO116040000 1 .
VBOO1604010 | M4X10 3
SVV[IN2525M16 25 25 25 150
SVV[IN3232P16 32 32 32 170




SpE

MO053

V.PLD

IMNEZ T]HRET T

SCREW TYPE EXTERNAL TURNING TOOL

INE|Z=TIH2FT

SCREW TYPE EXTERNAL TURNING TOOL

V.PLD

.|

0
SWLCO - 1 -
H SHLCRZ525M06 + v+ mom < W
A F 0
1 95/0'
95°
IS Model R~fSize (mm) J1H Blade 1822 Screw | #{xRFWrench
7] Left 7] Right h b | H F L A @y
SWLCL1212H06 SWLCR1212H06 12 12 12 16 100
SWLCL1616H06 SWLCR1616H06 16 16 16 20 100
WCLIJ0o6T3] M3.5X9 T15

SWLCL2020K06 SWLCR2020K06 20 20 20 25 125
SWLCL2525M06 SWLCR2525M06 25 25 25 32 150
SWLCL1616H08 SWLCR1616H08 16 16 16 20 100
SWLCL2020K08 SWLCR2020K08 20 20 20 25 125 | WCLIJ080401C] M4 X 10 T15
SWLCL2525M08 SWLCR2525M08 25 25 25 32 150

. |
SRACO o 4 M
H SRACR2020K12 % e Bwas T ¢
|| i @T__
L1
L
B1SModel RSize (mm) 7JF Blade :iﬁ Scre,::, W?rLZ?ch
7] Left #7] Right h | b | H| F| L |L & -y
e
SRACIL1010HO5 SRACIRI010H05 10|10 10| 10| 12 | 100
SRACIL1212H05 SRACIR1212H05 2 | 12| 12| 12| 12100
SRACIL1616H05 SRACIR1616H05 6 | 16 | 16 | 16 | 12 | 100
SRACIL2020K05 SRACIR2020K05 20 | 20 | 20 | 20 | 12 | 15 | REHLI0502MO [ M2.5x6 i
SRACIL2525M05 SRACIR2525M05 25 | 25 | 25 | 25 | 12 | 150
SRACIL3232P05 SRACIR3232P05 322 | 32 | 32| 32| 16|17
SRACIL1010HO6 SRACIR1010H06 0 10 | 10| 10| 8 | 100
SRACIL1212H06 SRACIR1212H06 2 | 12| 12| 12| 10|10
SRACIL1616H06 SRACIR1616H06 16 | 16 | 16 | 16 | 12 | 100 | pcOros0aMo
N a0 e | M25x6 |M25x6 | T8
SRACIL2020K06 SRALIR2020K06 20 | 20 | 20 | 20 | 20 | 125
SRACIL2525M06 SRACIR2525M06 25 | 25 | 25 | 25 | 20 | 150
SRACIL3232P06 SRACIR3232P06 322 | 32 | 32 | 32| 25 | 170
SRACIL1010HO8 SRACIR1010H08 10 | 10 | 10| 10| 10 | 100
SRACIL1212H08 SRACIR1212H08 2 | 12| 12| 12| 12100
SRACIL1616H08 SRACIR1616H08 16 | 16 | 16 | 16 | 16 | 100 | pcrrjogosuo | |,
RPOIClogT2MO | M3%8 | M3x8 i
SRACIL2020K08 SRACIR2020K08 20 | 20 | 20 | 20 | 20 | 125
SRACIL2525M08 SRACIR2525M08 25 | 25 | 25 | 25 | 25 | 150
SRACIL3232P08 SRACIR3232P08 322 | 32 | 32 | 32| 25 | 170
SRACIL1212H10 SRACIR1212H10 2 | 12| 12| 12 12|10
SRACIL1616H10 SRACIR1616H10 16 | 16 | 16 | 16 | 18 | 100
SRACIL2020K10 SRALIR2020K10 20 | 20 | 20 | 20 | 20 | 125 Egg%gggmg M4x10 |M3.5x9 | T15
SRACIL2525M10 SRACIR2525M10 25 | 25 | 25 | 25 | 25 | 150
SRACIL3232P10 SRACIR3232P10 322 | 32 | 32| 32| 25 | 170
SRACIL1616H12 SRACIR1616H12 16 | 16 | 16 | 16 | 18 | 100
SRACIL2020K12 SRACIR2020K12 20 | 20 | 20 | 20 | 20 |15 | oo oo | weas | i
SRACIL2525M12 SRACIR2525M12 25 | 25 | 25 | 25 | 25 | 150 | RPOJLJ1204MO
SRACIL3232P12 SRACIR3232P12 32 | 32 | 32 | 32 | 25 | 170

S HEE

054



V.PLD

IMNEIZE TR T,

SCREW TYPE EXTERNAL TURNING TOOL

INEIZETIRRET T

SCREW TYPE EXTERNAL TURNING TOOL

V.PLD

WO055

. 184 Screw KRE
R~fSize (mm) JJF Blade — ‘ — Wrench
ElEModel —
h b H F L1 L 5 —_—
6 =g
SRDLIN2525M08 25 25 25 | 125 | 25 | 150 | RcOir0803MO
RPOIClogT2Mo | M3%8 | M3X8 T8
SRDLIN3232P08 32 32 32 16 25 | 170
SRDCIN1010H10 10 10 10 5 12 | 100
SRDLCIN1212H10 12 12 12 6 12 | 100
SRDCIN1616H10 16 16 16 8 16 | 100 | ReOIr110T3MO
RPOICI1003MO | M4%10 | M3.5X9 T15
SRDLIN2020K10 20 20 20 10 20 | 125
SRDLIN2525M10 25 25 25 | 125 | 25 | 150
SRDLIN3232P10 32 32 32 16 25 | 170
SRDCIN1212H12 12 12 12 6 12 | 100
SRDLCIN1616H12 16 16 16 8 18 | 100
RCCIJ1204MO
SRDLIN2020K12 20 20 20 10 24 | 125 | S5 ET50am0 | MAX10 | M4X10 T15
SRDLIN2525M12 25 25 25 | 125 | 28 | 150
SRDLIN3232P12 32 32 32 16 28 | 170
SRDLIN2020K16 20 20 20 10 24 | 125
SRD[IN2525M16 25 25 25 | 125 | 30 | 150 | RCOICI16060J0J | M5X12 T20
SRDLIN3232P16 32 32 32 16 30 | 170
SRDLIN2020K20 20 20 20 10 25 | 125
SRDLIN2525M20 25 25 25 | 125 | 30 | 150 | RCO20060001 | M6X16 T25
SRDLIN3232P20 32 32 32 16 40 | 170

. 1222 Screw RF
= < RES
ElEModel R~fSize (mm) 715 Blade RC ‘ RP Wrench
%71 Left #7] Right h|b | H|F|L|L O @«
e
SRACIL2525M16 SRACIR2525M16 25 | 25 | 25 | 255 | 35 | 150
RCOIJ1606010] | M5x 12 T20
SRA[IL3232P16 SRACIR3232P16 32 | 32 | 32 |325]| 40 | 170
SRACIL2525M20 SRALCIR2525M20 25 | 25 | 25 | 255 | 35 | 150
RCOI200600] | M6X 16 T25
SRA[IL3232P20 SRACIR3232P20 32 | 32 | 32 | 325| 40 | 170
= .
2 SRDCN o .|
7] i '
H II. | _C | * ‘
| I N R -
e
Fi ey
@) 5
‘ L1
L
) 1242 Screw RE
R~fSize (mm) 71K Blade — ‘ = Wrench
A= Model p—
h | b |[H|F | L |L -y
o)
SRDCIN1010HO5 10 | 10 | 10 5 12 | 100
SRDLIN1212H05 12 | 12 | 12 6 12 | 100
SRDLIN1616H05 16 16 16 8 12 100 RCCIJ0502MO | M2.5X6 T8
SRDLIN2020K05 20 | 20 | 20 | 10 | 12 | 125
SRDIN2525M05 25 | 25 | 25 | 125 | 14 | 150
SRDLIN3232P05 32 | 32 | 32 | 16 | 16 | 170
SRDCIN1010H06 10 | 10 | 10 5 12 | 100
SRDLIN1212H06 12 | 12 | 12 6 12 | 100
SRDCIN1616H06 6 | 16 | 16 8 12 | 100
RCCIJ0602MO
SRDCIN2020K06 20 | 20 | 20 | 10 | 18 | 125 | RPOICIoo2MO | M2-5%6 M2.5X6 | T8
SRDIN2525M06 25 | 25 | 25 | 125 | 18 | 150
SRDLIN3232P06 32 | 32 | 32 | 16 | 20 | 170
SRDCIN1010HO08 10 | 10 | 10 5 12 | 100
SRDLIN1212H08 12 | 12 | 12 6 12 | 100
RC[JJ0803MO
SRDLIN1616H08 6 | 16 | 16 8 16 | 100 | RpOIClosT2MO | M3%8 | M3x8 T8
SRDLIN2020K08 20 | 20 | 20 | 10 | 20 | 125

SHEE

056



S

W057

V.PLD

IMNEIZETIEET T

SCREW TYPE EXTERNAL TURNING TOOL

MR Z=TIH2ET L

SCREW TYPE EXTERNAL TURNING TOOL

V.PLD

LA

—

H E-PTXNR1616X33N
e
& | oo
L F s o)
d /@ |
==
L
R~JSize (mm) JJ5 Blade 1222 Screw | #RFWrench
FEModel
h b L H F A .
E-PTXNR1016X33N 10 16 120 10 16
E-PTXNR1216X33N 12 16 120 12 16
TNOI[J16040]0] M3.5X13T T15
E-PTXNR1616X33N 16 16 120 16 16
E-PTXNR2020X33N 20 20 120 20 20

SRGCO v .
H SRECR2020K1D “wiwme -
F 3 =
1 s )
L1
. 1224 Screw RF
= < REL
HIEModel R~Size (mm) JJF Blade = ‘ = Wrench
E7] Left 47 Right h b H E L1 L & ~ —_—
ey

SRGIIL1212H05 SRGIIR1212H05 2] 12| 12| 16| 10 | 100
SRGIIL1616H05 SRGLIR1616H05 16| 16| 16 | 20 | 10 | 100

RCI10502MO
SRGLIL2020K05 SRGLIR2020K05 20| 20 | 20 | 25 | 12 | 125 | pseocione | M25X6 T8
SRGLIL2525M05 SRGLIR2525M05 25 | 25 | 25 | 32 | 15 | 150
SRGIIL3232P05 SRGLIR3232P05 32| 32| 32| 4 | 18 | 170
SRGLIL1212H06 SRGLIR1212H06 12 12| 12| 16 | 12 | 100
SRGLIL1616H06 SRGLIR1616H06 16| 16 | 16 | 20 | 12 | 100

RCCICI0602MO
SRGIIL2020K06 SRGIIR2020K06 20| 20| 20 | 25 | 12 | 125 | RPOCOG02MO | M2-5%6|M25%6| T8
SRGLIL2525M06 SRGLIR2525M06 25 | 25 | 25 | 32| 16 | 150
SRGLIL3232P06 SRGLIR3232P06 32| 32| 32| 40 | 20 | 170
SRG[IL1212H08 SRGLIR1212H08 12 12 12| 16| 12 | 100
SRGLIL1616H08 SRGLIR1616H08 16| 16 | 16 | 20 | 12 | 100
SRGLIL2020K08 SRGLIR2020K08 20| 20 | 20| 25 | 14 | 125 | RCOICI0803MO

RPOICIogT2MO | M3%8 | M3X8 T8
SRGIIL2525M08 SRGIIR2525M08 25 | 25 | 25 | 32 | 17 | 150
SRGLIL3232P08 SRGLIR3232P08 32| 32| 32| 40 | 20 | 170
SRGIIL1212H10 SRGIIR1212H10 12 12| 12| 16 | 14 | 100
SRGIIL1616H10 SRGIIR1616H10 16| 16| 16 | 20 | 14 | 100
SRGIIL2020K10 SRGIIR2020K10 20| 20 | 20 | 25 | 15 | 125 | RCOILI10T3MO

RPOIC1003Mo | M4X10 | M3.5x9|  Ti5
SRGIIL2525M10 SRGIIR2525M10 25 | 25 | 25 | 32 | 18 | 150
SRGIIL3232P10 SRGIIR3232P10 32| 32| 32| 4 | 21 | 170
SRGLIL1616H12 SRGLIR1616H12 16| 16| 16 | 20 | 14 | 100
SRGLIL2020K12 SRGIIR2020K12 20| 20 | 20 [ 25 | 15 | 125 | pe;O1z04Mo

RPCL20aMo | M4X10 | Max10 | Tis
SRGIIL2525M12 SRGIR2525M12 25 | 25 | 25 | 32| 18 | 150
SRGIL3232P12 SRGLIR3232P12 32| 32| 32| 40 | 21 | 170

S

058



IR ET]

THREADING TURNING TOOL

B 7]

THREADING TURNING TOOL

B E TR SRR
TIR KB
T H ] 100 o
RO el b
FA7: mm
A 2 [ JJ AT FH00%£ 7~ P 170 L T
SR 2 Q | 180 -
S E R |[25]|/25 || M || 16
Fi % 7 R Y 7 i TI A B B TI MR+
oy b7
EIER 4o 5| =migak | AWHHE
BEET B R E 1 9) BT mm
B0 FF 1 A e | | 11 1 6.35
16 16 9.525
22 22 12.70
124y 7] R B SRR
W2 50K 3 Y Iy i
N P 2 £ R Venvl|
E N L )
16 N R 1.75 || 1SO
T A RAF R R AR A IR SRR AEAR S
= = BURS 37 /AP Y il .
s =mribk o 5. 070 rsmmigin || 180=1SOK M4
11 11 6.35 .12] ﬁ%ﬂ:;t/l/inch W= B0 4
5] : 8=8%l/inch
16 16 9.525 3. AG60: s&%ﬂ;&ﬁ
22 22 12.70

V.PLD

C

SIS SR

108



V.PLD

S5

W109

SMRIBZET]

B 7]

THREADING TURNING TOOL

THREADING TURNING TOOL

B ZT]

V.PLD

W
|

T

W

W

T =
re
.‘?
L1
. yA)as 1257 RFE | FEiR | BELige| RFE
| = y
BSModel RJsSize (mm) Blade Screw | Wrench| Platen | Rouble | \Wrench
fETLeft BARight | h | b | L | L |H|F A -y - ﬁ \ ~.
CTTL1010H16 CTTR1010H16 10 10 | 100 | 20 10 10
X X X
CTTL1212H16 CTTR1212H16 | 12 | 12 | 100 | 20 | 12 | 12
TT32ER/LCICI | M4X 10 T15
CTTL1616H16 CTTR1616H16 16 16 | 100 | 20 16 16
HL1511 | ML0520 L2.5
CTTL2020K16 CTTR2020K16 | 20 | 20 | 125| 22 | 20 | 20
CTTL2020K22 CTTR2020K22 | 20 | 20 | 125| 28 | 20 | 20
CTTL2525M22 CTTR2525M22 | 25 | 25 | 150 | 30 | 25 | 25 |TT43ER/LOCI | M5X12 | T20 | HL1511|MLO520 | L2.5
CTTL3232P22 CTTR3232P22 32 | 32170 32| 32| 32

SMZIRYZET]
I
LU AAAAAAALAARA
I
i .
L1
L
FlEModel R~fSize (mm) J1F Blade 1822 Screw | I®RFWrench
7] Left 77 Right h | b | L|w/|H]|EF A ~ +—
KTTXL1010H16 KTTXR1010H16 10 | 10 | 100 | 20 | 10 | 10
KTTXL1212H16 KTTXR1212H16 12 | 12 | 100 | 20 | 12 | 12
TT32ER/LLIC] M4X 10 T15
KTTXL1616H16 KTTXR1616H16 16 | 16 | 100 | 20 | 16 | 16
KTTXL2020K16 KTTXR2020K16 20 | 20 | 125 | 22 | 20 | 20
KTTXL2020K22 KTTXR2020K22 20 | 20 | 125 | 22 | 20 | 20
KTTXL2525M22 KTTXR2525M22 25 | 25 | 150 | 30 | 25 | 25 TT43ER/LLIL] M5x12 T20
KTTXL3232P22 KTTXR3232P22 32 | 32 | 170 | 30 | 32 | 32

SIS S

|10



® ®
KPLD ﬁ%})ﬁgmmemm THREADING%?R%\I%IGETOJOJL KPLD

C

SMZIBNZET] IMRIENET]
T [
\ I (GG
0 0
L L 12
7] 7]
: Vil e gy | T | IRFE | EIR (SCKRE IRF T aE::) By | RE | MET | OIRE
1 5Model <JSize (mm - = ~FSi : £
diess RSize (mm) Blade Shim | Screw |Screw Wrench|Platen| Rouble \Wrench S Model R~fSize (mm) Blade Shim Screw | Wremch | Screw | Wrench
Left Right | h | b | L |L|H|F @ Sxip ‘ - a \ :
=7 B7Rig b ™~ ZET)Left H7IRight h | b|L|L|[H|F -« —d
CEL1616H16 | CER1616H16 | 16 | 16 [100| 20 | 16 | 20 SELI010MLL SERL010HLL 0 | 10 100 | 16 | 10| 12
CEL2020K16 CER2020K16 | 20 | 20 [125| 22 | 20 | 25 11ER/LLIC] X M2.5X6 T8 X X
SEL1212H11 SER1212H11 12 |12 (100 | 16 | 12 | 16
CEL2525M16 | CER2525M16 | 25 | 25 |150 | 22 | 25 | 3p |L6ERILCICI| MTM16 |M3.5%12 T15 |HL1813| ML0625 | L3
M3 X 8C SEL1212H16 SER1212H16 12 |12 (100 |16 | 12 | 16 X M3.5X9 T15 X x
CEL3232P16 CER3232P16 | 32 | 32 |170| 25 | 32 | 40
CEL2525M22 | CER2525M22 | 25 | 25 | 150 26 | 25 | 32 SEL1616H16 SER1616H16 16 | 16 |100 | 20 | 16 | 20
CEL3232P22 CER3232P22 32 132 170| 28 | 32 | 40 22ER/LLILY MTM22R/L| M4X16 T15  |HL1813| MLO625 . SEL2020K16 SER2020K16 20 20 |125 |22 | 20 | 25 |16ER/LLI[] P 35X 1 s M3 s
SEL2525M16 SER2525M16 25 | 25 |150 | 22 | 25 | 32
SEL3232P16 SER3232P16 32 |32 170 | 25 | 32 | 40
SEL2020K22 SER2020K22 20 | 20 |125|22 | 20 | 25
SEL2525M22 SER2525M22 25 | 25 [150 | 22 | 25 | 32 |22ER/LCIC]| MTM22R/L | M4x16 T15 | M3x8C | TI15
SEL3232P22 SER3232P22 32 |32 |170 | 25 | 32 | 40
SEL2525M27 SER2525M27 25 | 25 |150 | 22 | 25 | 32
27ER/LICI| MTM27R/L | M6X18 T25 | M3x8C| Ti5
SEL3232P27 SER3232P27 32 |32 |170 | 25 | 32 | 40

mm mn2



B %)

THREADING TURNING TOOL

® ®
V(PLD 7557 PLD

mn3

Dmin
10 )
SRR T] wEggEn | | i —
F o H
y@, - e o S
> F @’ F
| o : -
N - r— o
L1 L1
£42 RF ET RF
= i yA)as T 1Rey RF MiET RF 0= o R pALE:S 127 il
ESModel R Size (mm) Blade Shim | Screw | Wrench | Screw | Wrench ESModel RSize (mm) Blade Shim Screw |Wrench | Screw | Wrench
: \ . _ : ® . \ . _
FETLeft £7Right | h | b |H|F|L|w ﬁ @ -y ' ZTleft | ZJIRight |pmin|®d| L | Li|H | F | a @ @ «uy - «f
SEL1212H11-B SER1212H11-B | 12 | 12 | 12 | 16| 100]| 16 SNLO005H06 | SNROOOSHO6 7 | 5 |100] 15 | 47|36
11ER/LOIC] X |M2.5x8| T8 X X 18° | 06NR/LOICI X M2 X 4 6
SEL1616H11-B SER1616H11-B | 12 | 12 | 12 | 16 | 100| 19 SNL0006J06 | SNR0006J06 | 7.5 | 6 |110| 15 | 52| 4 y y
SEL1212H16-B SER1212H16-B | 12 | 12 | 12 | 16| 100 20 X |M35x12| Ti5 X X SNLO0OTKO8 | SNROOOTKOS | 85 | 7 |125|15| 6 |45
08NR/LCIC] x M2.5X6 | T8
SEL1616H16-B SER1616H16-B | 16 | 16 | 16 | 20 | 100| 22 SNLOOO8KO8 | SNRO008KO8 | 9.5 | 8 [125/ 15| 7 | 5
16ER/LCICT
SEL2020K16-B SER2020K16-B | 20 | 20 | 20 | 25| 125/| 25 MTM16 |[M3.5x12| T15 | M3x8C | Ti15 SNLO008K11 | SNROOO8K1L | 10 | 8 |125|15| 7 |55
SEL2525M16-B SER2525M16-B | 25 | 25 | 25 | 32 | 150| 26 SNLO010K11 | SNROOL1OK11 | 12 | 10 |125|16 | 9 |6.2
1INR/LOIC) X M2.5X6 | T8 X x
SEL2020K22-B SER2020K22-B | 20 | 20 | 20 | 25 | 125 24 | 22ER/LCICT |MTM22R/L| M4X16 | T15 | M3X8C | T15 SNL0012M11 | SNROO12M11 | 14 |12 |150| 18 | 11 | 7.4
SNL0013M11 | SNROO13M11 | 15 | 13 |150| 18 | 12 | 8
SNL0013M16 | SNROO13M16 | 155 | 13 |150| 20 | 12 | 8
SNLOO14N16 | SNROO14N16 | 16.5 | 14 |160| 25 | 13 | 8.5 x M3.5X9
SNL0016Q16 | SNR0016Q16 | 19 | 16 |180| 25 |14.8| 10
15°
SNLO020R16 | SNROO20R16 | 23 | 20 |200| 28 |18.4| 12 L6NR/LOD) - y y
SNL0025S16 | SNR0025S16 | 29 | 25 |250|32 | 23 | 15
SNL0032T16 | SNR0032T16 | 36 | 32 |300| 38 | 30 |18.5 STM1603 | Masx 12
SNLO040T16 | SNRO040T16 | 44 | 40 |300| 42 | 37 | 23
SNLO050U16 | SNRO050U16 | 56 | 50 |350| 50 | 47 | 30
SNLO020R22 | SNRO020R22 | 25 | 20 |200| 30 |18.4|13.5 x M4x10 | TI5 X X
SNL0025S22 | SNR0025S22 | 30 | 25 |250| 32 | 23 | 16
SNL0032T22 | SNR0032T22 | 38 |32 |300|38 | 30 | 20 22NR/LOIC]
M4 X1 M3 X
SNLO040T22 | SNR0040T22 | 46 | 40 |300| 42 | 37 | 25 MTM22R/L 6] T 3x8C | 15
SNL0050U22 | SNROO50U22 | 58 | 50 |350| 50 | 47 | 32
SNL0032T27 | SNR0032T27 | 39 | 32 [300| 38 | 30 |21.5|15° | 27NR/LCICI |MTM27R/L| M6X18 | T25 | M3x8C | TI5

Hn4



L3
£
%
7]

W15

V.PLD

BN ZT]

THREADING TURNING TOOL

B ZET)

THREADING TURNING TOOL

V.PLD

SNRO

RIRBYZET]

d
L1 ®
|
A= Model R~FSize (mm) J1F Blade 1844 Screw |#RFWrench
. (0] P
7] Left BARght |0 | od| L | w | H | f| e a ” —4

SNLO006K06-A12 SNR0006K06-A12 8 12 | 125 20 | 11 | 4

06NR/LOO M2X 4 T6
SNLO006K06-A16 SNR0006K06-A16 8 16 | 125 | 20 |14.8 | 4
SNLO007K08-A16 SNR0007K08-A16 9 16 | 125 | 25 |14.8 | 45
SNLO008K08-A12 SNRO008K08-A12 10 12 | 125 | 25 | 11 5 08NR/LLIC] M2.5X6 T8
SNLO008K08-A16 SNR0008K08-A16 10 | 16 | 125 | 25 | 148 | 5 | 15°
SNLO008K11-A12 SNR0O008K11-A12 10 | 12 | 125| 25 | 11 |55
SNLO008K11-A16 SNR0008K11-A16 10 | 16 | 125 | 25 | 148 | 55

1INR/LOO M2.5X6 T8
SNLO010K11-A16 SNR0O010K11-A16 12 | 16 | 125 | 25 |148 |62
SNL0012M11-Al6 SNRO012M11-A16 14 | 16 | 150 | 32 | 148 | 7.4
SNL0013M16-A16 SNR0013M16-A16 15 | 16 | 150 | 32 |148 | 8 16NR/LLIC] M3.5X9 T15

C

SIS SR

W16



e WIPLD

D42 (ih)

GROOVING TOOL 2
B
E\]
|
] tg
L =]
~
N—
FEIEModel R~FSize (mm) J1F Blade 1824 Screw | #RFWrench
ET] Left A7 Right W |h|b|L|w|H]|F b ‘ —._.!e.,
SGBL1212H16 SGBR1212H16 03325 | 12 | 12 |100| 21 | 12 | 16
SGBL1616H16 SGBR1616H16 0.33-2.5 | 16 16 | 100 | 21 16 20
SGBL2020K16 SGBR2020K16 0.33-25 | 20 | 20 | 125 | 21 | 20 | 25 TGF32R/L M4 X 10 T15
SGBL2525M16 SGBR2525M16 0.33-2.5 | 25 25 | 150 | 26 | 25 32
SGBL3232P16 SGBR3232P16 0.33-25 [ 32 | 32 | 170 | 32 | 32 | 40
SGBL2020K22 SGBR2020K22 1.25-1.85| 20 | 20 | 125 | 28 | 20 | 25
SGBL2525M22 SGBR2525M22 1.25-1.85 | 25 25 | 150 | 30 25 32 TGF43R/L M5X12 T20
SGBL3232P22 SGBR3232P22 1.25-1.85| 32 | 32 | 170 | 32 | 32 | 40
W17 W18



*ﬁ

S (5R)

mno

V.PLD

r

18 (k) 71

GROOVING CUTTER

148 (k) 7]

GROOVING CUTTER

V.PLD

: = =
= 20
L1
L
. yalas EiR | B | IRF | 1R RF
=
ESModel RJSize (mm) Blade | Platen | Rouble |\Wrench| Screw | Wrench
7] Left #7] Right W | h|b|L|u|H|F A ﬁ \ ™ ~ ——f}-
CGBL1616H16 CGBR1616H16 | 0.5-0.25| 16 | 16 | 100| 21 | 16 | 20
CGBL2020K16 CGBR2020K16 | 0.5-0.25| 20 | 20 |125| 21 | 20 | 25
TGF32R/L| HL1511 | MLO0520 L2.5 M4X10 T15
CGBL2525M16 | CGBR2525M16 | 0.5-0.25| 25 | 25 |150| 26 | 25 | 32
CGBL3232P16 CGBR3232P16 | 0.5-0.25| 32 | 32 | 170| 32 | 32 | 40
CGBL2020K22 CGBR2020K22 | 1.25-1.85/ 20 | 20 | 125| 28 | 20 | 25
CGBL2525M22 | CGBR2525M22 |1.25-1.85| 25 | 25 |150| 30 | 25 | 32 | TGF43R/L| HL1511 | ML0520 | L2.5 | M5X12 | T20
CGBL3232P22 CGBR3232P22 | 1.25-1.85/ 32 | 32 | 170 32 | 32 | 40

A5 Model R~fSize (mm) J1F Blade 1824 Screw | #RFWrench
7] Left H7] Right Wlh | b L |H|F |Tmx| Gl ‘l‘. M-
MGEVL1616-1.5 MGEVR1616-1.5 15| 16 | 16 | 100 | 16 | 22 | 55 M6X14
MGEVL2020-1.5 MGEVR2020-1.5 15| 20 | 20 | 125 | 20 |265 | 6 MGMN150 M6X14
MGEVL2525-1.5 MGEVR2525-1.5 15| 25 | 25 | 150 | 25 |325 | 7 M6X16
MGEVL1616-2 MGEVR1616-2 2 | 16 | 16 | 100 | 16 | 22 | 55 M6X14
MGEVL2020-2 MGEVR2020-2 2 | 20 | 20 | 125 | 20 |265 | 6 MGMN200 M6X14
MGEVL2525-2 MGEVR2525-2 2 | 25 | 25 | 150 | 25 |325 | 7 M6X16
MGEVL1616-2.5 MGEVR1616-2.5 25| 16 | 16 | 100 | 16 | 22 | 55 M6X14
MGEVL2020-2.5 MGEVR2020-2.5 25| 20 | 20 [125 | 20 |265 | 6 MGMN250 M6X14 L5
MGEVL2525-2.5 MGEVR2525-2.5 25 | 25 | 25 | 150 | 25 [325| 7 M6X16
MGEVL1616-3 MGEVR1616-3 3 | 16 | 16 | 100 | 16 | 24 | 75 M6X14
MGEVL2020-3 MGEVR2020-3 3 |20 | 20 |125 | 20 |265| 6 MGMN300 M6X14
MGEVL2525-3 MGEVR2525-3 3 | 25 | 25 |150 | 25 |325 | 7 M6X16
MGEVL1616-4 MGEVR1616-4 4 | 16 | 16 | 100 | 16 | 24 | 75 M6X14
MGEVL2020-4 MGEVR2020-4 4 | 20 | 20 | 125 | 20 [265 | 6 MGMN400 M6X14
MGEVL2525-4 MGEVR2525-4 4 | 25 | 25 | 150 | 25 |325 | 7 M6X16
MGEVL2020-5 MGEVR2020-5 5 | 20 | 20 | 125 | 20 | 30 | 9.5 M6X14
MGEVL2525-5 MGEVR2525-5 5 | 25 | 25 | 150 | 25 |325 | 7 MGHNS00 M6X16
MGEVL2020-6 MGEVR2020-6 6 | 20 | 20 [125 | 20 | 30 | 95 M6X14
MGMN600
MGEVL2525-6 MGEVR2525-6 6 | 25 | 25 |150 | 25 |325 | 7 M6X16

*ﬁ

S (5R)

120



1]

g
%ﬁ
7]

w21

V.PLD

N4 (k) 70

GROOVING CUTTER

.y

& (&) 7]

GROOVING CUTTER

V.PLD

H TTER2020-3 T20 <
i
H
= | ol
@ | ZT pw =t GRS
l L
FlEModel R~fSize (mm) 71K Blade 1822 Screw | #®RFWrench

%77 Left #7] Right wih b k| e e | NN
TTEL1212-2 TTER1212-2 2 | 12| 12 |100 | 12 | 123 17 TDC2
TTEL1212-3 TTER1212-3 3 12 | 12 | 100 | 12 | 124 | 20 TDC3 M5X12 L4
TTEL1212-4 TTER1212-4 4 | 12| 12 | 100 | 12 | 125 20 TDC4
TTEL1616-2 TTER1616-2 2 | 16 | 16 | 100 | 16 | 163 | 17 TDC2
TTEL1616-3 TTER1616-3 3 | 16| 16 | 100 | 16 | 164 | 20 TDC3 M6x14
TTEL1616-4 TTER1616-4 4 | 16 | 16 | 100 | 16 | 165 | 20 TDC4
TTEL2020-2 TTER2020-2 2 | 20| 20 | 125 | 20 | 203 17 TDC2
TTEL2020-3 TTER2020-3 3 | 20 | 20 | 125 | 20 | 20.4 | 20 TDC3 M6X 14 L5
TTEL2020-4 TTER2020-4 4 | 20| 20 | 125 | 20 | 205 20 TDC4
TTEL2525-2 TTER2525-2 2 | 25| 25 | 150 | 25 | 253 | 17 TDC2
TTEL2525-3 TTER2525-3 3 | 25| 25 | 150 | 25 | 254 20 TDC3 M6X 16
TTEL2525-4 TTER2525-4 4 | 25| 25 | 150 | 25 | 255 20 TDC4

= e Ay [EtR | WEKIBE | iRF 1257 RF
ESModel RSize (mm) Blade | Platen Dsggg've Wrench| Screw | Wrench
%7] Left #7] Right W | h|b|L|h|f A 1 \ N~ .
CTGFSL1616H16 CTGFSR1616H16 16 | 16 | 100 | 16 | 20
CTGFSL2020K16 CTGFSR2020K16 20 | 20 | 125| 20 | 25 |TGF32R/L| HL1511 ML0520 L2.5 M3.5X9 T15
CTGFSL2525M16 CTGFSR2525M16 0.4-0.45 25 | 25 | 150 | 25 | 32
CTGFSL2020K22 CTGFSR2020K22 20 | 20 | 125]| 20 | 25
TGF43R/L| HL1511 | ML0520 L2.5 M5X12 T20
CTGFSL2525M22 CTGFSR2525M22 25 | 25 | 150 | 25 | 32
H
2
F 0
W L
S Model R~FSize (mm) JJF Blade | #2842 Screw | #xFWrench
%77 Left #7] Right W h |l b | L | m|f A L] __.n!h_
KTGFSL1212H16 KTGFSR1212H16 12 |12 |100]| 12 | 16
KTGFSL1616H16 KTGFSR1616H16 16 16 | 100 | 16 20
KTGFSL2020K16 KTGFSR2020K16 20 | 20 | 125 | 20 | 25 | TOF32RIL M3.5%9 15
0.4-0.45
KTGFSL2525M16 KTGFSR2525M16 25 25 | 150 | 25 32
KTGFSL2020K22 KTGFSR2020K22 20 | 20 |125] 20 | 25
TGF43R/L M5X12 T20
KTGFSL2525M22 KTGFSR2525M22 25 25 | 150 | 25 31

il

:&E
7]

W22



& (&) 7]

GROOVING CUTTER

® . ®
WPLD 557 V{PLD

= e
TG - ' N l
H KGMR2020K-2 <
i
T e Tmax [ st |
F @ Ko} F ‘ B -&'} | o
@ ST —— (NS ! £ &
|
7z | L L z
-~ -~
" =
7] 7]
AElEModel R~FSize (mm) 71K Blade w822 Screw | #®FWrench FlEModel R~FSize (mm) J1H Blade 1844 Screw | #x3FWrench
7] Left #7] Right W  h|b|L [H|F Tm S “: “:‘%\ 7] Left #7] Right h | b | L | H | F | Tmax ﬁ ‘:I’ f_‘%'\
KGML1212-1.5 KGMR1212-1.5 15 | 12 | 12 | 125 | 12 |12.15| 14 | GMN1520-MT 7Q1616L-2 ZQ1616R-2 16 | 16 | 100 | 16 | 16.4| 16 M6X14
KGML1212-2 KGMR1212-2 2 | 12 | 12 |125 | 12 |122 | 14 | GMN2020-MT 7Q2020L-2 ZQ2020R-2 20 | 20 | 125 | 20 |20.4 | 18 SP200 M6X14
KGML1212-2.5 KGMR1212-25 | 25 | 12 | 12 |125 | 12 |123| 16 | GMN2s2o-mT | M4*12 15 7Q2525L-2 7Q2525R-2 25 | 25 |150 | 25 | 254 | 20 M6X16
KGML1212-3 KGMR1212-3 3 | 12 | 12 |125 | 12 | 124 | 16 | GMN3020-MT ZQ1616L-3 ZQ1616R-3 16 | 16 | 100 | 16 | 16.4| 18 M6X14
KGML1212-4 KGMR1212-4 4 | 12 | 12 |125 | 12 |125| 16 | GMN4020-MT 7Q2020L-3 ZQ2020R-3 20 | 20 | 125 | 20 |20.4 | 20 SP300 M6X14
KGML1616-1.5 KGMR1616-1.5 1.5 | 16 | 16 | 100 | 16 |12.15| 17 | GMN1520-MT 7Q2525L-3 ZQ2525R-3 25 | 25 | 150 | 25 |25.4 | 20 M6X16
KGML1616-2 KGMR1616-2 2 | 16| 16 | 100 | 16 |122 | 17 | GMN2020-MT 7Q3232L-3 ZQ3232R-3 32 | 32 |170 | 32 [324 | 25 M6X16
KGML1616-2.5 KGMR1616-2.5 25| 16 | 16 | 100 | 16 |123 | 17 | GMN2520-MT M6 X 14 7Q1616L-4 ZQ1616R-4 16 | 16 | 100 | 16 | 16.4| 18 M6X14 L5
KGML1616-3 KGMR1616-3 3 | 16| 16 | 100 | 16 |12.4 | 18 | GMN3020-MT 7Q2020L-4 ZQ2020R-4 20 | 20 | 125 | 20 |20.4 | 20 M6X14
KGML1616-4 KGMR1616-4 4 | 16 | 16 | 100 | 16 |12.5 | 18 | GMN4020-MT 7Q2525L-4 ZQ2525R-4 25 | 25 | 150 | 25 |25.4 | 20 SPA00 M6X16
KGML2020-1.5 KGMR2020-1.5 1.5 | 20 | 20 | 125 | 20 |12.15| 17 | GMN1520-MT 7Q3232L-4 ZQ3232R-4 32 | 32 |170 | 32 [ 324 25 M6X16
KGML2020-2 KGMR2020-2 2 | 20| 20 |125 | 20 |122 | 17 | GMN2020-MT 7Q2020L-5 ZQ2020R-5 20 | 20 | 125 | 20 |20.4| 20 M6X14
KGML2020-2.5 KGMR2020-2.5 25| 20 | 20 [125 | 20 |12.3| 17 | GMN2520-MT M6 X 14 L5 7Q2525L-5 ZQ2525R-5 25 | 25 | 150 | 25 |254| 25 SP500 M6X16
KGML2020-3 KGMR2020-3 3 | 20| 20 |125 | 20 |12.4 | 20 | GMN3020-MT 7Q3232L-5 ZQ3232R-5 32 | 32 | 170 | 32 [ 324 25 M6X16
KGML2020-4 KGMR2020-4 4 | 20| 20 |125 | 20 |125| 20 | GMN4020-MT 7Q2020L-6 ZQ2020R-6 20 | 20 | 125 | 20 |20.4 | 20 M6X14
KGML2525-1.5 KGMR2525-1.5 1.5 | 25 | 25 | 150 | 25 |12.15| 17 | GMN1520-MT 7Q2525L-6 ZQ2525R-6 25 | 25 | 150 | 25 |25.4 | 25 SP600 M6X16
KGML2525-2 KGMR2525-2 2 | 25| 25 |150 | 25 |122 | 17 | GMN2020-MT 7Q3232L-6 ZQ3232R-6 32 | 32 |170 | 32 [ 324 25 M6X16
KGML2525-2.5 KGMR2525-2.5 25| 25 | 25 | 150 | 25 |123 | 17 | GMN2520-MT M6X16
KGML2525-3 KGMR2525-3 3 | 25| 25 | 150 | 25 |12.4 | 20 | GMN3020-MT
KGML2525-4 KGMR2525-4 4 | 25| 25 |150 | 25 |125 | 20 | GMN4020-MT
W23 W24



& (&) 7]

GROOVING CUTTER

® . ®
(PLD 757 V{PLD

= J—
T e W . -'-—""'i' T = '7';&_’1 : '-_!
H WGEHR2S26-2 ™" < - H WGEHR2020-2-L35 GUUSLL S
' - na |
T
E ﬁ[ e Tmax 5
@) F
= . = - C e
] | 1]
g L —l L h
[=]
—~ —~
N— N—
FEModel R~JSize (mm) 75 Blade | #2%Z Screw | #RFWrench FlEModel R~Size (mm) JJ5 Blade | #®%2 Screw | #x3FWrench
7] Left #7] Right W h | b | L |H]|F Tmx ey * { \ 7] Left 7] Right W|h | b |L |H/|F |Tmax el 0 ¢ \
MGEHL1010-1.5 MGEHR1010-1.5 15| 10 | 10 | 100 | 10 | 10 | 16 M4X14 L3 MGEHL1616-1.5L20 | MGEHR1616-1.5L20 | 1.5 | 16 | 16 | 125 | 16 | 16 | 20
MGEHL1212-1.5 MGEHR1212-1.5 15| 12| 12 |100] 12 | 12 | 16 M5X12 L4 MGMN150 M6X 14 L5
MGEHLI616.15 MGEHR1616.15 15| 16| 16 | 100 16 | 16 | 16 Mex1a MGEHL1616-1.5 25 MGEHR1616-1.5125 | 1.5 | 16 | 16 | 125 | 16 | 16 | 25
MGEHL2020-1.5 MGEHR2020-1.5 15| 20 | 20 | 125 | 20 | 20 | 16 | MGMNI50 M6X14 MGEHL1616-2 L20 MGEHR1616-2L20 | 2 | 16 | 16 | 125 | 16 | 16 | 20
L5
MGEHL2525-1.5 MGEHR2525-1.5 1.5 25 25 150 25 25 16 M6X16 MGEHL1616-2 L25 MGEHR1616-2 L25 2 16 16 | 125 16 16 25
MGEHL3232-1.5 MGEHR3232-1.5 15| 32 | 32 | 170 | 32 | 32 | 145 M6X16
MGEHL1010-2 MGEHR1010-2 2 | 10| 10100 10| 10 | 16 M4X14 L3 MGEHL2020-2125 MGEHR2020-2125 2| 20|20 112520 20 ) 2 M6X 14
MGEHL1212-2 MGEHR1212-2 2 12 | 12 | 100 | 12 | 12 17 M5X12 L4 MGEHL2020-2 L30 MGEHR2020-2 L30 2 20 | 20 | 125 | 20 | 20 30
MGEHL1616-2 MGEHR1616-2 2 16 16 100 16 16 17 MGMN200 M6X14 MGEHL2020-2 L35 MGEHR2020-2 L35 2 20 20 | 125 20 20 35
MGEHL2020-2 MGEHR2020-2 2 | 20 | 20 | 125 | 20 | 20 | 17 M6X14 s MGMN200 s
MGEHL2525.2 MGEHR2525.2 5 | 25 | 25 | 150 | 25 | 25 | 17 MEX16 MGEHL2525-2 125 MGEHR2525-2 L25 2 | 25 | 25 | 150 | 25 | 25 | 25
MGEHL3232-2 MGEHR3232-2 2 | 32| 32 | 170 | 32 | 32 | 145 M6X16 MGEHL2525-2 L30 MGEHR2525-2 L30 2 | 25 | 25 | 150 | 25 | 25 30
MGEHL1010-2.5 MGEHR1010-2.5 25| 10 | 10 | 100 | 10 | 10 | 16 M4x14 L3 MGEHL2525-2 135 MGEHR2525-2135 | 2 | 25 | 25 150 | 25 | 25 | 35
MGEHL1212-2.5 MGEHR1212-2.5 25| 12 | 12 |10 | 12 | 12 | 18 M5X12 L4 M6X 16
MGEHL1616.2.5 MGEHR1616.2.5 25| 16 | 16 | 100 | 16 | 16 | 18 Mox1a MGEHL3232-2 L25 MGEHR3232-2 L25 2 | 3232|170 32 |32 | 25
MGEHL2020-2.5 MGEHR2020-2.5 25 | 20 20 | 125 | 20 | 20 18 MGMN250 M6X14 MGEHL3232-2 L30 MGEHR3232-2 L30 2 32 | 32 | 170 | 32 | 32 30
MGEHL2525-2.5 MGEHR2525-2.5 25| 25 | 25 | 150 | 25 | 25 | 18 M6X16 L5 MGEHL3232-2 L35 MGEHR3232-2 L35 2 132 32 170 32 | 2 35
MGEHL3232-2.5 MGEHR3232-2.5 25| 32 | 32 | 170 | 32 | 32 | 17 M6X16 MGEHRL
MGEHLI010.3 MGEHRI0103 s T 10 10 10 01 0 Max1a 5 MGEHL1616-2.5 L20 616-25120 | 25 | 16 | 16 | 125 | 16 | 16 | 20
MGEHL1212-3 MGEHR1212-3 3 | 12| 12100 12 | 12 | 20 M5X12 L4 MGEHL1616-2.5 125 MGEHR1616-2.5125 | 25 | 16 | 16 | 125 | 16 | 16 | 25
MGEHL1616-3 MGEHR1616-3 3 | 16| 16 100 ) 16 | 16 | 20 M6X14 MGEHL2020-2.5125 | MGEHR2020-2.5L25 | 25 | 20 | 20 | 125 | 20 | 20 | 25
MGEHL2020-3 MGEHR2020-3 3020 | 20 125 20 | 20| 20 | o M6X14 VCENR2020.2.5 L0 M6 14
MGEHL2525-3 MGEHR2525-3 3 | 25 | 25 | 150 | 25 | 25 | 20 M6X16 L5 MGEHL2020-2.5L30 - 25120 | 20 1125 1 20 | 20 | 30
MGEHL3232-3 MGEHR3232-3 3 | 32| 32|10 32 | 32 | 20 M6X16 MGEHL2020-2.5 L35 MGEHR2020-2.5L35 | 25 | 20 | 20 | 125 | 20 | 20 | 35
MGEHL1010-4 MGEHR1010-4 4 | 10 ) 10 | 100 | 10 | 10 | 16 M4x14 L3 MGEHL2020-2.5140 | MGEHR2020-2.5140 | 25 | 20 | 20 | 150 | 20 | 20 | 40
MGEHL1212-4 MGEHR1212-4 4 | 12| 12 100 12 | 12 | 20 M5X12 L4 MGEHRDS .
MGEHL1616-4 MGEHR1616-4 4 | 16 | 16 | 100 | 16 | 16 | 20 M6X14 MGEHL2525-2.5125 el el R NCE T R T MGMN250 s
MGEHL2020-4 MGEHR2020-4 4 | 20| 20 | 125 | 20 | 20 | 20 M6X14 s MGEHL2525-2.5 L30 MGEHR2525-2.5130 | 2.5 | 25 | 25 | 150 | 25 | 25 | 30
MGMN400
MGEHL2525-4 MGEHR2525-4 4 125 25 [ 150 | 25 ) 25 ) 20 M6X16 MGEHL2525-2.5135 | MGEHR2525-2.5135 | 25 | 25 | 25 | 150 | 25 | 25 | 35
MGEHL3232-4 MGEHR3232-4 4 | 32| 32 |10 32 | 32 | 25 M6X16 MGEH MGEHR2525.2.5 L40 20
MGEHL2020-5 MGEHR2020-5 5 | 20 | 20 | 125 | 20 | 20 | 25 M6X14 L2525-2.5 140 - 251 25 | 25 150 | 25 ) 25 M6 X 16
MGEHL2525-5 MGEHR2525-5 5 25 25 | 150 | 25 25 25 MGMNS500 M6X16 L5 MGEHL3232-2.5 L25 MGEHR3232-2.51L25 | 2.5 | 32 32 | 170 | 32 | 32 25
MGEHL3232-5 MGEHR3232-5 5 32|32 |10) 32 |32 25 M6X16 MGEHL3232-2.5130 | MGEHR3232-25130 | 25 | 32 | 32 | 170 | 32 | 32 | 30
MGEHL2020-6 MGEHR2020-6 6 | 20 | 20 | 125 | 20 | 20 | 25 M6X14 MGEHL3239.9.5 L3 MGEHR3232.2.5 L35 .
MGEHL2525-6 MGEHR2525-6 6 | 25 | 25 | 150 | 25 | 25 | 25 MGMNG00 M6X16 L5 25135 - N R
MGEHL3232-6 MGEHR3232-6 6 | 32| 32 |10 | 32 | 32 | 25 M6X16 MGEHL3232-2.5 L40 MGEHR3232-25L40 | 25 | 32 | 32 | 170 | 32 | 32 | 40
W125 126



1]

=]

i

W27

V.PLD

1E (i) 7

GROOVING CUTTER

& (&) 7]

GROOVING CUTTER

V.PLD

— e ——

0"

Dmin

L1
L
|
FlEModel R~}Size (mm) JJ5 Blade | #®%2 Screw | #x3FWrench
7] Left A7 Right © Vod| L L |H|F|e ,o ~ —_
Dmin

SO7K-SNGL06 SO07K-SNGRO6 104 | 7 |125| 18 | 6 | 49 | 18°

6GR/L M2.2X6 T6
S08K-SNGLO6 S08K-SNGRO6 115 | 8 |125| 18 | 7 | 55 | 18°
S08K-SNGLO7 S08K-SNGRO7 11.8 | 8 |125| 18 | 7 | 58 | 15°

7GR/L M2.5X6
S10K-SNGLO7 S10K-SNGRO7 138 | 10 [125| 20 | 9 | 6.8 | 15°
SO8K-SNGL08 S08K-SNGRO8 128 | 8 |125| 20 | 7 | 6.8 | 15°
S10K-SNGLO8 S10K-SNGRO8 142 | 10 | 125| 20 | 9 | 7.2 | 15°
S12M-SNGLO8 S12M-SNGRO8 162 | 12 | 150 | 20 | 11 | 8.2 | 15° SGRIL
S14N-SNGL08 S14N-SNGR08 182 | 14 | 160 | 20 | 13 | 9.2 | 15°
S16Q-SNGL08 S16Q-SNGRO8 202 | 16 | 180 | 20 |14.8|10.2| 15° M2.5X8 T8
S12M-SNGLO09 S12M-SNGR09 17 | 12 | 150 | 20 | 11 | 9 | 15°
S14N-SNGL09 S14N-SNGR09 19 | 14 | 160 | 20 | 13 | 10 | 15°

9GR/L
S16Q-SNGL09 S16Q-SNGR0O9 213 | 16 | 180 | 20 |14.8 |11.3| 15° /
S20R-SNGL09 S20R-SNGR09 253 | 20 | 200 | 20 |18.6|13.3| 15°

A4S Model R~FSize (mm) J1F Blade | 1Rz Screw | #RFWrench
7] Left #7] Right W|h|b|L|H|F | Tmxl Weas wj"' { \\

MGEHL1616-3 L25 MGEHR1616-3 L25 3 |16 | 16 |125 | 16 | 16 | 25

MGEHL2020-3 .25 MGEHR2020-3 L25 3 120 |20 125 | 20 | 20 | 25

MGEHL2020-3 L30 MGEHR2020-3 L30 3 120 | 20 [125 | 20 | 20 30 M6Xx 14
MGEHL2020-3 L35 MGEHR2020-3 L35 3 |20 | 20 |125| 20 | 20 | 35

MGEHL2020-3 L40 MGEHR2020-3 L40 3 120 |20 150 | 20 | 20 | 40

MGEHL2525-3 L 25 MGEHR2525-3 L25 3 | 25 | 25 150 | 25 | 25 | 25

MGEHL2525-3 L30 MGEHR2525-3 L30 3 | 25 | 25 |150 | 25 | 25 | 30 | MGMN300 L5
MGEHL2525-3 L35 MGEHR2525-3 L35 3 | 25 | 25 |150 | 25 | 25 | 35

MGEHL2525-3 L40 MGEHR2525-3 L40 3 | 25 | 25 |150 | 25 | 25 | 40

MGEHL3232-3 125 MGEHR3232-3 L25 3 |32 |32 |170 | 32 |32 | 25 Mo e
MGEHL3232-3L30 MGEHR3232-3 L30 3 1323217032 |32 | 30

MGEHL3232-3 35 MGEHR3232-3 L35 3 |32 |32 170 |32 |32 | 35

MGEHL3232-3 L40 MGEHR3232-3 L40 3 132 |32 170 | 32 | 32 | 40

MGEHL1616-4 L25 MGEHR1616-4 .25 4 | 16 | 16 | 125 | 16 | 16 | 25

MGEHL2020-4 L25 MGEHR2020-4 L25 4 | 20 | 20 |125 | 20 | 20 | 25

MGEHL2020-4 L30 MGEHR2020-4 L30 4 | 20 | 20 |125 | 20 | 20 | 30 M6Xx14
MGEHL2020-4 L35 MGEHR2020-4 L35 4 | 20 | 20 |125 | 20 | 20 | 35

MGEHL2020-4 L40 MGEHR2020-4 40 4 | 20 | 20 | 150 | 20 | 20 | 40

MGEHL2525-4 125 MGEHR2525-4 L25 4 | 25 | 25 |150 | 25 | 25 | 25

MGEHL2525-4 L30 MGEHR2525-4 .30 4 | 25 | 25 | 150 | 25 | 25 | 30 | MGMN400 L5
MGEHL2525-4 L35 MGEHR2525-4 L35 4 | 25 | 25 |150 | 25 | 25 | 35

MGEHL2525-4 L40 MGEHR2525-4 L40 4 | 25 | 25 | 150 | 25 | 25 | 40

MGEHL3232-4 125 MGEHR3232-4 L25 4 |32 |32 |170 | 32 |32 | 25 MEx16
MGEHL3232-4 130 MGEHR3232-4 L30 4 |32 | 32 |170 | 32 | 32 | 30

MGEHL3232-4 135 MGEHR3232-4 L35 4 | 32 |32 (170 | 32 |32 | 35

MGEHL3232-4 L40 MGEHR3232-4 L40 4 |32 | 32 |170 | 32 | 32 | 40

MGEHL2020-5 L30 MGEHR2020-5 L30 5 120 |20 |125 | 20 | 20 | 30

MGEHL2020-5 L35 MGEHR2020-5 L35 5 |20 | 20 125 | 20 | 20 | 35 M6 X 14
MGEHL2020-5 L40 MGEHR2020-5 L40 5 |20 | 20 | 150 | 20 | 20 | 40

MGEHL2525-5 L30 MGEHR2525-5 L30 5 | 25 | 25 | 150 | 25 | 25 | 30

MGEHL2525-5 L35 MGEHR2525-5 L35 5 | 25 | 25 [150 | 25 | 25 35 | MGMN500 L5
MGEHL2525-5 L40 MGEHR2525-5 L40 5 | 25 | 25 | 150 | 25 | 25 | 40

MGEHL3232-5 30 MGEHR3232-5 L30 5 |32 |32 170 | 32 | 32 | 30 Mo 16
MGEHL3232-5 L35 MGEHR3232-5 L35 5 | 32 |32 170 | 32 | 32 | 35

MGEHL3232-5 L40 MGEHR3232-5 L40 5 |32 |32 170 | 32 | 32 | 40

MGEHL2020-6 L30 MGEHR2020-6 .30 6 | 20 | 20 | 125 | 20 | 20 | 30

MGEHL2020-6 L35 MGEHR2020-6 L35 6 | 20 | 20 |125 | 20 | 20 | 35 M6X 14
MGEHL2020-6 L40 MGEHR2020-6 L40 6 | 20 | 20 [150 | 20 | 20 | 40

MGEHL2525-6 L30 MGEHR2525-6 L30 6 | 25 | 25 | 150 | 25 | 25 | 30

MGEHL2525-6 L35 MGEHR2525-6 L35 6 | 25 | 25 | 150 | 25 | 25 | 35 | MGMNG600O L5
MGEHL2525-6 L40 MGEHR2525-6 L40 6 | 25 | 25 | 150 | 25 | 25 | 40

MGEHL3232-6 L30 MGEHR3232-6 L30 6 | 32 |32 170 | 32 | 32 | 30 M6 16
MGEHL3232-6 L35 MGEHR3232-6 L35 6 | 32 |32 170 | 32 | 32 | 35

MGEHL3232-6 L40 MGEHR3232-6 L40 6 | 32 | 32 170 | 32 | 32 | 40

B

=]
*
7]

128



V.PLD 77 7 WIPLD

Dmin

-
1 —r—
- Fi ; s I %
od
_t)J L1
e B E—

& L B
—~ | —~
N— N—

S Model R~FSize (mm) 715 Blade 1224 Screw | #RFWrench R~JSize (mm) JJF Blade 1822 Screw | #RFWrench
#lEModel
Left Right ® . n q — ® 0 q —
=7 7] Rig o> led L L | H|F|a i 52| od L L H i
SIGEL0808A-EH SIGER0808A-EH 98 | 8 |125| 25 | 7 |48 18° MG-H12-15-05R-MBO5 9 12 100 15 11
GER/L**-A M2.2X6 6 MBO5CIC] M2.2X6 T6
SIGEL1010A-EH SIGER1010A-EH 12 | 1012525 | 9 | 6 | 18 MG-H16-15-05R-MB05 9 16 120 15 15
SIGEL1010B-EH SIGER1010B-EH 12 | 1012525 | 9 | 6 |18 MG-H16-20-07R-MBO7 115 16 120 20 15 MBO7LIC] M3x8 T8
SIGEL1210B-EH SIGER1210B-EH 128 | 10 |125|30 | 9 |68 | 18 MG-H16-30-09R-MBO9 165 | 16 120 | 30 5 MBoSLIL M4x10 T15
GER/L**-B
SIGEL1212B-EH SIGER1212B-EH 138 | 12 | 150 | 30 | 11 | 6.8 | 18°
SIGEL1412B-EH SIGER1412B-EH 148 | 12 | 150 | 32 | 11 | 7.8 | 15 M25X8 T8
SIGEL1210C-EH SIGER1210C-EH 128 | 10 |125|30 | 9 |68 | 18
SIGEL1412C-EH SIGER1412C-EH 148 | 12 | 150 | 32 | 11 | 7.8 | 15°| GER/L™*C
SIGEL1616C-EH SIGER1616C-EH 178 | 16 | 180 | 38 |14.8 | 88 | 15°
SIGEL1414D-EH SIGER1414D-EH 19 | 14 |160] 30 | 13 | 11 | 15°
SIGEL2020D-EH SIGER2020D-EH 225 | 20 | 180 | 42 | 186|115 15°|  GER/L™*-D M3X8 T8
SIGEL2520D-EH SIGER2520D-EH 238 | 20 | 180 | 42 |18:6 |12.8| 15°
SIGEL2525E-EH SIGER2525E-EH 293 | 25 | 200 | 45 | 23 |158 | 15°|  GER/L*-E M4X 10 T15
W29 W 130



V.PLD

*ﬁ

%ﬁ
7]

131

18 (k) 71

GROOVING CUTTER

71 (k) 70

GROOVING CUTTER

V.PLD

-

Dmin
-
- - -
od—/"
L1
L
1
R~FSize (mm) JJF Blade 1822 Screw | #{RFWrench
FlEModel ]
¢ od F L L1 H o ~ —fll—
Dmin =
SGIVFR10K11 11 10 55 125 17 9
VC1103R/LOIC] M2.5X6 T8
SGIVFR12K11 13 12 6.5 125 17 11
SGIVFR16Q16 17 16 8.2 180 27 14.8
SGIVFR20Q16 21 20 10.2 180 27 18.6 VC1604R/LIC] M4X10 T15
SGIVFR25R16 26 25 12.7 200 27 23
Dmin

L 1 w =
| Tmax -
L1
L
|
IS Model R~fSize (mm) JJ5 Blade 1842 Screw |#RFWrench
7] Left 47] Right W | od F L1 L H | Tmax ‘:@ ‘_“"‘g a

MGIVL2016-1.5 MGIVR2016-1.5 15 126 5 MGMN150
MGIVL2016-2 MGIVR2016-2 2 126 5 MGMN200
MGIVL2016-2.5 MGIVR2016-2.5 25 | 1o | 14 | 50 | 180 | 148] © MGMN250 Max 10 L3
MGIVL2016-3 MGIVR2016-3 3 14.85 7 MGMN300
MGIVL2016-4 MGIVR2016-4 4 14.85 7 MGMN400
MGIVL2520-1.5 MGIVR2520-1.5 15 14.5 5 MGMN150
MGIVL2520-2 MGIVR2520-2 2 145 5 MGMN200
MGIVL2520-2.5 MGIVR2520-2.5 2.5 155 6 MGMN250

M5X 12 L4
MGIVL2520-3 MGIVR2520-3 30 50 [165] 35 | 200 | 186] 7 MGMN300
MGIVL2520-4 MGIVR2520-4 4 16.5 7 MGMN400
MGIVL2520-5 MGIVR2520-5 5 18 8 MGMN500
MGIVL2925-1.5 MGIVR2925-1.5 15 17 5 MGMN150
MGIVL2925-2 MGIVR2925-2 2 17 5 MGMN200
MGIVL2925-2.5 MGIVR2925-2.5 2.5 18 6 MGMN250 M5 X 14 La
MGIVL3125-3 MGIVR3125-3 3 |2 |89 B 280 23] 4 MGMN300
MGIVL3125-4 MGIVR3125-4 4 18.9 7 MGMN400
MGIVL3125-5 MGIVR3125-5 5 19.8 8 MGMN500
MGIVL3732-1.5 MGIVR3732-1.5 15 20.5 5 MGMN150
MGIVL3732-2 MGIVR3732-2 2 20.5 5 MGMN200
MGIVL3732-2.5 MGIVR3732-2.5 25 215 6 MGMN250
MGIVL3732-3 MGIVR3732-3 3 n 25 o a0l 30| ] MGMN300 M6x20 L5
MGIVL3732-4 MGIVR3732-4 4 225 7 MGMN400
MGIVL3732-5 MGIVR3732-5 5 23,5 8 MGMN500
MGIVL3732-6 MGIVR3732-6 6 235 8 MGMNG600
MGIVL4540-3 MGIVRA4540-3 3 8 MGMN300
MGIVL4540-4 MGIVRA4540-4 4 ao lo7a | ss | 300 | 37| @ MGMN400 M6x20 s
MGIVL4540-5 MGIVRA4540-5 5 8 MGMN500
MGIVL4540-6 MGIVRA4540-6 6 8 MGMN600

L1
L
1
Fl5Model R~fSize (mm) J1F Blade 1222 Screw | I®kFWrench
. q) H :
7] Left 7] Right Dmin| ®d | F | L | b ” —H‘E'"

S16Q-SGBL16 S16Q-SGBR16 20 16 11 180 15 | 14.8
S20R-SGBL16 S20R-SGBR16 25 20 13 200 32 | 18.6

TGF32R/L M4 X 10 T15
$255-SGBL16 $255-SGBR16 30 | 25 | 155|250 | 35 | 23
S32T-SGBL16 S32T-SGBR16 38 32 19 300 40 30

$32T-SGBL22 $32T-SGBR22 39 | 32 |19.5| 300 | 40 | 30 TGF43R/L M5X 12 T20

*ﬁ

o
7]

132



V.PLD 77

]

I
7]

W33

N4 (k) 7]

GROOVING CUTTER

V.PLD

=

1

F 1 a

s e

FlEModel R~}Size (mm) JJ5 Blade 1842 Screw #FWrench

=7 Left A7 Right h | b | L H | F ﬁ ~ —_.'-=
PCHL12-24 PCHR12-24 12 | 12 | 100 | 12 | 11 M5X 10
PCHL16-24 PCHR16-24 16 | 16 | 100 | 16 | 15

PENTA24N239J015 T20
PCHL20-24 PCHR20-24 20 | 20 | 125 | 20 | 19 M5X 12
PCHL25-24 PCHR25-24 25 | 25 | 150 | 25 | 24

F el
| @e
. L
FEModel R~FSize (mm) JJF Blade | #2%2 Screw | #xFWrench
7] Left 7] Right hlb | L | u | F |tma _a' ~ __.!_,
SGEL1212H-D SGER1212H-D 12 | 12 100 | 12 | 12 | 5
SGEL1616H-D SGER1616H-D 16 | 16 | 100 | 16 | 16 | 5
GER/LOJ-D M3X 10 T8
SGEL2020K-D SGER2020K-D 20 | 20 | 125 | 20 | 20 | 5
SGEL2525M-D SGER2525M-D 25 | 25 | 150 | 25 | 25 | 5
—— | 100
H <
0
F
L[
Y Tamx
L
AEModel R~FSize (mm) JJk Blade | #2%2 Screw | #xFWrench
1D Left #7] Right h| b | L[ w | F|mmax "R ” _.+
B-SGEL1212H-D B-SGER1212H-D 12 | 12 100 | 12 | 20 | 5
B-SGEL1616H-D B-SGER1616H-D 16 | 16 | 100 | 16 | 22 | 5
GER/LCJCI-D M3X 10 T8
B-SGEL2020K-D B-SGER2020K-D 20 | 20 | 125 | 20 | 26 | 5
B-SGEL2525M-D B-SGER2525M-D 25 | 25 [ 150 | 25 | 31 | 5

(%K) @S

W34



*ﬁ

*
7]

135

V.PLD

L1 (i) 70

GROOVING CUTTER

& (&) 7]

GROOVING CUTTER

V.PLD

A__
-
e

H ey
Min
Max
Tmax B
/) F <—.| a
v —
L
R~JSize (mm) JJF Blade | #2%2 Screw | #xZFWrench
El=Model i
b/h | H F L | MIN | MAX | Tmax %'}"‘ { “\\

MGAH220R-20/36 20 | 20 | 21 | 125 | 20 | 36 | 8

MGAH220R-25/35 20 | 20 | 21 | 125 | 25 | 35 | 8

MGAH220R-30/50 20 | 20 | 21 | 125 | 30 | 50 | 10

MGAH220R-35/48 20 | 20 | 21 | 125 | 35 | 48 | 10

MGAH220R-48/66 20 | 20 | 21 | 125 | 48 | 66 | 10

MGAH220R-50/80 20 | 20 | 21 | 125 | 50 | 8 | 10

MGAH220R-64/100 20 | 20 | 21 | 125 | 64 | 100 | 10

MGAH220R-80/160 20 | 20 21 | 125 | 80 | 160 | 13 M6 X 14
MGAH220R-98/160 20 | 20 | 21 | 125 | 98 | 160 | 13
MGAH220R-100/140 20 | 20 | 21 | 125 | 100 | 140 | 13
MGAH220R-100/200 20 | 20 | 21 | 125 | 100 | 200 | 13
MGAH220R-160/300 20 | 20 | 21 | 125 | 160 | 300 | 15
MGAH220R-160/400 20 | 20 | 21 | 125 | 160 | 400 | 15 MGMN200 s
MGAH220R-200/800 20 | 20 | 21 | 125 | 200 | 800 | 15

MGAH225R-20/36 25 | 25 | 26 | 150 | 20 | 36 | 8

MGAH225R-25/35 25 | 25 | 26 | 150 | 25 | 35 | 8

MGAH225R-30/50 25 | 25 | 26 | 150 | 30 | 50 | 10

MGAH225R-35/48 25 | 25 | 26 | 150 | 35 | 48 | 10

MGAH225R-48/66 25 | 25 | 26 | 150 | 48 | 66 | 10

MGAH225R-50/80 25 | 25 | 26 | 150 | 50 | 80 | 10

MGAH225R-64/100 25 | 25 | 26 | 150 | 64 | 100 | 10

MGAH225R-80/160 25 | 25 | 26 | 150 | 80 | 160 | 13

MGAH225R-98/160 25 | 25 | 26 | 150 | 98 | 160 | 13 Mo 16
MGAH225R-100/140 25 | 25 | 26 | 150 | 100 | 140 | 13
MGAH225R-100/200 25 | 25 | 26 | 150 | 100 | 200 | 13
MGAH225R-160/300 25 | 25 | 26 | 150 | 160 | 300 | 15
MGAH225R-160/400 25 | 25 | 26 | 150 | 160 | 400 | 15
MGAH225R-200/800 25 | 25 | 26 | 150 | 200 | 800 | 15

MGAH2.520R-20/36 20 | 20 | 21 | 125 | 20 | 36 | 8 MGMN250 M6X 14 L5

RfSize (mm) JJF Blade | #8%% Screw | #RFWrench
FlEModel .
b/h | H | F L | MIN | MAX | Tmax | Hlam '}". / \\
MGAH2.520R-25/35 20 | 20 | 21 | 125 | 25 | 35 | 8
MGAH2.520R-30/50 20 | 20 | 21 | 125 | 30 | 50 | 10
MGAH2.520R-35/48 20 | 20 | 21 | 125 | 35 | 48 | 10
MGAH2.520R-48/66 20 | 20 | 21 | 125 | 48 | 66 | 10
MGAH2.520R-50/80 20 | 20 | 21 | 125 | 50 | 80 | 10
MGAH2.520R-64/100 20 | 20 | 21 | 125 | 64 | 100 | 10
MGAH2.520R-80/160 20 | 20 | 21 | 125 | 80 | 160 | 13 MEX 14
MGAH2.520R-98/160 20 | 20 | 21 | 125 | 98 | 160 | 13
MGAH2.520R-100/140 20 | 20 | 21 | 125 | 100 | 140 | 13
MGAH2.520R-100/200 20 | 20 | 21 | 125 | 100 | 200 | 13
MGAH2.520R-160/300 20 | 20 | 21 | 125 | 160 | 300 | 15
MGAH2.520R-160/400 20 | 20 | 21 | 125 | 160 | 400 | 15
MGAH2.520R-200/800 20 | 20 | 21 | 125 | 200 | 800 | 15 | g
MGAH2.525R-20/36 25 | 25 | 26 | 150 | 20 | 36 | 8
MGAH2.525R-25/35 25 | 25 | 26 | 150 | 25 | 35 | 8
MGAH2.525R-30/50 25 | 25 | 26 | 150 | 30 | 50 | 10
MGAH2.525R-35/48 25 | 25 | 26 | 150 | 35 | 48 | 10
MGAH2.525R-48/66 25 | 25 | 26 | 150 | 48 | 66 | 10
MGAH2.525R-50/80 25 | 25 | 26 | 150 | 50 | 80 | 10
MGAH2.525R-64/100 25 | 25 | 26 | 150 | 64 | 100 | 10
MGAH2.525R-80/160 25 | 25 | 26 | 150 | 80 | 160 | 13 M6x 16
MGAH2.525R-98/160 25 | 25 | 26 | 150 | 98 | 160 | 13
MGAH2.525R-100/140 25 | 25 | 26 | 150 | 100 | 140 | 13
MGAH2.525R-100/200 25 | 25 | 26 | 150 | 100 | 200 | 13
MGAH2.525R-160/300 25 | 25 | 26 | 150 | 160 | 300 | 15
MGAH2.525R-160/400 25 | 25 | 26 | 150 | 160 | 400 | 15
MGAH2.525R-200/800 25 | 25 | 26 | 150 | 200 | 800 | 15
MGAH320R-20/36 20 | 20 | 21 | 125 | 20 | 36 | 13
MGAH320R-25/35 20 | 20 | 21 | 125 | 25 | 35 | 13
MGAH320R-30/50 20 | 20 | 21 | 125 | 30 | 50 | 16
MGAH320R-35/48 20 | 20 | 21 | 125 | 35 | 48 | 16
MGAH320R-48/66 20 | 20 | 21 | 125 | 48 | 66 | 16
MGAH320R-50/80 20 | 20 | 21 | 125 | 50 | 80 | 16
MGAH320R-64/100 20 | 20 | 21 | 125 | 64 | 100 | 16 M6x 14
MGAH320R-80/160 20 | 20 | 21 | 125 | 80 | 160 | 18
MGAH320R-98/160 20 | 20 | 21 | 125 | 98 | 160 | 18 MGMN300 L5
MGAH320R-100/140 20 | 20 | 21 | 125 | 100 | 140 | 18
MGAH320R-100/200 20 | 20 | 21 | 125 | 100 | 200 | 18
MGAH320R-160/300 20 | 20 | 21 | 125 | 160 | 300 | 20
MGAH320R-160/400 20 | 20 | 21 | 125 | 160 | 400 | 20
MGAH320R-200/800 20 | 20 | 21 | 125 | 200 | 800 | 20
MGAH325R-20/36 25 | 25 | 26 | 150 | 20 | 36 | 13
MGAH325R-25/35 25 | 25 | 26 | 150 | 25 | 35 | 13 MEx16

*ﬁ

*
7]

136



1]

=]

b

W37

V.PLD

N4 (k) 70

GROOVING CUTTER

& (&) 7]

GROOVING CUTTER

V.PLD

R~ Size (mm) JJF Blade | #2%2 Screw | #xZFWrench
FlEModel B
bh | H | F | L | MN|maAx |[Tmax| Ulamy | W N
MGAH520R-35/48 20 | 20 | 21 | 125 | 35 | 48 | 16
MGAH520R-48/66 20 | 20 | 21 | 125 | 48 | 66 | 16
MGAH520R-50/80 20 | 20 | 21 | 125 | 50 | 80 | 16
MGAH520R-64/100 20 | 20 | 21 | 125 | 64 | 100 | 16
MGAH520R-80/160 20 | 20 | 21 | 125 | 80 | 160 | 18
MGAH520R-98/160 20 | 20 | 21 | 125 | 98 | 160 | 18 M6X 14
MGAH520R-100/140 20 | 20 | 21 | 125 | 100 | 140 | 18
MGAH520R-100/200 20 | 20 | 21 | 125 | 100 | 200 | 18
MGAH520R-160/300 20 | 20 | 21 | 125 | 160 | 300 | 20
MGAH520R-160/400 20 | 20 | 21 | 125 | 160 | 400 | 20
MGAH520R-200/800 20 | 20 | 21 | 125 | 200 | 800 | 20
MGAH525R-20/36 25 | 25 | 26 | 150 | 20 | 36 | 13 MGMN500 L5
MGAH525R-25/35 25 | 25 | 26 | 150 | 25 | 35 | 13
MGAH525R-30/50 25 | 25 | 26 | 150 | 30 | 50 | 16
MGAH525R-35/48 25 | 25 | 26 | 150 | 35 | 48 | 16
MGAH525R-48/66 25 | 25 | 26 | 150 | 48 | 66 | 16
MGAH525R-50/80 25 | 25 | 26 | 150 | 50 | 80 | 16
MGAH525R-64/100 25 | 25 | 26 | 150 | 64 | 100 | 16
MGAH525R-80/160 25 | 25 | 26 | 150 | 80 | 160 | 18 Mex16
MGAH525R-98/160 25 | 25 | 26 | 150 | 98 | 160 | 18
MGAH525R-100/140 25 | 25 | 26 | 150 | 100 | 140 | 18
MGAH525R-100/200 25 | 25 | 26 | 150 | 100 | 200 | 18
MGAH525R-160/300 25 | 25 | 26 | 150 | 160 | 300 | 20
MGAH525R-160/400 25 | 25 | 26 | 150 | 160 | 400 | 20
MGAH525R-200/800 25 | 25 | 26 | 150 | 200 | 800 | 20

R~fSize (mm) JJ5 Blade | #8%% Screw | #xRFWrench
FEModel i
bh | H | F | L MIN v | Tmax | e | Ty | TN
MGAH325R-30/50 25 | 25 | 26 | 150 | 30 | 50 | 16
MGAH325R-35/48 25 | 25 | 26 | 150 | 35 | 48 | 16
MGAH325R-48/66 25 | 25 | 26 | 150 | 48 | 66 | 16
MGAH325R-50/80 25 | 25 | 26 | 150 | 50 | 80 | 16
MGAH325R-64/100 25 | 25 | 26 | 150 | 64 | 100 | 16
MGAH325R-80/160 25 | 25 | 26 | 150 | 80 | 160 | 18
MGMN300 M6X 16 L5
MGAH325R-98/160 25 | 25 | 26 | 150 | 98 | 160 | 18
MGAH325R-100/140 25 | 25 | 26 | 150 | 100 | 140 | 18
MGAH325R-100/200 25 | 25 | 26 | 150 | 100 | 200 | 18
MGAH325R-160/300 25 | 25 | 26 | 150 | 160 | 300 | 20
MGAH325R-160/400 25 | 25 | 26 | 150 | 160 | 400 | 20
MGAH325R-200/800 25 | 25 | 26 | 150 | 200 | 800 | 20
MGAH420R-20/36 20 | 20 | 21 | 125 | 20 | 36 | 13
MGAH420R-25/35 20 | 20 | 21 | 125 | 25 | 35 | 13
MGAH420R-30/50 20 | 20 | 21 | 125 | 30 | 50 | 16
MGAH420R-35/48 20 | 20 | 21 | 125 | 35 | 48 | 16
MGAH420R-48/66 20 | 20 | 21 | 125 | 48 | 66 | 16
MGAH420R-50/80 20 | 20 | 21 | 125 | 50 | 80 | 16
MGAH420R-64/100 20 | 20 | 21 | 125 | 64 | 100 | 16 M6 X 14
MGAH420R-80/160 20 | 20 | 21 | 125 | 80 | 160 | 18
MGAH420R-98/160 20 | 20 | 21 | 125 | 98 | 160 | 18
MGAH420R-100/140 20 | 20 | 21 | 125 | 100 | 140 | 18
MGAH420R-100/200 20 | 20 | 21 | 125 | 100 | 200 | 18
MGAH420R-160/300 20 | 20 | 21 | 125 | 160 | 300 | 20
MGAH420R-160/400 20 | 20 | 21 | 125 | 160 | 400 | 20
MGAH420R-200/800 20 | 20 | 21 | 125 | 200 | 800 | 20 MGMN400 L5
MGAH425R-20/36 25 | 25 | 26 | 150 | 20 | 36 | 13
MGAH425R-25/35 25 | 25 | 26 | 150 | 25 | 35 | 13
MGAH425R-30/50 25 | 25 | 26 | 150 | 30 | 50 | 16
MGAH425R-35/48 25 | 25 | 26 | 150 | 35 | 48 | 16
MGAH425R-48/66 25 | 25 | 26 | 150 | 48 | 66 | 16
MGAH425R-50/80 25 | 25 | 26 | 150 | 50 | 80 | 16
MGAH425R-64/100 25 | 25 | 26 | 150 | 64 | 100 | 16
MGAH425R-80/160 25 25 26 150 | 80 160 | 18 M6X16
MGAH425R-98/160 25 | 25 | 26 | 150 | 98 | 160 | 18
MGAH425R-100/140 25 | 25 | 26 | 150 | 100 | 140 | 18
MGAH425R-100/200 25 | 25 | 26 | 150 | 100 | 200 | 18
MGAH425R-160/300 25 | 25 | 26 | 150 | 160 | 300 | 20
MGAH425R-160/400 25 | 25 | 26 | 150 | 160 | 400 | 20
MGAH425R-200/800 25 | 25 | 26 | 150 | 200 | 800 | 20
MGAH520R-20/36 20 | 20 | 21 | 125 | 20 | 36 | 13
MGAH520R-25/35 20 | 20 | 21 | 125 | 25 | 35 | 13 MGMN500 M6 X 14 L5
MGAH520R-30/50 20 | 20 | 21 | 125 | 30 | 50 | 16

1]

=]

b

138



i

=]
*
7]

W139

V.PLD

L4& (i) 7

GROOVING CUTTER

1E (&) 7]

GROOVING CUTTER

V.PLD

- — S . R T
Min
Max
? a Tmax F
; _ © 1!
L
R~FSize (mm) J1F Blade | #2842 Screw | #&xFWrench
FEModel .

b/h | H | F L | MIN | MAX |Tmax | {Hlae '}". { \\
MGHH320R-20/36 20 | 20 | 21 | 125 | 20 | 36 | 25
MGHH320R-25/35 20 | 20 | 21 | 125 | 25 | 35 | 25
MGHH320R-30/50 20 | 20 | 21 | 125 | 30 | 50 | 25
MGHH320R-35/48 20 | 20 | 21 | 125 | 35 | 48 | 25
MGHH320R-48/66 20 | 20 | 21 | 125 | 48 | 66 | 25
MGHH320R-50/80 20 | 20 | 21 | 125 | 50 | 80 | 25
MGHH320R-64/100 20 | 20 | 21 | 125 | 64 | 100 | 25 M6 X14
MGHH320R-80/160 20 | 20 | 21 | 125 | 80 | 160 | 25
MGHH320R-98/160 20 | 20 | 21 | 125 | 98 | 160 | 25
MGHH320R-100/140 20 | 20 | 21 | 125 | 100 | 140 | 25
MGHH320R-100/200 20 | 20 | 21 | 125 | 100 | 200 | 25
MGHH320R-160/300 20 | 20 | 21 | 125 | 160 | 300 | 25
MGHH320R-160/400 20 | 20 | 21 | 125 | 160 | 400 | 25
MGHH320R-200/800 20 | 20 | 21 | 125 | 200 | 800 | 25 MGMN300 L5
MGHH325R-20/36 25 | 25 | 26 | 150 | 20 | 36 | 25
MGHH325R-25/35 25 | 25 | 26 | 150 | 25 | 35 | 25
MGHH325R-30/50 25 | 25 | 26 | 150 | 30 | 50 | 25
MGHH325R-35/48 25 | 25 | 26 | 150 | 35 | 48 | 25
MGHH325R-48/66 25 | 25 | 26 | 150 | 48 | 66 | 25
MGHH325R-50/80 25 | 25 | 26 | 150 | 50 | 80 | 25
MGHH325R-64/100 25 | 25 | 26 | 150 | 64 | 100 | 25 VX 16
MGHH325R-80/160 25 | 25 | 26 | 150 | 80 | 160 | 25
MGHH325R-98/160 25 | 25 | 26 | 150 | 98 | 160 | 25
MGHH325R-100/140 25 | 25 | 26 | 150 | 100 | 140 | 25
MGHH325R-100/200 25 | 25 | 26 | 150 | 100 | 200 | 25
MGHH325R-160/300 25 | 25 | 26 | 150 | 160 | 300 | 25
MGHH325R-160/400 25 | 25 | 26 | 150 | 160 | 400 | 25
MGHH325R-200/800 25 | 25 | 26 | 150 | 200 | 800 | 25

R~} Size (mm) JJ5 Blade | #8%2 Screw | #xFWrench
BlEModel .
b/h | H | F L | MIN | MAX |Tmax | e e { \"'\

MGHH420R-20/36 20 | 20 | 21 | 125 | 20 | 36 | 25

MGHH420R-25/35 20 | 20 | 21 | 125 | 25 | 35 | 25

MGHH420R-30/50 20 | 20 | 21 | 125 | 30 | 50 | 25

MGHH420R-35/48 20 | 20 | 21 | 125 | 35 | 48 | 25

MGHH420R-48/66 20 | 20 | 21 | 125 | 48 | 66 | 25

MGHH420R-50/80 20 | 20 | 21 | 125 | 50 | 80 | 25

MGHH420R-64/100 20 | 20 | 21 | 125 | 64 | 100 | 25 M6 X 14
MGHH420R-80/160 20 | 20 | 21 | 125 | 80 | 160 | 25

MGHHA420R-98/160 20 | 20 | 21 | 125 | 98 | 160 | 25

MGHH420R-100/140 20 | 20 | 21 | 125 | 100 | 140 | 25

MGHH420R-100/200 20 | 20 | 21 | 125 | 100 | 200 | 25

MGHH420R-160/300 20 | 20 | 21 | 125 | 160 | 300 | 25

MGHH420R-160/400 20 | 20 | 21 | 125 | 160 | 400 | 25 MGMN400 L5
MGHH420R-200/800 20 | 20 | 21 | 125 | 200 | 800 | 25

MGHH425R-20/36 25 | 25 | 26 | 150 | 20 | 36 | 25

MGHH425R-25/35 25 | 25 | 26 | 150 | 25 | 35 | 25

MGHH425R-30/50 25 | 25 | 26 | 150 | 30 | 50 | 25

MGHH425R-35/48 25 | 25 | 26 | 150 | 35 | 48 | 25

MGHH425R-48/66 25 | 25 | 26 | 150 | 48 | 66 | 25

MGHH425R-50/80 25 | 25 | 26 | 150 | 50 | 80 | 25

MGHH425R-64/100 25 | 25 | 26 | 150 | 64 | 100 | 25

MGHH425R-80/160 25 | 25 | 26 | 150 | 80 | 160 | 25 Mex16
MGHH425R-98/160 25 | 25 | 26 | 150 | 98 | 160 | 25

MGHH425R-100/140 25 | 25 | 26 | 150 | 100 | 140 | 25

MGHH425R-100/200 25 | 25 | 26 | 150 | 100 | 200 | 25

MGHH425R-160/300 25 | 25 | 26 | 150 | 160 | 300 | 25

MGHH425R-160/400 25 | 25 | 26 | 150 | 160 | 400 | 25

MGHH425R-200/800 25 | 25 | 26 | 150 | 200 | 800 | 25

MGHH520R-20/36 20 | 20 | 21 | 125 | 20 | 36 | 25

MGHH520R-25/35 20 | 20 | 21 | 125 | 25 | 35 | 25

MGHHS520R-30/50 20 | 20 | 21 | 125 | 30 | 50 | 25

MGHHS520R-35/48 20 | 20 | 21 | 125 | 35 | 48 | 25

MGHH520R-48/66 20 | 20 | 21 | 125 | 48 | 66 | 25

MGHH520R-50/80 20 | 20 | 21 | 15| 50 | 80 |25 | VX 14 s
MGHHS520R-64/100 20 | 20 | 21 | 125 | 64 | 100 | 25

MGHHS520R-80/160 20 | 20 | 21 | 125 | 80 | 160 | 25

MGHH520R-98/160 20 | 20 | 21 | 125 | 98 | 160 | 25

MGHH520R-100/140 20 | 20 | 21 | 125 | 100 | 140 | 25

MGHHS520R-100/200 20 | 20 | 21 | 125 | 100 | 200 | 25

i

(K)o

140




V.PLD 77 e XIPLD

|L--fr—'-*——
RFSize (mm) JJF Blade | #2%2 Screw | #x3FWrench A = o
E1EModel -, < | H
b/h | H | F L | MIN | MAX | Tmax | s I f"\
: 4 e S | 2
MGHH520R-160/300 20 | 20 | 21 | 125 | 160 | 300 | 25
Min
MGHH520R-160/400 20 20 21 125 | 160 | 400 | 25 M6X 14 Max
MGHH520R-200/800 20 | 20 | 21 | 125 | 200 | 800 | 25 = B Tmax |
MGHH525R-20/36 25 | 25 | 26 | 150 | 20 36 | 25 ) < @ ~- F
MGHH525R-25/35 25 | 25 | 26 | 150 | 25 | 35 | 25 h =
1] MGHH525R-30/50 25 | 25 | 26 | 150 | 30 | 50 | 25 L %’
#h
iE'\ MGHH525R-35/48 25 | 25 | 26 | 150 | 35 | 48 | 25 =
i MGHH525R-48/66 25 | 25 | 26 | 150 | 48 | 66 | 25 o
~ N—
7] MGHH525R-50/80 25 | 25 | 26 | 150 | 50 | 80 | 25 MGMN500 L5 7]
MGHH525R-64/100 25 25 26 150 | 64 100 | 25 MEX 16 RFSize (mm) JJ5 Blade | #2% Screw | #RFEWrench
MGHH525R-80/160 25 25 26 150 | 80 | 160 | 25 #5Model
MGHH525R-98/160 25 | 25 | 26 | 150 | 98 | 160 | 25 b/h | H | F L | MIN | MAX | Tmax | Tl @ 4 \\
MGHH525R-100/140 25 | 25 | 26 | 150 | 100 | 140 | 25 MGHH220R 20/36 20 | 20 | 21 | 125 | 20 | 36 8
MGHH525R-100/200 25 | 25 | 26 | 150 | 100 | 200 | 25 MGHH220R-25/35 20 | 20 | 21 | 125 25 | 35 8
MGHH525R-160/300 25 25 26 150 160 300 25 MGHH220R-30/50 20 20 21 125 30 50 10
MGHH525R-160/400 25 25 26 150 160 400 25 MGHH220R-35/48 20 20 21 125 35 48 10
MGHH525R-200/800 25 | 25 | 26 | 150 | 200 | 800 | 25 MGHH220R-48/66 20 | 20 | 21 | 125 | 48 | 66 | 10
MGHH220R-50/80 20 | 20 | 21 | 125 | 50 | 8 | 10
MGHH220R-64/100 20 | 20 | 21 | 125 | 64 | 100 | 10
M6 X 14
MGHH220R-80/160 20 | 20 | 21 | 125 | 80 | 160 | 13
MGHH220R-98/160 20 | 20 | 21 | 125 | 98 | 160 | 13
MGHH220R-100/140 20 | 20 | 21 | 125 | 100 | 140 | 13
MGHH220R-100/200 20 | 20 | 21 | 125 | 100 | 200 | 13
MGHH220R-160/300 20 | 20 | 21 | 125 | 160 | 300 | 15
MGHH220R-160/400 20 | 20 | 21 | 125 | 160 | 400 | 15 MGMN200 L5
MGHH220R-200/800 20 | 20 | 21 | 125 | 200 | 800 | 15
MGHH225R-20/36 25 | 25 | 26 | 150 | 20 | 36 8
MGHH225R-25/35 25 | 25 | 26 | 150 | 25 | 35 8
MGHH225R-30/50 25 | 25 | 26 | 150 | 30 | 50 | 10
MGHH225R-35/48 25 | 25 | 26 | 150 | 35 | 48 | 10
MGHH225R-48/66 25 | 25 | 26 | 150 | 48 | 66 | 10
MGHH225R-50/80 25 | 25 | 26 | 150 | 50 | 80 | 10
MGHH225R-64/100 25 | 25 | 26 | 150 | 64 | 100 | 10
M6X 16
MGHH225R-80/160 25 | 25 | 26 | 150 | 80 | 160 | 13
MGHH225R-98/160 25 | 25 | 26 | 150 | 98 | 160 | 13
MGHH225R-100/140 25 | 25 | 26 | 150 | 100 | 140 | 13
MGHH225R-100/200 25 | 25 | 26 | 150 | 100 | 200 | 13
MGHH225R-160/300 25 | 25 | 26 | 150 | 160 | 300 | 15
MGHH225R-160/400 25 | 25 | 26 | 150 | 160 | 400 | 15
MGHH225R-200/800 25 | 25 | 26 | 150 | 200 | 800 | 15

W41 142



*ﬁ

*
7]

143

V.PLD

1E (i) 7

GROOVING CUTTER

1E (&) 7]

GROOVING CUTTER

V.PLD

R~FSize (mm) J1F Blade | #2%2 Screw | #xZFWrench
ElEModel -
b/h | H | F L | MIN | MAX | Tmax | (e ] @, { \
MGHH2.520R-20/36 20 20 21 125 20 36 8
MGHH2.520R-25/35 20 20 21 125 25 35 8
MGHH2.520R-30/50 20 20 21 125 30 50 10
MGHH2.520R-35/48 20 | 20 | 21 | 125 | 35 | 48 | 10
MGHH2.520R-48/66 20 | 20 | 21 | 125 | 48 | 66 | 10
MGHH2.520R-50/80 20 20 21 125 50 80 10
MGHH2.520R-64/100 20 20 21 125 64 100 10 M6X 14
MGHH2.520R-80/160 20 20 21 125 80 160 13
MGHH2.520R-98/160 20 20 21 125 98 160 13
MGHH2.520R-100/140 20 20 21 125 100 140 13
MGHH2.520R-100/200 20 | 20 | 21 | 125 | 100 | 200 | 13
MGHH2.520R-160/300 20 20 21 125 160 300 15
MGHH2.520R-160/400 20 20 21 125 160 400 15
MGHH2.520R-200/800 20 20 21 125 200 800 15 MGMN250 L5
MGHH2.525R-20/36 25 25 26 150 20 36 8
MGHH2.525R-25/35 25 25 26 150 25 35 8
MGHH2.525R-30/50 25 | 25 | 26 | 150 | 30 | 50 | 10
MGHH2.525R-35/48 25 25 26 150 35 48 10
MGHH2.525R-48/66 25 25 26 150 48 66 10
MGHH2.525R-50/80 25 25 26 150 50 80 10
MGHH2.525R-64/100 25 | 25 | 26 | 150 | 64 | 100 | 10 MEX 16
MGHH2.525R-80/160 25 25 26 150 80 160 13
MGHH2.525R-98/160 25 | 25 | 26 | 150 | 98 | 160 | 13
MGHH2.525R-100/140 25 25 26 150 100 140 13
MGHH2.525R-100/200 25 25 26 150 100 200 13
MGHH2.525R-160/300 25 25 26 150 160 300 15
MGHH2.525R-160/400 25 | 25 | 26 | 150 | 160 | 400 | 15
MGHH2.525R-200/800 25 25 26 150 200 800 15
MGHH320R-20/36 20 | 20 | 21 | 125 | 20 | 36 | 13
MGHH320R-25/35 20 | 20 | 21 | 125 | 25 | 35 | 13
MGHH320R-30/50 20 | 20 | 21 | 125 | 30 | 50 | 15
MGHH320R-35/48 20 20 21 125 35 48 15
MGHH320R-48/66 20 | 20 | 21 | 125 | 48 | 66 | 15
MGHH320R-50/80 20 20 21 125 50 80 15
MGHH320R-64/100 20 | 20 | 21 | 125 | 64 | 100 | 15
MGHH320R-80/160 20 | 20 | 21 | 125 | 8 | 160 | 17 MGMN300 Mex14 =
MGHH320R-98/160 20 | 20 | 21 | 125 | 98 | 160 | 17
MGHH320R-100/140 20 20 21 125 100 140 17
MGHH320R-100/200 20 20 21 125 100 200 17
MGHH320R-160/300 20 20 21 125 160 300 19
MGHH320R-160/400 20 | 20 | 21 | 125 | 160 | 400 | 19

R~FSize (mm) JJF Blade | #8%2 Screw | #x3FWrench
FlEModel )
b/h | H | F L | MIN | MAX | Tmax | (e / @ { \\\
MGHH320R-200/800 20 | 20 | 21 | 125 | 200 | 800 | 19 M6 X 14
MGHH325R-20/36 25 | 25 | 26 | 150 | 20 | 36 | 13
MGHH325R-25/35 25 | 25 | 26 | 150 | 25 | 35 | 13
MGHH325R-30/50 25 | 25 | 26 | 150 | 30 | 50 | 15
MGHH325R-35/48 25 | 25 | 26 | 150 | 35 | 48 | 15
MGHH325R-48/66 25 | 25 | 26 | 150 | 48 | 66 | 15
MGHH325R-50/80 25 | 25 | 26 | 150 | 50 | 80 | 15 MGMNG00 s
MGHH325R-64/100 25 | 25 | 26 | 150 | 64 | 100 | 15 Mex 16
MGHH325R-80/160 25 | 25 | 26 | 150 | 80 | 160 | 17
MGHH325R-98/160 25 | 25 | 26 | 150 | 98 | 160 | 17
MGHH325R-100/140 25 | 25 | 26 | 150 | 100 | 140 | 17
MGHH325R-100/200 25 | 25 | 26 | 150 | 100 | 200 | 17
MGHH325R-160/300 25 | 25 | 26 | 150 | 160 | 300 | 19
MGHH325R-160/400 25 | 25 | 26 | 150 | 160 | 400 | 19
MGHH325R-200/800 25 | 25 | 26 | 150 | 200 | 800 | 19
MGHH420R-20/36 20 | 20 | 21 | 125 | 20 | 36 | 13
MGHH420R-25/35 20 | 20 | 21 | 125 | 25 | 35 | 13
MGHH420R-30/50 20 | 20 | 21 | 125 | 30 | 50 | 15
MGHH420R-35/48 20 | 20 | 21 | 125 | 35 | 48 | 15
MGHH420R-48/66 20 | 20 | 21 | 125 | 48 | 66 | 15
MGHH420R-50/80 20 | 20 | 21 | 125 | 50 | 80 | 15
MGHH420R-64/100 20 | 20 | 21 | 125 | 64 | 100 | 15 M6 X 14
MGHH420R-80/160 20 | 20 | 21 | 125 | 80 | 160 | 17
MGHH420R-98/160 20 | 20 | 21 | 125 | 98 | 160 | 17
MGHH420R-100/140 20 | 20 | 21 | 125 | 100 | 140 | 17
MGHH420R-100/200 20 | 20 | 21 | 125 | 100 | 200 | 17
MGHH420R-160/300 20 | 20 | 21 | 125 | 160 | 300 | 19
MGHH420R-160/400 20 | 20 | 21 | 125 | 160 | 400 | 19
MGHH420R-200/800 20 | 20 | 21 | 125 | 200 | 800 | 19 MGMN400 L5
MGHH425R-20/36 25 | 25 | 26 | 150 | 20 | 36 | 13
MGHH425R-25/35 25 | 25 | 26 | 150 | 25 | 35 | 13
MGHH425R-30/50 25 | 25 | 26 | 150 | 30 | 50 | 15
MGHH425R-35/48 25 | 25 | 26 | 150 | 35 | 48 | 15
MGHH425R-48/66 25 | 25 | 26 | 150 | 48 | 66 | 15
MGHH425R-50/80 25 | 25 | 26 | 150 | 50 | 80 | 15
MGHH425R-64/100 25 | 25 | 26 | 150 | 64 | 100 | 15
MGHH425R-80/160 25 | 25 | 26 | 150 | 80 | 160 | 17 M6 X 16
MGHH425R-98/160 25 | 25 | 26 | 150 | 98 | 160 | 17
MGHH425R-100/140 25 | 25 | 26 | 150 | 100 | 140 | 17
MGHH425R-100/200 25 | 25 | 26 | 150 | 100 | 200 | 17
MGHH425R-160/300 25 | 25 | 26 | 150 | 160 | 300 | 19

*ﬁ

*
7]

W 144



il

%ﬁ
7]

145

V.PLD

1E (&) 7

GROOVING CUTTER

& (&) 7]

GROOVING CUTTER

V.PLD

R~FSize (mm) J1F Blade | #2%2 Screw | #xFWrench
EEModel -
b/h | H F L | MIN | MAX | Tmax | Fi | e { "“\\
MGHH425R-160/400 25 25 26 150 160 400 19
MGMN400 M6X 16 L5

MGHH425R-200/800 25 25 26 150 | 200 800 19

MGHH520R-20/36 20 20 21 125 20 36 16

MGHH520R-25/35 20 20 21 125 25 35 16

MGHH520R-30/50 20 | 20 | 21 | 125 | 30 | 50 | 20

MGHH520R-35/48 20 | 20 | 21 | 125 | 35 | 48 | 20

MGHH520R-48/66 20 | 20 | 21 | 125 | 48 | 66 | 20

MGHH520R-50/80 20 20 21 125 50 80 20

MGHH520R-64/100 20 | 20 | 21 | 125 | 64 | 100 | 20 Mex14
MGHH520R-80/160 20 20 21 125 80 160 20

MGHH520R-98/160 20 20 21 125 98 160 20
MGHH520R-100/140 20 20 21 125 100 140 20
MGHH520R-100/200 20 20 21 125 100 200 20
MGHH520R-160/300 20 20 21 125 160 300 20
MGHH520R-160/400 20 20 21 125 160 400 20 MGMN500 L5
MGHH520R-200/800 20 20 21 125 | 200 800 20

MGHH525R-20/36 25 | 25 | 26 | 150 | 20 | 36 | 16

MGHH525R-25/35 25 25 26 150 25 35 16

MGHH525R-30/50 25 25 26 150 30 50 20

MGHH525R-35/48 25 25 26 150 35 48 20

MGHH525R-48/66 25 25 26 150 48 66 20

MGHH525R-50/80 25 25 26 150 50 80 20

MGHH525R-64/100 25 25 26 150 64 100 20

M6X16

MGHH525R-80/160 25 25 26 150 80 160 20

MGHH525R-98/160 25 25 26 150 98 160 20
MGHH525R-100/140 25 25 26 150 100 140 20
MGHH525R-100/200 25 25 26 150 100 200 20
MGHH525R-160/300 25 25 26 150 160 300 20
MGHH525R-160/400 25 | 25 | 26 | 150 | 160 | 400 | 20
MGHH525R-200/800 25 25 26 150 | 200 800 20

Min
Max -
® -
/ [ -
£
L
R~JSize (mm) JJ5 Blade | #8%% Screw | #xFWrench
FlEModel ~
b/h | H F L | MIN | MAX |Tmax | THam ® { \

MGFV320R-20/36 20 | 20 | 35 | 125 | 20 | 36 | 15

MGFV320R-25/35 20 | 20 | 35 | 125 | 25 | 35 | 15

MGFV320R-30/50 20 | 20 | 35 | 125 | 30 | 50 | 15

MGFV320R-35/48 20 | 20 | 35 | 125 | 35 | 48 | 15

MGFV320R-48/66 20 | 20 | 35 | 125 | 48 | 66 | 15

MGFV320R-50/80 20 | 20 | 35 | 125 | 50 | 80 | 15

MGFV320R-64/100 20 | 20 | 35 | 125 | 64 | 100 | 15 Mex 14
MGFV320R-80/160 20 | 20 | 35 | 125 | 80 | 160 | 15

MGFV320R-98/160 20 | 20 | 35 | 125 | 98 | 160 | 15
MGFV320R-100/140 20 | 20 | 35 | 125 | 100 | 140 | 15
MGFV320R-100/200 20 | 20 | 35 | 125 | 100 | 200 | 15
MGFV320R-160/300 20 | 20 | 35 | 125 | 160 | 300 | 15
MGFV320R-160/400 20 | 20 | 35 | 125 | 160 | 400 | 15
MGFV320R-200/800 20 | 20 | 35 | 125 | 200 | 800 | 15

MGFV320R-20/36 25 | 25 | 40 | 150 | 20 | 36 | 15 MGNIN300 -
MGFV320R-25/35 25 | 25 | 40 | 150 | 25 | 35 | 15

MGFV320R-30/50 25 | 25 | 40 | 150 | 30 | 50 | 15

MGFV320R-35/48 25 | 25 | 40 | 150 | 35 | 48 | 15

MGFV320R-48/66 25 | 25 | 40 | 150 | 48 | 66 | 15

MGFV320R-50/80 25 | 25 | 40 | 150 | 50 | 80 | 15

MGFV320R-64/100 25 | 25 | 40 | 150 | 64 | 100 | 15 MEX16
MGFV320R-80/160 25 | 25 | 40 | 150 | 80 | 160 | 15

MGFV320R-98/160 25 | 25 | 40 | 150 | 98 | 160 | 15
MGFV320R-100/140 25 | 25 | 40 | 150 | 100 | 140 | 15
MGFV320R-100/200 25 | 25 | 40 | 150 | 100 | 200 | 15
MGFV320R-160/300 25 | 25 | 40 | 150 | 160 | 300 | 15
MGFV320R-160/400 25 | 25 | 40 | 150 | 160 | 400 | 15
MGFV320R-200/800 25 | 25 | 40 | 150 | 200 | 800 | 15

o

il

I (5) o

146



Gi

%ﬁ
7]

W47

V.PLD

1E (&) 7]

GROOVING CUTTER

& (&) 7]

GROOVING CUTTER

V.PLD

R~fSize (mm) J1h Blade | #8%% Screw | #&xFWrench
El=EModel »,_
b/h | H | F L | MIN | MAX |Tmax | Hiam '}". { \\\

MGFV520R-160/400 20 | 20 | 35 | 125 | 160 | 400 | 15
MGFV520R-200/800 20 20 35 125 | 200 800 15 M6 14
MGFV520R-20/36 25 | 25 | 40 | 150 | 20 | 36 | 15

MGFV520R-25/35 25 25 40 150 25 35 15

MGFV520R-30/50 25 25 40 150 30 50 15

MGFV520R-35/48 25 25 40 150 35 48 15

MGFV520R-48/66 25 25 40 150 48 66 15

MGFV520R-50/80 25 25 40 150 50 80 15 MGMN500 L5
MGFV520R-64/100 25 25 40 150 64 100 15 M6X 16
MGFV520R-80/160 25 25 40 150 80 160 15

MGFV520R-98/160 25 25 40 150 98 160 15
MGFV520R-100/140 25 | 25 | 40 | 150 | 100 | 140 | 15
MGFV520R-100/200 25 25 40 150 100 200 15
MGFV520R-160/300 25 25 40 150 160 300 15
MGFV520R-160/400 25 25 40 150 160 400 15
MGFV520R-200/800 25 25 40 150 | 200 800 15

Dmin
.. — —
0° et e

R~FSize (mm) JJ5 Blade | %% Screw | #xFWrench
FlEModel _
b/h | H | F L | MIN | MAX | Tmax e { \‘\
MGFV420R-20/36 20 | 20 | 35 | 125 20 | 36 | 15
MGFV420R-25/35 20 | 20 | 35 | 125 | 25 | 35 | 15
MGFV420R-30/50 20 | 20 | 35 | 125 | 30 | 50 | 15
MGFV420R-35/48 20 | 20 | 35 | 125 | 35 | 48 | 15
MGFV420R-48/66 20 | 20 | 35 | 125 | 48 | 66 | 15
MGFV420R-50/80 20 | 20 | 35 | 125 | 50 | 8 | 15
MGFV420R-64/100 20 | 20 | 35 | 125 | 64 | 100 | 15 M6X 14
MGFV420R-80/160 20 | 20 | 35 | 125 | 8 | 160 | 15
MGFV420R-98/160 20 | 20 | 35 | 125 | 98 | 160 | 15
MGFV420R-100/140 20 | 20 | 35 | 125 | 100 | 140 | 15
MGFV420R-100/200 20 | 20 | 35 | 125 | 100 | 200 | 15
MGFV420R-160/300 20 | 20 | 35 | 125 | 160 | 300 | 15
MGFV420R-160/400 20 | 20 | 35 | 125 | 160 | 400 | 15
MGFV420R-200/800 20 | 20 | 35 | 125 | 200 | 800 | 15
MGFV420R-20/36 25 | 25 | 40 | 150 | 20 | 36 | 15 | MOGMN400 L5
MGFV420R-25/35 25 | 25 | 40 | 150 | 25 | 35 | 15
MGFV420R-30/50 25 | 25 | 40 | 150 | 30 | 50 | 15
MGFV420R-35/48 25 | 25 | 40 | 150 | 35 | 48 | 15
MGFV420R-48/66 25 | 25 | 40 | 150 | 48 | e6 | 15
MGFV420R-50/80 25 | 25 | 40 | 150 | 50 | 80 | 15
MGFV420R-64/100 25 | 25 | 40 | 150 | 64 | 100 | 15
MGFV420R-80/160 25 | 25 | 40 | 150 | 80 | 160 | 15 M6x16
MGFV420R-98/160 25 | 25 | 40 | 150 | 98 | 160 | 15
MGFV420R-100/140 25 | 25 | 40 | 150 | 100 | 140 | 15
MGFV420R-100/200 25 | 25 | 40 | 150 | 100 | 200 | 15
MGFV420R-160/300 25 | 25 | 40 | 150 | 160 | 300 | 15
MGFV420R-160/400 25 | 25 | 40 | 150 | 160 | 400 | 15
MGFV420R-200/800 25 | 25 | 40 | 150 | 200 | 800 | 15
MGFV520R-20/36 20 | 20 | 35 | 125 | 20 | 36 | 15
MGFV520R-25/35 20 | 20 | 35 | 125 | 25 | 35 | 15
MGFV520R-30/50 20 | 20 | 35 | 125 | 30 | 50 | 15
MGFV520R-35/48 20 | 20 | 35 | 125 | 35 | 48 | 15
MGFV520R-48/66 20 | 20 | 35 | 125 | 48 | 66 | 15
MGFV520R-50/80 20 | 20 | 35 | 125 | 50 | 80 | 15 | oo M6 14 s
MGFV520R-64/100 20 | 20 | 35 | 125 | 64 | 100 | 15
MGFV520R-80/160 20 | 20 | 35 | 125 | 80 | 160 | 15
MGFV520R-98/160 20 | 20 | 35 | 125 | 98 | 160 | 15
MGFV520R-100/140 20 | 20 | 35 | 125 | 100 | 140 | 15
MGFV520R-100/200 20 | 20 | 35 | 125 | 100 | 200 | 15
MGFV520R-160/300 20 | 20 | 35 | 125 | 160 | 300 | 15

g%ghr _

—

L
R~Size (mm) JJ5 Blade | #8%2 Screw | #xFWrench
FEModel ,_
®Dmin | ®d L F H | min | max | iiaee iy . { \\

MFHR216-20/140 17.5 16 180 1.7 14.8 20 140 | MGMN200[I[] M4X 10 L3
MFHR220-25/140 21 20 180 9.3 18.6 MGMN200[1[]
MFHR320-25/140 21 20 | 180 | 9.3 | 186 MGMN300][] M5X 12 L4
MFHR420-25/140 21 | 20 | 180 | 93 | 186 | 25 | 140 | MGMN400CIC]
MFHR325-25/140 26 25 200 12 23 MGMN300[1[]

M6X 14 L5
MFHR425-25/140 26 25 | 200 | 12 23 MGMN400][]

1]

S (5R) m#

148




L1 (i) 70

GROOVING CUTTER

V.PLD

V.PLD 757

149

HIEModel R~JSize (mm) J1F Blade 18244 Screw | ¥FWrench FEModel RtFSize (mm) é?;‘-e P’If’?zn Xﬂgéﬁzi W;rﬁe?ch Smfz_f/v Wigfch
£7) Left #77 Right woinleluluinr| £y | g | —f- et | mNRet | w | nle|uiuinf| £ A N T -y i
KTGFL1212H16 KTGFR1212H16 03325 | 12 | 12 | 100 | 21 | 12 | 16 CTGFL1616H16 | CTGFR1616H16 | 0.5-0.25 | 16 | 16 |100| 21 | 16 | 20
KTGFL1616H16 KTGFR1616H16 03325 | 16 | 16 | 100 | 21 | 16 | 20 CTGFL2020K16 | CTGFR2020K16 | 0.5-0.25 | 20 | 20 [125| 21 | 20 | 25

TGF32R/L | HL1511 | ML0520 | L25 | M4X10 Ti5

KTGFL2020K16 KTGFR2020K16 03325 | 20 | 20 | 125| 21 | 20 | 25 | TGF32R/L M4X 10 T15 CTGFL2525M16 | CTGFR2525M16 | 0.5-0.25 | 25 | 25 |150 | 26 | 25 | 32
KTGFL2525M16 KTGFR2525M16 03325 | 25 | 25 | 150 | 26 | 25 | 32 CTGFL3232P16 | CTGFR3232P16 | 0.5-0.25 | 32 | 32 [170| 32 | 32 | 40
KTGFL3232P16 KTGFR3232P16 0.33-25 | 32 | 32 | 170 | 32 | 32 | 40 CTGFL2020K22 | CTGFR2020K22 |1.25-1.85| 20 | 20 [125| 28 | 20 | 25
KTGFL2020K22 KTGFR2020K22 1.25-1.85| 20 | 20 | 125 | 28 | 20 | 25 CTGFL2525M22 | CTGFR2525M22 |1.25-1.85| 25 | 25 150 | 30 | 25 | 32 | TGFA3R/L | HL1511 | ML0520 | L2.5 | M5X12 | T20
KTGFL2525M22 KTGFR2525M22 1.25-1.85| 25 | 25 | 150 | 30 | 25 | 32 | TGF43R/L M5X 12 T20 CTGFL3232P22 | CTGFR3232P22 |1.25-1.85| 32 | 32 |170| 32 | 32 | 40
KTGFL3232P22 KTGFR3232P22 1.25-1.85| 32 | 32 | 170 | 32 | 32 | 40

150



V.PLD 77 e WIPLD

Dmin

2° . _ |
20 |——-|
. B I
NN [— A
| ¥ - —~  — =
od—"
tJ] Ly tJ]
Gil L L G}
=] =]
—~~ 1 | —~~
N— ~—
7] 7]
FlEModel R~FSize (mm) J1F Blade w822 Screw | #®RFWrench R<fSize (mm) JJE Blade
® P #l5Model
i lod | F | L | b |H A ” — -
7] Left #7] Right Dmin 2 W b h L H )
$16Q-KTGFL16 S16Q-KTGFR16 20 | 16 | 11 | 180 | 15 | 148
SPB26-2 2 1.6 26 110 21 SP200
S20R-KTGFL16 S20R-KTGFR16 25 20 13 200 32 | 18.6
TGF32R/L M4X10 T15 SPB26-3 3 2.4 26 110 21 SP300
$255-KTGFL16 S25S-KTGFR16 30 | 25 | 155|250 | 35 | 23
SPB26-4 4 3.2 26 110 21 SP400
S32T-KTGFL16 S32T-KTGFR16 38 32 19 300 40 30
S32T-KTGFL22 S32T-KTGFR22 39 | 32 | 195|300 | 40 | 30 TGF43R/L M5X 12 T20 SRR 2 i & s e SR
SPB26-6 6 5.2 26 110 21 SP600
SPB32-2 2 1.6 32 150 27 SP200
SPB32-3 3 2.4 32 150 27 SP300
SPB32-4 4 3.2 32 150 27 SP400
SPB32-5 5 4.2 32 150 27 SP500
SPB32-6 6 5.2 32 150 27 SP600

IVAL 1Ry RF

RdSize (mm) Cutter board Screw Wrench

ElSModel
H w B Hi | Ha | Hs | Wi L » l

SMBB1616 16 | 16 | 53 | 43 | 16 | 26 | 30 | 86

SMBB2026 20 | 20 | 53 | 43 9 26 | 30 | 86

SMBB2032 20 | 20 | 53 | 50 | 13 | 32 | 38 | 100

SMBB2526 25 | 23 | 53 | 43 4 26 | 42 | 8 SPB** M6 20 L5
SMBB2532 25 | 23 | 53 | 50 8 32 | 42 | 110

SMBB3232 32 | 3 | 53 | 54 5 32 | 30 | 110

W51 152



V.PLD 77 e WIPLD

1) - > 1]
i : 8
—~ —~
i i
7] 7]
R~Size (mm) JJF Blade R~JSize (mm)
BEModel R S Model

w b h L H B g oD h d L

SMGB226 2 1.6 MGMN200 1616-04 4 16 16 80

SMGB326 3 2.4 2% 110 203 MGMN300 1616-05 5 16 16 80

SMGB426 4 3.2 MGMN400 1616-06 6 16 16 80

SMGB526 5 4.2 MGMN500 1616-07 7 16 16 80

SMGB232 2 1.6 MGMN200 1616-08 8 16 16 80

SMGB332 3 2.4 MGMN300 1616-10 10 16 16 80

SMGB432 4 32 32 150 20.7 MGMN400 1616-12 12 16 16 80

SMGB532 5 4.2 MGMN500 2016-04 4 20 16 80

SMGB632 6 5.2 MGMN600 2016-05 5 20 16 30

2016-06 6 20 16 80

2016-07 7 20 16 80

2016-08 8 20 16 80

2016-10 10 20 16 80

2016-12 12 20 16 80

2020-04 4 20 20 80

2020-05 5 20 20 80

2020-06 6 20 20 80

2020-07 7 20 20 80

2020-08 8 20 20 80

2020-10 10 20 20 80

2020-12 12 20 20 80

2020-14 14 20 20 80

2020-16 16 20 20 80

2525-04 4 25 25 80

2525-05 5 25 25 80

153 154



® . " ®
V(PLD 7% el WKIPLD

R~FSize (mm)
IS Model
»D h d L
2525-06 6 25 25 80
2525-07 7 25 25 80 ] N
2525-08 8 25 25 80 _ _
[a) a
2525-10 10 25 25 80 e 4
2525-12 12 25 25 80
] ]
*ﬁ 2525-14 14 25 5] 80 *ﬁ
=] =]
&ﬁ\ 2525-16 16 25 25 80 Eﬁ\
~ 2525-18 18 25 25 80 ~
2525-20 20 25 25 80 .
R~fSize (mm)
=S Model
oD ®D1 od L L1 W M1 M2 M3
D40-6 40 46 6 95 80 M6X 8 M6X 6
D40-7 40 46 7 95 80 M6X 10 M6X 8
D40-8 40 46 8 95 80 M8X 16 M8 X 12
1 D40-10 40 46 10 95 80 M8X 16 M8X 12
g,
D40-12 40 46 12 95 80 M8X 16 M8 X 12
a £ a
= - - - D40-13 40 46 13 95 80 M8X 16 M8 X 10
o) o
/ ~ U D40-14 40 46 14 95 80 M8X 16 M8X 10
L1 D40-16 40 46 16 95 80 M8Xx 12 M8X 10
L D40-18 40 46 18 95 80 M8X 12 M8 X 10 M8 10
D40-20 40 46 20 95 80 M8X 12 M8X6 M8X6
D40-25 40 46 25 95 80 13.5 M8 10
R<fSize (mm) D40-32 40 46 32 95 80 13.5 M8 X6
FIEModel D32-4 32 36 4 85 71 M5X 10 M5X 6
oD ®D1 MT L L1 D325 32 36 5 85 71 M5 10 M5 X 6
D25-MT1 30.5 30.5 MT1 60 49 D32-6 32 36 6 85 71 M6X 12 M6X 10
D25-MT2 30.5 30.5 MT2 70.8 60.8 D32-7 32 36 7 85 71 M8x 12 M8 X 10
D25-MT3 30.5 30.5 MT3 91.4 48.9 D32-8 32 36 8 85 71 M8X 12 M8 X 10
D32-MT1 36 36 MT1 62.8 53 D32-10 32 36 10 85 71 M8X 12 M8 X 10
D32-MT2 36 36 MT2 71.4 59.3 D32-12 32 36 12 85 71 M8 X 12 M8 X8
D32-MT3 36 36 MT3 90.8 7.7 D32-13 32 36 13 85 71 M8X 10 M8 X8
D32-MT4 36 36 MT4 111.5 76 D32-14 32 36 14 85 71 M8X 10 M8 X8
D40-MT1 46 46 MT1 63 52.5 D32-16 32 36 16 85 71 M8 10 M8X8 M8X 8
D40-MT2 46 46 MT2 70.3 57.8 D32-18 32 36 18 85 71 13.5 M8
D40-MT3 46 46 MT3 91.5 79 D32-20 32 36 20 85 71 13.5 M8
D40-MT4 46 46 MT4 111 98.5 D32-25 32 36 25 85 71 13.5 M8

W55 156



® . " ®
WPLD 7557 el WKIPLD

R~fSize (mm)
FEModel
oD ®D1 od L L1 w M1 M2 M3
D25-4 25 31 4 70 58 M5X10 | M5x6 /m M2
D255 25 31 5 70 58 M5 10 M5X6 | F
D25-6 25 31 6 70 58 M6 X 10 M6 X8 8 13 a
D25-7 25 31 7 70 58 M6x 10 M6X8
D25-8 25 31 8 70 58 M6 X 10 M6 X 6 L | 7
% D25-10 25 31 10 70 58 M6 10 M6X6 . %
Tlif'-)% D25-12 25 31 12 70 58 M6X8 M6X6 ,Ii%
— D25-13 25 31 13 70 58 M6 X8 M6X 5 M6 X5 —
7] D25-14 25 31 14 70 58 12 M6 X 6 . 7]
D25-16 25 31 16 70 58 12 M6 X6 AEModel JSee ([
D25-18 25 31 18 70 58 12 M6 X5 oD oD1 od L L M1 M> M3
p2o20 2 * 20 0 > 2 Mox® SHB12-3 12 11 3 80 68 M4x3 M4 X3
p20-4 20 2 ¢ ® >3 Mo 10 Mo SHB12-4 12 11 4 80 68 M4x 4 M4 X 4
p205 20 % ° ® >3 Mo10 Moxe SHB12-5 12 11 5 80 68 M4 x4 M4 X 4
p206 20 2 ° ® >3 M8 M6 SHB12-6 12 11 6 80 68 M4 x4 M4 X 4 M4 x4
D201 20 2 ! ® >3 Mox8 Mex3 SHB16-3 16 15 3 100 80 M4 X5 M4 X5 M4 X5
p20-8 20 2 8 * >3 Mex8 MB35 SHB16-4 16 15 4 100 80 M4 X5 M4 X5 M4 X5
D20-9 20 2 ’ ® >3 ME8 Mexs SHB16-5 16 15 5 100 80 M4 X5 M4 X5 M4 X5
D20-10 20 2 10 63 >3 M6 8 MEx3 SHB16-6 16 15 6 100 80 M4 x4 M4 X 4 M4 x4
D20-12 20 26 12 6 >3 1 M6 6 SHB16-7 16 15 7 100 80 M4 x4 M4 X 4 M4 x4
D20-13 20 % 13 65 >3 1 M6 x5 SHB16-8 16 15 8 100 80 M43 M4 X3 M4 X3
D20-14 20 % 14 65 = 1 M6 x5 SHB16-10 16 15 10 100 80 M4 X3 M43 M4 X3
D20-16 20 % 16 65 3 1 M6 x5 SHB20-3 20 19 3 100 79 M4 X5 M4 X5
SHB20-4 20 19 4 100 79 M4 X5 M4 X5
SHB20-5 20 19 5 100 79 M4 X5 M4 X5 M4 X5
SHB20-6 20 19 6 100 79 M4 X5 M4 x5 M4 X5
SHB20-7 20 19 7 100 79 M4 X5 M4 X5 M4 X5
SHB20-8 20 19 8 100 79 M4 X5 M4 X5 M4 X5
SHB20-10 20 19 10 100 79 M4 x4 M4 X 4 M4 x4
SHB20-12 20 19 12 100 79 M4 X3 M43 M4 X3

W57 158



PRECISION

EOHZET]

TURNING TOOL FOR CNC PRECISION AUTOMATIC LATHE

V.PLD

AEModel R~ Size (mm) J1F Blade #2844 Screw | #RFWrench
270 Left #7] Right h | b | H | F | L 0 @« —
SVJCILOBOSJXLIN |  SVJIIROSO8JXLIN 8 8 8 8 125
SVJOILL010JXLIN |  SVJCIRIO10JXLIN 10 10 10 10 | 125 | yeroiioson
vBOO1103000] | M25%6 T8
SVIOIL1212JX1IN | SVJCIR1212JXLIN 12 12 12 12 | 125
SVJOIL1616JXIIN | SVJCIRI616JXLIN 16 16 16 16 | 125
SVJCIL1212JX16N | SVJCIR1212JX16N 12 12 12 12 | 125
VCOO1604000 |y .
VBOI11604010] 4X10 15
SVJOIL1616JXI6N | SVJCIR1616JX16N 16 16 16 16 | 125

160



® ®
l AN AN
‘ TURNING TOOL FOR CNC PRECISION AUTOMATIC LATHE TURNING TOOL FOR CNC PRECISION AUTOMATIC LATHE ‘ L

- . v _
| s Bl N
— A - < E— . )
:II 4 o | : - -
o) L L o)
#l5Model R~fSize (mm) JJF Blade w844 Screw | #®RFEWrench A5 Model R~fSize (mm) 71k Blade #8222 Screw | #{RFWrench
7270 Left 7] Right h | b | H | F | L @; @« 7277 Left 77 Right h | b | H | F | L @? «p —
SCACL0808JX06N SCACL0808JX06N 8 8 8 8 125 SCLCL0O808JX06N SCLCR0O808JX06N 8 8 8 8 125
SCACL1010JX06N SCACL1010JX06N 10 10 10 10 125 SCLCL1010JX06N SCLCR1010JX06N 10 10 10 10 125
CCIJ0602[10] M2.5X6 T8 CCI06020]] M2.5X6 T8
SCACL1212JX06N SCACL1212JX06N 12 12 12 12 125 SCLCL1212JX06N SCLCR1212JX06N 12 12 12 12 125
SCACL1616JX06N SCACL1616JX06N 16 16 16 16 125 SCLCL1616JX06N SCLCR1616JX06N 16 16 16 16 125
SCACL1212JX09N SCACL1212JX09N 12 12 12 12 125 SCLCL1212JX09N SCLCR1212JX09N 12 12 12 12 125
CCII09T3I] M4X10 T15 ccomoaT3d M4X10 T15
SCACL1616JX09N SCACL1616JX09N 16 16 16 16 125 SCLCL1616JX09N SCLCR1616JX09N 16 16 16 16 125
161 H 162




EOHNZET]

® ®
E N Ej]
V LD IU*}-L V LD
‘l TURNING TOOL FOR CNC PRECISION AUTOMATIC LATHE TURNING TOOL FOR CNC PRECISION AUTOMATIC LATHE ‘l

_ 0 . 0°l 0° 0°
== = e i
H e J H =
L S
B —
“n -—I
R = —— L
o b = _h — =
. . -
S g i | &7 |
— | /
‘ 93°
iE | iE
10 L Ty
A= Model R~fSize (mm) 71K Blade R4 Screw | #RFWrench A5 Model R~JSize (mm) JJ5 Blade 18242 Screw | I®RFWrench
#7] Left 77 Right h | b | 0| F | L @ -y — #7] Left 77 Right h | b | 0| F | L @ @y —
SDACL0808JX07N SDACR0808JX07N 8 8 8 8 125 SDJCLO8O8JXO7N SDJCRO808JX07N 8 8 8 8 125
SDACL1010JX07N SDACR1010JX07N 10 10 10 10 125 SDJCL1010JX07N SDJCR1010JX07N 10 10 10 10 125
DCICI070200] M2.5X6 T8 DCI07020] M2.5X6 T8
SDACL1212JX07N SDACR1212JX07N 12 12 12 12 125 SDJCL1212JX07N SDJCR1212JX07N 12 12 12 12 125
SDACL1616JX07N SDACR1616JX07N 16 16 16 16 125 SDJCL1616JX07N SDJCR1616JX07N 16 16 16 16 125
SDACL1212JX11N SDACR1212JX11N 12 12 12 12 125 SDJCL1212JX11IN SDJCR1212JX11N 12 12 12 12 125
DCOM11T300 M4X 10 T15 DCOM11T300 M4X 10 T15
SDACL1616JX11N SDACR1616JX11N 16 16 16 16 125 SDJCL1616JX11IN SDJCR1616JX11N 16 16 16 16 125
W63 W 164



® ®
l N
‘ TURNING TOOL FOR CNC PRECISION AUTOMATIC LATHE TURNING TOOL FOR CNC PRECISION AUTOMATIC LATHE ‘ L

SABS[] j cTPO
- r 2/
T - Y T - P
) - 2° \‘/
] ]
E 1 F oy e} . “J _ L1 Q
7] 7]
R~fSize (mm) JJF Blade 1844 Screw | I ®RFWrench #lEModel R~fSize (mm) J1H Blade 1824 Screw | #RFWrench
ESModel
h b H F L |Tmax o ~ ———.%—— 7] Left %7 Right h b H F L | Tmax “ ~ —--u%- -
SABSR1010JX40F 10 10 10 10 125 4 CTPLOS8 CTPRO8 8 8 8 8
SABSR1212JX40F 12 12 12 12 125 4 CTPL10 CTPR10 10 10 10 10
SABSR1616JX40F 16 16 16 16 125 4 ABS15R4005 CTPL12 CTPR12 12 12 12 12 120 7 CTPOIO
SABSR2020JX40F 20 20 20 20 125 4 CTPL16 CTPR16 16 16 16 16
SABWR1010JX40F 10 | 10 | 10 | 10 | 125 | 4 CTPL20 CTPR20 20 | 20 | 20 | 20 M4 X 10 T1s5
SABWR1212JX40F 12 12 12 12 125 4 CTPALO8 CTPARO8 8 8 8 8
SABWR1616JX40F 16 16 16 16 125 4 ABWL5R4005 M3x8 T8 CTPAL10 CTPAR10 10 10 10 10
SABWR2020JX40F 20 20 20 20 125 4 CTPAL12 CTPAR12 12 12 12 12 120 9 CTPALIL]
SABWR1212JX50F 12 12 12 12 125 8 CTPAL16 CTPAR16 16 16 16 16
SABWR1616JX50F 16 16 16 16 150 8 ABW23R50 CTPAL20 CTPAR20 20 20 20 20
SABWR2020JX50F 20 20 20 20 150 8

165 M 166



Ity

%
7]

W67

V.PLD

KTKF

EOHET]

TURNING TOOL FOR CNC PRECISION AUTOMATIC LATHE

SECI-F

EOHZET]

TURNING TOOL FOR CNC PRECISION AUTOMATIC LATHE

V.PLD

a3 L "
H <
h@- e
¥ | I L -
i F { o
I oL i}
L1
#I5Model R~fSize (mm) J1F Blade 18244 Screw | I RFEWrench
7] Left 7] Right h | b | L | L |[H]|F ﬁ @« -
SEL1010K16-F SER1010K16-F 10 10 | 125 | 20 10 | 10
SEL1212K16-F SER1212K16-F 12 12 | 125 | 20 12 | 12
16ER/L M3.5X9 Ti5
SEL1616K16-F SER1616K16-F 16 16 | 125 | 23 16 | 16
SEL2020K16-F SER2020K16-F 20 20 | 125 | 23 20 | 20

27 )
X —_
2° |
]

I h O 9 x 2

] F o

| o

f
FlEModel R~FSize (mm) 71K Blade 1844 Screw | #RFWrench
£ Left #7] Right hlo n |l r | e ~ —

KTKFLO808JX-12 KTKFRO808JX-12 8 8 8 8
KTKFL1010JX-12 KTKFR1010JX-12 10 10 10 10
KTKFL1212JX-12 KTKFR1212JX-12 12 12 12 12 120 7 TKF12R/L M4X10 T15
KTKFL1616JX-12 KTKFR1616JX-12 16 16 16 16
KTKFL2020JX-12 KTKFR2020JX-12 20 20 20 20
KTKFLO808JX-16 KTKFR0808JX-16 8 8 8 8
KTKFL1010JX-16 KTKFR1010JX-16 10 10 10 10
KTKFL1212JX-16 KTKFR1212JX-16 12 12 12 12 120 9 TKF16R/L M4 X 10 T15
KTKFL1616JX-16 KTKFR1616JX-16 16 16 16 16
KTKFL2020JX-16 KTKFR2020JX-16 20 20 20 20

L)

168



®
TUNGSTEN STEEL%%R?\II?\JGETQ K PLD

15iNZE7]

TUNGSTEN STEEL TURNING TOOL

Dmin

MTFENDO

5
£
%
7]

= ; TR | o8| g | RFE | ER O SCHRER) RF
ESModel JS3Size (mm) Blade | Shim |Center PinWrench| Platen | Rouble |\yrench

FETLeft £7IRight |omin @d | L | H | f | @ A ﬁ Ny T ﬁ \ (Y

C16Q-MTFNL16 | C16Q-MTFNR16 | 20 | 16 | 180 |14.8|10.5| 17° X CTM510 L2 HL1511 | ML0520 L2.5

C20R-MTFNL16 C20R-MTFNR16 | 24 | 20 | 200 |18.6| 12 | 15°

X CTM510 L2 |HL1810 | ML0620 L3
C255-MTFNL16 | C25S-MTFNR16 | 29 | 25 |250| 23 |14.5| 15° IQISSD

C32T-MTFNL16 C32T-MTFNR16 | 36 | 32 |300| 30 | 18 | 15°

MT1603 | CTM513 L2 HL1813 | MLO0625 L3
C40T-MTFNL16 C40T-MTFNR16 | 48 | 40 |300| 37 | 26 | 15°

W169 m170



® ®
KPLD fl%\li@TﬁSjTJEELTURNINGTOOL TUNGSTENSTEEL?J%R?\III%!IGETC?O]L KPLD

Dmin

Dmin
MTUND I ) MWLNO i
-t _‘g’g‘---” -
— -
e - - ——
-
' e ‘ immm
& H_I 95°:_' i - .
I /95" q)d_/
B — -
£ L L £
Ity i
. | by | IRFE | ER O XCLER | iRFE . TR | g s | IRFE | Bk SCERR | RE
Je - R |7 . - . .
ESModel RIS ) Blade | Shim |Center Pin\Wrench| Platen | Rouble |\yrench ESModel RSP (i) Blade | Shim |Center PinWrench | Platen | Rouble lwrench
® . . = . ® . | -
FETLeft GTRIGt  |pmin ©d | L | H | £ | @ A Fo¥ . S g \ M~ FETLeft GIRIGt  |pmin ©d | L | H | £ | @ & »ﬁ Ny ™ A \F\
C16Q-MTUNL16 | C16Q-MTUNRI16 | 21 | 16 |180 |14.8|10.5| 17° X CTM510 L2 | HL1511 | ML0O520 | L2.5 C16Q-MWLNLO6 | C16Q-MWLNRO6 | 19.5| 16 | 180 | 14.8|10.5| 16° HL1511 | MLO520 | L25
WNOOI
C20R-MTUNL16 | C20R-MTUNR16 | 24 | 20 |200|18.6| 12 | 15° C20R-MWLNLO6 | C20R-MWLNRO6 | 23 | 20 |200|18.6| 12 | 15° | ggoari]| X 510 L2
X CTM510 L2 | HL1810 | ML0620 L3 HL1810 | ML0620 L3
C25S-MTUNL16 | C25S-MTUNR16 | 29 | 25 | 250 | 23 |14.5| 15° | TNCIC] C25S-MWLNLO6 | C25S-MWLNRO6 |29.5| 25 |250 | 23 | 16 | 12°
16040100
C32T-MTUNL16 | C32T-MTUNR16 | 36 | 32 |300| 30 | 18 | 15° C16Q-MWLNLO8 | C16Q-MWLNRO8 |19.5| 16 | 180 |14.8/10.5| 17° HL1511 | MLO520 | L2.5
MT1603| CTM513 L2 | HL1813 | MLO0625 L3
C40T-MTUNL16 | C40T-MTUNR16 | 48 | 40 |300| 37 | 26 | 15° C20R-MWLNLOS | C20R-MWLNRO8 | 24 | 20 | 200 |18.6| 13 | 15° X 613 L3
HL1810 | MLO0620 L3
C25S-MTUNL22 | C25S-MTUNR22 | 31 | 25 |250| 23 | 17 | 15°| . x CTM613 C25S-MWLNLOS | C25S-MWLNROS | 31 | 25 |250 | 23 |16.5| 12° X‘Q“AEDDD
L3
C32T-MTUNL22 | C32T-MTUNR22 | 40 | 32 | 300 30 | 22 | 17° | 22040000 | 12004 | cTM617 AL22LT | MLOS30:) L4 C32T-MWLNLO8 | C32T-MWLNROS | 39 | 32 |300| 30 | 21 | 15°
MW0804| 617 L3 | HL1813 | MLO625 L3
C40T-MWLNLO8 | C40T-MWLNROS8 | 47 | 40 |300| 37 | 25 | 12°

w7 W72



BET]

TUNGSTEN STEEL TURNING TOOL

® ®
KPLD fl%\li@T%Zl’JEEL TURNING TOOL KPLD

Dmin Dmin
B — -
E L L E
T 1L
7] 7]
g 2 ME | IRE | EIR O SCKERRR| IRF .
1= D):IL 7];& EP’L:% = < 4y
FlEModel R~JSize (mm) Blade | Shim |Center PinWrench| Platen DS(()erjebVIVe Wrench FlEModel R~fSize (mm) J1F Blade 1842 Screw | #{RFWrench
. o] . ) - . o] 3
A T]Left £7JRight  |pmin| ®d | L | H | f | « A Q \ r\\ ﬁ \ ﬁ\ kJ] Left A7] Right Dmin| ®d | L | H f| o ~ '§
C16Q-MTWNL16 | C16Q-MTWNR16 | 22 | 16 | 180 |14.8| 12 | 17° X CTM510 L2 |HL1511 | ML0520 | L2.5 CO7K-SCKCLO6 CO7K-SCKCRO6 9 7 | 125 | 62 | 45 | 15°
C20R-MTWNL16 | C20R-MTWNR16 | 26 | 20 |200|18.6| 14 | 15° CO8K-SCKCL06 CO8K-SCKCR06 10 | 8 | 125 | 7 | 46 | 12°
x CTM510 L2 |HL1810 | MLO620 | L3
C25S-MTWNL16 | C25S-MTWNR16 | 31 | 25 |250 | 23 |16.5| 15° IE'OESD C1O0K-SCKCLO6 C1O0K-SCKCRO6 12 |10 125 9 | 56| 12°
C32T-MTWNL16 | C32T-MTWNR16 | 38 | 32 | 300 | 30 |20.5| 15° C12M-SCKCLOG C12M-SCKCRO6 LN e e e e ) M2.5x T
. MT1603| CTM513 L2 | HL1813 | ML0625 L3 cChos0200H] X6 8
C40T-MTWNL16 | C40T-MTWNRI16 | 26 | 40 | 300 | 37 |24.5| 15 C14N-SCKCLOG C14N-SCKCROG 6 | 14 160 13| 8 | 10°
C16Q-SCKCL06 C16Q-SCKCR06 18 | 16 | 180 | 148 | 9 | 10°
C20R-SCKCLO6 C20R-SCKCRO6 23 | 20 | 200 |18.6 | 11.5| 8°
C12M-SCKCL09 C12M-SCKCRO09 14 | 12 | 150 | 11 | 7 | 12°
C14N-SCKCLO9 C14N-SCKCR09 16 | 14 | 160 | 13 | 8 | 10°
M4X8
C16Q-SCKCL09 C16Q-SCKCR09 19 | 16 | 180 | 148 | 95 | &
- - 20 6|1 o
C18Q-SCKCLO9 C18Q-SCKCR09 18 | 180 | 166 | 10 | 8 | oo 5
C20R-SCKCL09 C20R-SCKCR09 23 | 20 | 200 | 186 | 11.5| 6°
C255-SCKCLO9 €255-SCKCR09 28 | 25 | 250 | 23 | 145 | 6°
C32T-SCKCLO9 C32T-SCKCRO9 37 | 32 /300 | 30 | 20 | 4° M4x10
C40T-SCKCL09 C40T-SCKCRO9 45 | 40 | 300 | 37 | 24 | &
C20R-SCKCL12 C20R-SCKCR12 23 | 20 | 200 | 186 | 12 | 6° M5X10
C255-SCKCL12 €255-SCKCR12 28 | 25 | 250 | 23 | 145 | 6 | CCOICI1204000] T20
M5X12
C32T-SCKCL12 C32T-SCKCR12 38 | 32 | 300 | 30 | 20 | 4
W173 m174



SZET]

TUNGSTEN STEEL TURNING TOOL

® ®
KPLD ?ﬂi@ﬁsﬂ&wmme TOOL KPLD

Dmin Dmin
0° -— i 0° ﬂ-lr
_____________ = = ! .
N - e
- . (™~ — { = ~mm— g
@ . | “i o5/ BN _/ - . «[107.5° @?' . i
95 od 1075 o d—/
- -
£ L L £
Ty 1L
7] 7]
FEModel R~FSize (mm) JJB Blade 8842 Screw | #xFWrench A= Model R~FSize (mm) JJE Blade 18222 Screw | #{xFWrench
%70 Lef Righ it floe | A 5 - ° | 5
7] Left #7] Right Dmin| ®d | L | H a < @« - 7] Left #7] Right bmin| ®d | L | H | f | @ « @ —
C04H-SCLCLO3 C04H-SCLCRO3 5 | 4 100 | 37| 25| 20 C08K-SDQCLOT CO8K-SDQCRO7 12| 8 |15 7 7 | 15°
CO5H-SCLCLO3 CO5H-SCLCRO3 6 5 100 | 4.4 3 12 | ccJMo30100] M1.6X4 T6 C10K-SDQCLOT7 C10K-SDQCRO7 13 10 | 125 9 7 10°
DCO00702000] M2.5X6 T8
K-SCLCL - 7 125 | 52 | 35 | 12
COBK-SCLCLO3 COBK-SCLCRO3 6 52 C12M-SDQCLO7 C12M-SDQCRO7 145 | 12 | 150 | 11 | 7.5 | 10°
CO5H-SCLCLO4 CO5H-SCLCRO4 6 | 5 | 100 | 44 | 3 | 15
€16Q-SDQCLOT €16Q-SDQCRO7 19 | 16 | 180 | 148 | 10 | €°
CO6K-SCLCLO4 CO6K-SCLCRO4 7 | 6 | 125 |52 | 35| 12
COTK-SCLCLO4 CO7K-SCLCRO4 8 | 7 | 125 | 62| 4 | 12| ccomosTiom M2X 4 T6 C20R-SDQCL1L C20R-SDQCRIL 24 | 20 | 200 | 186 13 | €
CO8K-SCLCLO4 CO8K-SCLCR04 9 8 | 125 | 7 45| 6 C255-SDQCL11 C25S-SDQCR11 30 | 25 | 250 | 23 | 16 | 6°
DCOO11T300 M4X 10 T15
C10K-SCLCLO4 C10K-SCLCRO4 11 | 10 |125| 9 | 55| 6 €327-SDQCL11 C32T-SDQCR11 38 | 32 | 300 | 30 | 20 | 4°
CO6K-SCLCLOG CO6K-SCLCRO6 9 6 | 125 | 52 | 45 | 15 C40T-SDQCLLL C40T-SDQCR1L 47 | 20 |300 | 37 | 25 | 4
CO7K-SCLCLOG CO7K-SCLCRO6 9 7 | 125 | 62 | 45 | 15
CO8K-SCLCLOG CO8K-SCLCRO6 10 8 [125] 7 | 46| 12
C10K-SCLCLO6 C1OK-SCLCRO6 12 | 10 [125| 9 | 56 | 12
ccOo602000] M2.5X6 T8
C12M-SCLCLO6 C12M-SCLCRO6 14 | 12 |150 | 11 | 7 | 10
C14N-SCLCLO6 C14N-SCLCRO6 16 | 14 | 160 | 13 | 8 | 10
C16Q-SCLCLOG C16Q-SCLCRO6 18 | 16 | 180 | 148 | 9 | 8
C20R-SCLCLOG C20R-SCLCRO6 23 | 20 | 200 | 186 | 115 6
CO8K-SCLCLO9 CO8K-SCLCRO9 13| 8 [125] 7 | 75| 15
X
C10K-SCLCL09 C10K-SCLCRO9 13 | 10 [125] 9 7 | 15 M4x6
C12M-SCLCLO9 C12M-SCLCR09 14 | 12 150 | 11 | 7 | 12
C14N-SCLCLO9 C14N-SCLCR09 16 | 14 | 160 | 13 | 82 | 10
€16Q-SCLCLO9 C16Q-SCLCRO9 18 | 16 | 180 | 148 | 9 | 8 Maxs
C18Q-SCLCLO9 C18Q-SCLCR09 20 | 18 | 180 166 | 10 | & | CCIEI09T3L T15
C20R-SCLCLO9 C20R-SCLCRO9 23 | 20 | 200 | 186|115 6
€255-SCLCLO9 €255-SCLCRO9 29 | 25 | 250 | 23 | 145 6
€327-SCLCLO9 C32T-SCLCRO9 38 | 32 300 | 30 | 20 | 4 M4X 10
C40T-SCLCLO9 CA40T-SCLCRO9 46 | 40 | 300 | 37 | 24 | 4
C20R-SCLCL12 C20R-SCLCR12 24 | 20 | 200 | 186 | 12 | 10 M5X 10
€255-SCLCL12 €255-SCLCR12 29 | 25 | 250 | 23 | 145 6
ccO1204000 120
€327-SCLCL12 C32T-SCLCR12 38 | 32 300 | 30 | 20 | 4 M5X 12
C40T-SCLCL12 C40T-SCLCR12 46 | 40 | 300 | 37 | 24 | 4
W175 W176



Ity

%
7]

w177

V.PLD &950

TUNGSTEN STEEL TURNING TOOL

53N ZT]

TUNGSTEN STEEL TURNING TOOL

V.PLD

sbucO

Dmin

|

STFO

Dmin

L
S Model R~FSize (mm) J1F Blade 122 Screw | #xFWrench
, ® . = S}
7] Left 47] Right Dmin| @d | L H f a = , ~ o
CO8K-SDUCLO7 CO8K-SDUCRO7 13 8 125 7 8 12°
C10K-SDUCLO7 C10K-SDUCRO7 13.2 | 10 125 9 7.2 10°
pco7o20 M2.5X6 T8
C12M-SDUCLO7 C12M-SDUCRO07 16 12 150 11 9 10°
C16Q-SDUCL07 C16Q-SDUCRO7 20.5 | 16 180 | 14.8 | 11.5 8°
C16Q-SDUCL11 C16Q-SDUCR11 22 16 180 | 14.8 13 8° M4 X8
C20R-SDUCL11 C20R-SDUCR11 25 20 200 | 18.6 14 6°
C25S-SDUCL11 C25S-SDUCR11 32 25 250 23 175 | 4° DCOO11T30O T15
M4X 10
C32T-SDUCL11 C32T-SDUCR11 39 | 32 [300 | 30 | 21 | 4°
C40T-SDUCL11 C40T-SDUCR11 47 | 40 | 300 | 37 | 25 | 4°

—_— —— o i~
g ST — = :
A d)d—/
L

ESModel Rsize (mm) I;I?:]);Le S!é?r%/v B;I:z’a)c:ill-e S!]E?é_iw Wi%fch
77 Left BIRight | gl od| L | H| f C°’°P A iy A -y
CO8K-STFILO9 CO8K-STFLIR09 10 | 8 125 7 | 5 |12°] 10° M2.5X5 M2.5X 5
C1O0K-STFLILO9 C10K-STFLIR09 12 10125/ 9 | 6 |10°| 6° | 1cm TPOC T8
C12M-STFCJL09 C12M-STFLIR09 1w | 12]150 11| 7 | & | e 92U masxe | 902U masxe
C14N-STFILO9 C14N-STFIR09 16 | 14 |160| 13 | 8 | 4° | 4°
C1O0K-STFOIL11 C1OK-STFLIR11 12 | 10 [125| 9 | 6 |10°| 10°
C12M-STFOIL11 C12M-STFLIR11 14 | 12 [125| 11 | 7 |10°| 8&°
C14N-STFCIL11 C14N-STFOIR11 16 | 14 |150 | 13 | 8 | 6° | 4° M3X6
C16Q-STFCIL11 C16Q-STFLIR11 19 | 16 |160|14.8| 95| 6° | 4°
C18Q-STFLIL1L C18QSTFLIRIL | 21 | 18 |125|16.6|10.5| 4° | 4° E(ggm M2.5%6 IlPOD.?ED T8
C20R-STFCIL11 C20R-STFCIR11 23 | 20 |125(18.6|11.5| 4° | 4°
€25S-STFOIL11 €25S-STFLIR11 29 | 25 (15023 | 14 | 4° | 2°
C32T-STFOIL11 C32T-STFLIR11 36 | 3216030 | 18 | 2° | 2° Mo
C40T-STFCIL11 C40T-STFLIR11 46 | 40 |300|37 |24 | 20| 2°
C16Q-STFCL16 C16Q-STFCR16 19 | 16 180 |14.8| 9.5 | 6°
C18Q-STFCL16 C18Q-STFCR16 21 | 18 |180|16.6|10.5| 6° Maxs
C20R-STFCL16 C20R-STFCR16 23 | 20 |200|18.6|11.5| 6° — . . i
C25S-STFCL16 C25S-STFCR16 29 | 2525023 | 14 | 4 1673010
C32T-STFCL16 C32T-STFCR16 38 | 32 (300|300 | 20| 4° Max 10
C40T-STFCL16 CA40T-STFCR16 46 | 40 |300 37 | 24 | 2°

Ity

%
7]

m178



SZET]

TUNGSTEN STEEL TURNING TOOL

® ®
KPLD flﬁli@TﬁgELTURNING TOOL KPLD

sTud

Dmin

Dmin

-~ B —
£ L L £
Gy IL
JJ 7]

. yalan 1242 yala 124 wF .
1= < = 1=
IS Model R~FSize (mm) Blade Screw Blade Screw | Wrench #lEModel R~fSize (mm) JJF Blade 1224 Screw | #{xFWrench
) o) m . o) o
7] Left A7Right  |pmin @d| L | H | f ~ ” - 7] Left 7] Right pmin| @0 | L | H | f |@g/0 0 ~ —

CO8K-STUCILOY CO8K-STUCIR09 10 | 8 |125] 7 | 5 |12°] 10° M2.5X5 M2.5% 5 CO8K-SVJIILO8 CO8K-SVJCIR08 10| 8 |125] 7 5 | 10° | vcOIr0802070] M2X5 T6
C10K-STULILO9 C10K-STULIR09 12 |10 [125| 9 | 6 |10°| 6 | e TPOC] C10K-SVJOIL11 C10K-SVJCIR11 12 | 10 | 125 | 9 6 | 12°

o | | 0902000 | yosxe | 090200 | posxg | ° .
C12M-STUCIL09 C12M-STUCIR09 14 | 121|150 11 | 7 | 8 | 6 . . C12M-SVJ[IL11 C12M-SVJCIR1L 14 | 12 150 | 11 | 7 | 10
C14N-STUCILO9 C14N-STUCIR09 16 | 14 |160| 13 | 8 | 4° | 4° C14N-SVJIL11 C14N-SVJCIR11 16 | 14 | 160 | 13 | 8 | €

veOd1103000 M2.56 T8
C10K-STUCIL11 C10K-STUCIR11 12 | 10125 9 | 6 |10°] 10° C16Q-SVJOIL11 C16Q-SVJOIR11 18 | 16 | 180 | 148 | 9 | 6 | vBOO11030)0) :
C12M-STUCL11 C12M-STUCIR11 14 | 12 |125| 11 | 7 |10°| 8 €18Q-SVJCIL11 C18Q-SVJ[IR11 21 | 18 | 180 | 16.6 | 105 | 6°
T8

C14N-STUL1L C14N-STUCIR11 16 | 14150 13 | 8 | & | 4° M3X6 C20R-SVJOIL11 C20R-SVJIR11 24 | 20 | 200 | 186 | 11.5| 6°
C16Q-STUCL11 C16Q-STUCIR11 19 | 16 |160|14.8| 9.5 | 6 | 4° €25S-SVJL11 €25S-SVJIR11 30 | 25 | 250 | 23 | 14 | 4°

Lo Teoo TPOO .
C18Q-STUCIL1L C18Q-STUCIR11 21 | 18 |125(16.6(105 4° | 4° | 170500 | M25%6 | 110300 C16Q-SVJOL16 C16Q-SVJ[IR16 19 | 16 | 180 | 148 | 95 | 6 M3.5X9
C20R-STUCIL11 C20R-STUCIR11 23 | 20 |125|18.6|11.5 4° | 4° C20R-SVJCIL16 C20R-SVJ[IR16 23 | 20 | 200 | 186 | 11.5| 6°
€255-STUCIL1L C25S-STUCIR1L | 29 | 25 |150 | 23 | 14 | 4° | 2° €255-SVJOIL16 C255-SVJCIR16 30 | 25 | 250 | 23 | 145 | 4° | VCHLJ1604L10J T15

M3X8 VB[11604010] M4X 10
€32T-STUCIL11 C32T-STUCIR11 36 | 32|160|30 | 18 20 | 2° C32T-SVJCIL16 C32T-SVJCIR16 39 | 32 |300 | 30 | 20 | 2°
C40T-STUCL1L C40T-STUCIR11 46 | 40 [300|37 |24 | 20 | 2° C40T-SVJCIL16 C40T-SVJCIR16 48 | 40 | 300 | 37 | 24 | 2°
C16Q-STUCL16 C16Q-STUCR16 19 | 16 |180(14.8| 9.5 | 6°
M4 X 8
C18Q-STUCL16 C18Q-STUCR16 21 | 18 | 180 |16.6|10.5] 6°
C20R-STUCL16 C20R-STUCR16 23 | 20 | 200 |18.6|11.5| 6°
ety X x T15
€25S-STUCL16 C25S-STUCR16 29 | 25(250( 23 | 14 | 4° 167130101
M4X 10
C32T-STUCL16 C32T-STUCR16 38 | 3230030 |20 4
C40T-STUCL16 CA40T-STUCR16 46 | 40 [300|37 | 24| 2°
W179 180



Ity

%
7]

W81

V.PLD &950

TUNGSTEN STEEL TURNING TOOL

Dmin

od /
L1
-
L
#l5Model R~fSize (mm) JJF Blade B4 Screw | #FEWrench
7] Left 7] Right ® lodg | L | B f | — -
Dmin (B/C) e
CO8K-SVX[IL08 CO8K-SVX[JR08 10 8 125 7 5 10° | vcOIJo80201] M2 X5 T6
C10K-SVX[IL11 C10K-SVX[IR11 125| 10 | 125 | 9 | 65 | 12°
C12M-SVX[JL11 C12M-SVX[JR11 14 12 150 11 7 8°
C14N-SVX[JL11 C14N-SVX[JR11 16.5 | 14 160 13 8.5 6° vcO11o0300d M2.5%6 T8
VBLI[J1103[1[] :
C16Q-SVX[L11 C16Q-SVX[JR11 185 | 16 180 | 148 | 9.5 6°
C20R-SVX[IL11 C20R-SVX[JR11 23 20 200 | 18.6 12 6°
C25S-SVX[JL11 C25S-SVX[JR11 29 25 250 23 145 | 4°
C16Q-SVX[IL16 C16Q-SVX[IR16 185 | 16 180 | 14.8 | 9.5 6°
C20R-SVX[IL16 C20R-SVX[JR16 23 20 200 | 18.6 12 6°
o VC160410]

C25S-SVX[IL16 C25S-SVX[JR16 29 25 250 2 145 | 4

3 VBOI(J1604010) M4x10 15
C32T-SVX[JL16 C32T-SVX[IR16 38 32 300 30 20 2°
C40T-SVX[JL16 C40T-SVX[IR16 46 40 300 37 24 2°

$53MZT]

TUNGSTEN STEEL TURNING TOOL

V.PLD

Ity

%
7]

182



	亮工数控产品大全
	亮工车刀样册
	内孔刀
	外圆刀1
	外圆刀2
	螺纹刀-槽刀
	走心机刀、钨钢车刀

